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Appendix 11

Technical Details of the 1987
Surveys

The Cross-Section Survey

'I.‘h.e survey was designed to yield a representative sample of eligible voters
living in private households in Great Britain. It is not a random sample of
all resident adults, but only of those on the electoral register and eligible to
vote in the Genera! Election of June 1987.

As with previous surveys in the election study series, electors living in
Northern Ireland and the Scottish Highlands and Islands were excluded from
the sampling frame; the former because its party composition and particular
concerns would have required a separately-designed study, and the latter
because the small and scattered population could not be interviewed cost-
effectively.

A _three-:v,tage selection procedure was used. First, a sample of 250
constituencies was selected, with probability proportionate to size of elec-
torate. Before selection, the constituencies were ranked by percentage of
h'ouseholds that were owner-occupied and stratified within population den-
sity bands (persons per hectare) within Registrar General’s Standard Re-
gions. In order to make the strata fairly equal in size, the population density
banding varied according to the standard region.

) Seconq, all polling districts within the selected constituencies were ordered
in a logical sequence associated with the alphabetic or numeric labelling
system used within the constituency. Any polling district with fewer than 500
electors was combined with the one following it in this (circular) list, to form
one unit, In the course of selecting constituencies, a random elector had been
picked. The pelling district within which the preselected elector lived was the
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selected polling district, giving selection probabilities proportionate to the
electorate.

Third, within each of the 250 selected polling districts, a systematic
random sample of 24 electors was selected with equal probability. Any of the
selected electors who were ineligible to vote in the General Election (peers
and those whose eighteenth birthday took place after June 7th) were replaced
with an eligible elector (selected by means of a random number table).

Overall, a sample of 6000 names was thus selected. In two cases, despite
repeated efforts on the part of both SCPR and OPCS to obtain the current
electoral registers, they were not available. Hence, registers compiled in
winter 1985-86 were used. In all other cases, registers compiled in winter
198687 were used.

A small-scale pretest of the questionnaire was carried out shortly after the
announcement of the election. Four interviewers carried out 45 interviews.
They were briefed beforehand and debriefed afterwards by the research team.

Fieldwork for the survey began on 23 June, before which ali interviewers
were personally briefed by SCPR researchers working on the project (Roger
Jowell, Sharon Witherspoon and Julia Field). A few supplementary briefings
were later led by experienced regional field supervisors. In all, 221 SCPR
interviewers worked on the survey.

Some potential respondents who had been difficult to locate, or had moved,
or had refused, or had broken appointments, were re-issued to interviewers
(usually interviewers who had not made the initial calls) during the later
phases of fieldwork. The names of 97 movers were reissued and in 67 cases
an interview was obtained. Some 645 names were reissued for other reasons;
in these cases 172 productive interviews were obtained. In all, response was
raised by just over 3%, by reissuing names. The final response rate was 70%,.

A total of 61% of the interviews were obrained by the end of July 1987 and
939, by the end of August. A further 5.5%, were conducted after that, mainly
recalls on respondents who were unable or unwilling to be interviewed
earlier.

The response breakdown is shown in table II.1A.

TasLe I1.1A BES Cross-Section: Response Summary

N % %
NAMES ISSUED: 6000 100.0
Addresses out-of-scope
{empty, demolished, no trace) 8 0.1
Named person:
dead 66 1.1
emigrated 25 0.4
under age 4 0.*
mover-address unknown 313 5.2
untraceable 121 20

[Continued next page
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TasLE 1I.1A—Continued

N % %
TOTAL FOUND OR ASSUMED TO BE
OUT OF SCOPE OR UNTRACEABLE 537 9.0
TOTAL IN-SCOPE 5463 91.c 100.0
Interview obtained 3826 63.8 70.0
Of which:
with self-completion 3415 56.9 62.5
without self-completion 411 6.9 7.5
Interview not obtained 1637 27.3 300
Of which:
refusal 1017 17.0 18.6
refusal by someone else in h/h (proxy} 137 23 2.5
broken appointment 72 1.2 13
refusal to office 5 0.* 0.*
not contacted—never in 137 23 2.5
senilefincapacitated 102 1.7 1.9
away ot in hospital 79 1.3 1.4
ill at home 29 0.5 0.5
Other (incl. complete refusal
of information at address) 59 1.0 1.1

The self-completion supplement

Following the model of the British Social Attitudes Series, we designed a
self-completion supplement which we invited all respondents to complete on
their own after the interview and return either via an interviewer collection

or by post. In all 89% of the respondents completed and returned the
supplement.

The 1983-87 panel study

A subsample of the 1983 election study respondents was selected for a panel
to be reinterviewed twice. The first interview was to provide measures of
change before the 1987 election, and the second reinterview was to provide
measures after the election. The sample was designed to achieve a panel of
800 respondents who would be interviewed on all three occasions. Since the
major purpose of the panel was to understand change, the questionnaires
consisted largely of exact replications of questions asked in the 1983 survey.
However, in order to maintain respondent interest and cooperation, some tiew
material was introduced.

Of the 250 constituencies in the 1983 BES, 115 were selected for the panel:
27 constituencies had already been used in a previous follow-up study of the
1983 BES respondents and were therefore deleted from the list of constituen-
cies to be used in drawing the panei sample. The selection of constituencies
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for the panel was then made on a systematic random basis independently
within the strata used for drawing the original 250 constituencigs for the 19_83
sample. The 1983 list of constituencies had originally been stratified by region
(11 regions) and density (3 density bands) giving a total of 32 strata (there
being no high density constituencies in East Anglia). For draw1_ng the _pancl
constituencies, however, ten of these strata were grouped into pairs. Tt_us was
because a proportionate distribution would have resulted in no selections in
a stratum (as in the case with the high density band in Wales) or because the
purposive selection of 27 polling districts for the previous follow-up study
had left insufficient polling districts to use for the panel.

After deletion of the 1983 unproductives and these unwilling to be
reinterviewed, 1634 respondents’ names and addresses were issued to inter-
viewers. The first round of fieldwork took place in November/December
1986, A total of 1090 productive interviews were achieved, an overall response
of 67%. Much of the non-response was caused by difficulty in locating
respondents who had moved between 1983 and 1986; 407, of non-response
at this stage was attributable to the failure to establish the new address?s of
movers. A further 10% of non-response resulted from the death or emigra-
tion of respondents.

Post-election fieldwork began on 22 June. Some 919% of interviews were
achieved within 7 weeks of the election and almost all the remainder
completed by the end of August: 1020 addresses were issued to interviewers,
the remaining 70 having said at wave 1 that they were unwilling to be
reinterviewed. In all, 869 productive interviews were achieved. Of the_ i634
names originally issued, therefore, 54% completed the final wave of inter-
views. It may be noted that in previous BES panel studies over comparable
timespans 58%, of the original names survived over the 1966-70 period, 58%
over the 1970-February 1974 period, and 41% over the October 1974-1979

eriod.
’ The response breakdown of the two waves of the panel is shown in table
11.2A.
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[. POLITICAL INTEREST

ASK ALL
a) Would you say you cared a good deal which Party won the
recent general election or that you didn't care very much 127y
which party won? ,
Cared a good deal -3
Didn't care very much 25« g
WCr answered c3 - =
ng Nor
ng the election campaign: A Yes Na
&) Did you watch and Tisten to any Party Q.=
election broadcasts an television or radio? C-1 g0-3 M9 (128)
B3 n‘ld Al ari any newspaper aprd malae almAE
L o - |\-uu QGriy IIC"JPU}-“-I QI LiwiCa auWude . B 7
" the election campaign? o W2y Agynan
[F YES (CODE 1)
f130-131%
¢) Which daily newspaper did you read most?
PROBE TF NECESSARY: Which one did you rely on most? OFFICE
USE
SPECIFY MAIN DAILY NEWSPAPER
NCh
ASK ALL acwered  Yes  No
1) Did you go to hear any candidate at a political meeting? - 39 Qe [13n)
2) Did you do any canvassing or other work for a candidate? - 2-% 972 fis:
F) Did you have any political Party's poster in a window? ol o7 %92 (130
INCLUDE CAR WINDOW [F MENTIONED
1) Did a canvasser from any Party call at your home to talk o3 u)g S8 (1189
to you during the election campaign? ¥ _~+Q.3
IF YES (CODE 1 at q)
h) From which Party or Parties? ’
: CODE ALL THAT APPLY
DO _NOT_PROMP Conservative 27-2 riasy
Labour 2%5c frazy
IF "ALL OF THEM", PROBE FCR WHICH. (SDP/Lib) Alliance q.q ri3e}
{F CANNOT DTISTINGUISH, CODE DK . (139
Liberal 2.9 A
Social Democratic  2-4 freo
(Scatland) Scottish National ©OF fis13
(Wales) Plaid Cymru o (1e2y
Other (SPECIFY) _ O i
flu3i—uws)

Don't know/Can't remember any 2-b

Nch amwasgel o-03
NS q1¢
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ASK ALL o QFFICE
.a) Why do you think the Conservatives beat Labour USE
~in the general election?
PROBE FULLY
fluws-
fluwo-
fuss-
fLsa3-
frss-
b) And why do you think the SOP/Liberal Alliance QFFICE
did not do better than they did? USE
PROBE FULLY
f1s7
flss3
(lsl
(1612
fls¢
4. Do you know whether the Alliance candidate in (1671

your constituency was a Liberal or a Social Democrat?

Yes, Liberal

' Yes, SOP

Yes, one ¢f each
No, don't remember




ASK ALL
.2) Which do you think would generally be better for Britain
nowadays. ... (READ OUT) f1e8)y
. to have a government formed by one political party on its own, &£3-7 -+Q.6
or to have a government formed by two political parties together -
in coalition? 38'S ~b)
(Don‘t know) 7.8 —+Q.§
IF TWO PARTIES/COALITION {CODE 2)
b) whichdoftﬁhe;e Party groupinc%s dg ygu_think wou 1d (1691
provide the best government for Britain ... . _
(READ OUT) ... Skipped &S
. Conservative and Alliance, 2% I
or - Labcur and Alliance, %% 2.6
or - Conservative and Labour, %%
or - scme other grouping? &3 —+c)
(Don't kpow) 2t —+Q.6
IF OTHER GROUPING (CODE &) NCr answ&ed O’!L
c) Which grouping is that? Skapeed Q37
: , iborsl & SDE o7 FF
M pases | 36 f170-7:
OHrQe CHOOORONS 28 B
mﬂk tm O ‘ f172-7:2
[174=7%
ASK ALL 3 _ b)
5.a) Generallyspeaking, do you think of the : Liberal” SDP
Liberal Party as being closer to the (1763 (1773
Conservative Party or closer to the Closer ta 9.5 : -2
Labour Party? RECCRD IN COLUMN a) Conservatives ‘19
b) And the Sccial Democratic Party, Closer to Labour 205 E 4l
would you say i1t was closer to the . o ]
Conservative Party or closer to the No d1ff$12?2${‘ SR “
Labour Party? RECORD IN COLUMN b) o _
Don't know iO-> i S
' Nor answesed  — oS
r_;) Considering everything the Liberal and Social
Democratic Partwes stand for, would you say that rr7es
(READ OUT) '
.. there is a great difference between them, 15
some difference, 5B
or not much difference? b C
(Don't kno@j 103
“Nok Gnswes O
d} Now, considering everything the Conservative (1793
and Labour Parties stand for, would you say
that ... (READ QUT}.
. there is a great difference between them, S22
some difference, 10O
or not much difference? G2
(Cer't know) Ny
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[I. VOTING/PARTY PREFERENCE

ASK ALL

Talking to people about the general election, we have
found that a lot of people didn't manage to vaote. How
about you? 0id you manage to vote in the general

Card 02

fzamn

election? Yes, voted %33 40Q.8°
No Jb 7-
IF NO (CODE 2)
b) Why was that? -
PROBE FULLY CFFICE
—_— USE
{206_-
f21o-
(212-
fziu-
¢) Suppose you had voted: which Party . (216-173
would you have been most likely to Stlpmd %33
vote for? DO NOT PROMPT. Conservative §&-& )
IF NONE/DON™T KNOW, PRUBE BEFORE CODING: )
Which Party would you mosT 11Ke To have won Labour &4
in your constituency? (SDP/Lib) Alliance -9
Liberal \-2
Social Democratic -2 (Q.H
Scottish National .3
: Pladd—Loymed ™
Other (SPECIFY) Refused 4o gnsiwec . 072
None/Don't know (AFTER PROBE) 1-6
Noy  Gnsueied 0-3
ASK ALL WHQ VOTED (Q.7a) COBE 1) - | ' (2189
8.2} How Tong ago did you decide that you would .
definitely vote the way you did: was it ... (READ OUT) S to T
. a long time ago, SO Q.9
sometime last year, 1-2
sometime this year, 7.7}
or during the election campaign? % -2
(Don't know) -l - =.2
IF LAST YEAR, THIS YEAR CR DURING CAMPAIGN
{COBES 2, 3 QR 4]
b) Was there anything in particular that decided you?
What was that? PROBE FULLY OFFICE
USE
(2
(2
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,ASK ALL WHQ VOTED

Which Party did you vote for in the general election?
DO NOT PROMPT (CODE IN COLUMN a). BELOW)

Was there any time during the general election campaign
when you seriously thought you mignht vote for another
Party? IF YES: Which Party?

00 NOT PROMPT - BUT SEE INSTRUCTION BOX. (ONE CODE IN COLUMN b) BELOW)

> V

If the vaoting paper had required you to give two votes,

in order of preference which Party would you have put

as your second choice?

DO NOT PROMPT - BUT SEE INSTRUCTION BOX. (ONE CODE IN COLUMN c) BELQW)

[f respondent voted for Alliance,
Liberalor SOP at a) (Codes 03, 04,
0s), none of these codes shOuId be
ringed at b) or c) Exp]a1n if
necessary: ' they did not stand
against each other; so i1s there any
other Party {you seriously thought
about/that you would put as

second choice)}"?

a) b} c)
Voted Thought 2nd
~_for about Vote
f227-28y(229-34)1f231-32)

Conservative 1362 1 &9 | 191
237 37 ! Qu

Labour | :

(SDP/Lib) Alliance 110°5 | 53 ':'}%Tj":

Liberal |70 | 33 | 19.2 |

Social Democratic L;gffh_i__tf;__ L__:;ﬁ[_i

Scottish National | o0& | 0% E (TS E

Plaid Gymru § @2 [ o ! o4 !

Other (SPECIFY) : E 5 ;

* Eccloqy By foes o2 | o3
) NQtional Foat foes | 905 o
<) ComuQisy Ry 1 - oo 93
Refused ta disclose votfné 5 2-3 E - E - é

More than one other Party thought about :. o-OS:: Ok E 03 '.

No/nore | - | sg< ) QT

Don't know P E Q-3 E 3b E

Nov oncuesd 0 eS! oy | gm |

"‘[,LDQCA Sy -: 1I9-0 ; (9T ;




ASK ALL WHO VOTED - SHOW CARD A

10.a) Which one of the reasons on this card comes (2313
closest to the main reascn you voted for
the Party you chaose? Sk le1
I always vote that way Jg. 1L
I thought it was the best Party <. [V 11
I really preferred another Party but it had no chance of winning <
in this constituency ~bh)
Other (SPECIFY) ded amied mdhog @01 ‘_
\dved & modidale oy ey
None of these/Don't know O g -1
NOY (nswEest G-9
IF CODE 3 AT a)
: ' [236=-351
b) Which was the Party you really preferred? Sk Gy-9
DC NQT PROMPY Conservative Q.5
Labour I-o
(SDP/Lib) Alliance |\-O
Liberal i-1
Social Demacratic 03
Scottish National QA
iSdesC o
g O\
Other (SPECIFY) EC’“lmu Nohota) foav, foMklingy o
IOF Y oow/Nek cOSwfgn Q-
ASK ALL
— {2386-27Y
11. Now, thinking back to the last general election -
that is the cne in 1979 - do you remember which R ) I
Party you voted for then - or perhaps ycu didn't Conservative 3o !
vote in that election? DO NOT PROMPT.
-y
IF “Alliance" or "SDP" NAMED, EXPLAIN: "they ‘did Labour X
not exist as such in 1979, BUT STILL DO NOT Liberal =3
PROMPT Scottish National i-2
Piaid Cymru Q-2
Other (SPECIFY) Ecoloq\;. Nofooad otk (oddUlsr  o-2
Refused to disclase voting | -B
Did not vote 10Ok
Not eligible/ Too young tg vote  7-Q
Don't nememtes 1!
Oty A [y O
12. Some peopie say that we should change the voting
system to allow smaller political parties to get
a fairer share of MPs. (Qthers say that we should
keep the voting system as it is to produce effective fz3a3
government., Which view comes closer to your own '
-~ (READ QUT) . that we should change the voting system, 386
e e L+ a7 qu
or - keep it as it 1is? UZ i
1
't kno
N ALY o3
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» ASK ALL

Generally speaking, do you think of yourself as

Conservative, Labour, Liberal,
(Nationalist/Plaid Cymru), or what?

Sacial Democrat,

(239-40) (2L1= w2

IF "ALLIANCE" PROBE: Liberal or Social Democrat? "w o).
Conservative 35.7] 35 |
ONE CCODE IN COLUMN a) Labour 2311 vl
IF NONE/DON'T KNOW (COOE 00 OR 98) Ligeral 11-O vl - .
b) Do you generally think of yourself as Social Qemocrat &4 fC)O-T ‘
a little closer to one of the Parties . . .
than the others? IF YES, Which Scottish Nationalist {1 | o &0.14
Party? Plaid &ym (O3 3—‘_;_
IF "ALLIANCE" PROBE: Liberal Qther ?SKECIQE ok -b-
or Social Democrat?
0:15 c;;: IN ZOLEMN b ) Refused n disde0€ | -
) b) Other paay 03 | ~
Alliance (AFTER PROBE) 03] ©-)
None/NolO'& > )S-‘O
Don t know 291 o9
QA 5.1} oS/
IF PARTY CODED AT a) fzu3y
¢)  Would you call yourself very strong Verys?t%d "‘"'%"
. (QUOTE PARTY AT a), fairly strong, T X
or not very strong? Fairly strong 333
| Not very strong 227
Don't know Q-
: : NN ee 2.9
ASK ALL ~ SHOW CARD B
FIRST MARK'X' AGAINST PARTY NAMED AT Q.13a) OR b) ABOVE.
DO NOT ASK THIS QUESTION ABOUT THAT PARTY. ASK ABOUT ALL OTHERS.
~ Now I want to ask you about some Parties you don't support. Looking at
the card, would you say you are very strongly against, somewhat against,
or not reaﬂy against ... (READ QUT)
Yery some - Not
St—‘PPQU’ strongly what really  (Don't NOF
¥ against against against 7kniowlaﬂSu.EQj
a) . the Conservative Party? 2392 216 \q-1 163 05 +zee)
B) . the Labour Party? 327 _ 2837 . 22 135 0f Lers
c) . the Liberal Party?  {1-| 39 -7 ST 27 V42uey
d)... the Social Democratic Party? 61 993 A6 wdu T3 (e
e) (IF SCOTLANB) - the Scottish -
National Party? 4t-¢ 9 27 oS 05 Olrz2usy
f) ... (IF WALES) - Plaid Cymru? §u 12| L3 %5 8¢ onfe
g} ... the British Communist Party? OG- 174 q-b (=t sq o¢2:0
h) ... the National Front? O .5 By s (o o¥Isn
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TII. LEADERSHIP‘& PARTY IMAGES

ASK ALL - SHOW CARD C

15.a) Looking at this card, on the Very Fairly Fairly Very Don't No-
whole how effective or effective effective ineffective ineffective know grano
ineffective do you think
Mrs Thatcher is as a O

. Qs . - . <. 9 o
prime minister? ............... 63w -9 o 2 }“?\
b} And on the whole how effective . o
or ineffective do you think Mr o, 23.% g 37-3 2- g
Foot would have been as a
prime minister? ............... ; 0‘5253\
, -3 ‘ :
¢) How about Mr Jenkins? ......... 58 w22 2o ‘36 rzse
d) And Mr Steel? ................. 25 527 t-3 o 68 Ourzss
SHOW CARD O Nane/
. . Mrs Mr Mr My Don't MoV

16. Still thinking of these four Party . Q
leaders: ' at the time of the general Thatcher Foot Jenkins Steel know answest
election, which cne do you think would
have been (READ QUT)

a . the prime minister most able to unite . . g.0 ‘o3 St
) ' the nation? o7 77 =C 2 (238}
bj .. the prime minister most likely to get ) .
/ prme things done? 666 LA “q Se (35n
<) ... the one most 1ikely to impmve— - : . o
Britain's standing abroad? S 61 1o.o s M2 r25e)
d . the one with most cencern far alj <.
: groups in society? <439 Ao &7 3L e
) . . ; a-
e) ... the one who would get the mostaoté;ca;; <t 25 b 279 S fzg’o}
f) . the one most in tough with ordinary ) . 2.0 <3 St
people’s problems? 2°-3 273 &0 fze13
at D) c) d)
M Mrg Mr My Mr
17.a) Which of the qualities Thatcher Feot  dJenkins Steel
: on this card would you , ! - ; 's3-
say Mre Thatcher hag' Caring P i3ee (262) rm~x2711 pparaovwissafslsﬁ
M 1 . 1
choose as many as you Determined &4 (283} 120272721 n3.qf2081 1412f3171
think apply? Shrewd Ss2.4 (289 18412731 3o3r309) 126:2(318)
] . 1 | 1
b)-d)} REPEAT FOR GTHER Likeable as a person 12 (285) 1302781 m2:3(310) wW270119)
ERS Tough qu¢+(zss\ 5}0{275\ hgqr311\ ?u’?szo\
llll-R—N P R ! s {2871 :—nﬂ‘}‘!g\ ;11;::(312\ :m.:,(:sgl\_
Listens to reasgn (5.3 70 TameesTl o :‘?*'
Decisive '<a.g 288) 1.gf277) huq313) 2190322)
1 1 t f
1 t ! Lo
Sticks to principles {7 (282} jasaf27e) ;’:"’_3_‘(“?_ 2“:7_(_3_2_3_}
NONE OF THESE !1-1 Tes a2y
' f2703 :651279\ P rarsy iz
1 1 . [ 2. ! 5
At leasy G?\OQHQZOEOW 52353 o oo lgro
' ! o - +
o .2 VO
Nov answeed « o4 Card 03 !




ASK ALL ALL
Moving now “from the Party 1eaders to
the Parties themselves Conservative Labour Alliance
) §) On the whole, would you describe the f12s3 r1zs) f3z7y"
Conservative Party as ... (READ QUT) . ' ' '
.. extreme, . 4% Vo490 60 )
ii) And the Labour Party . ; o g
nowadays - 75 TE .- or moderate? : 40.2 : Ey e 173 9 i
(READ OUT) (Neither or both) | <6 . 17 ) o -
] 1 1 . ] ]
§$1) And the SOP/Liberal Alliance, (POM'Eknow) i 55 4 63 1 3.9 |
is it ... (READ QUT) N answered: ©-1 Lo 1 02 i
) 1) And would you describe the i (3281 | f3zey ¢ 3oy !
Conservative Party nowadays l | ‘ )
as ... (READ oUT) i ‘ P '
. united, } 634 1 B2 1 3TH 4
ii) And the lLabour Party nowadays, cvided? ! 1 [ a7~ ) 42.G
" s it ... (READ OUT) or divided? , 2% p° AT
(Neither or both) | 2% I Kt o SR S XY !
iii) And the Alliance, : 3% - E T
is it ... (READ OUT) Mo P Krow) o , o2 | o3 |
:} i) On the whole, would you : E 1 l
describe the Conservative 1 fza1y o 13323 E fraay
Party as ... (READ NU'T) i ' ! !
-1 ' s38 1 B2
i1) And the Labour . good for one class, ‘ B : : :
Party, is it ... .or good for all classes? E 15 P32 E 643
(READ QUT) (Neither or both) « 3% T~ A S
. ) 1 ] 1
111) And the Alliance, ' (Don't know) | 29 Pl L R
- is it ... (READ OUT) Ncb ainsigefe | o-l =13 o2 ;
d) i) Do you think the : (338) ) (33sy (3381
Conservative Party : 5 ; E
has ... (READ QUT) ... clear policies;, 1+ 757 V3T L 305
- : ‘l - : L4gq.7 :
ii) And the Labour Party, - or vague lpohmes?r i 110 : S‘S“’\ -: E
does it have ... (Neither or both) : 2-3 ¢35 4l ‘
(READ QUT) (Don't know) 1 4-7 LSS E3E S
i) And the Alliance, Nov answerd ! o2 1 o3 1 o-3
does it have ... (READ OUT)
.a)  S$till thinking only of the Conservatives,
Labour and the Alliance; which one af them
would have been the most likely to keep Non?/ Nl
prices down if it had been in goverrmment _ POH t NG
over the next five years? Conservative Labour Alliance know QMEWQ(d
Keep prices down 475 257 12-0 w30
b) And the one most likely to reduce
UREMPTOYMENE? o v e senamarsinesnrasnnnnns -5 “3% 2% 200 53
c) And to prevent strikes? ..............o..-. TR n-s e 79 G3N
d) And to Took after the health and : .
social services? ...t 1% 53-% 144 - f2200
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"IV.  CAMPAIGN I[SSUES & IDEOLOGY
ASK ALL - SHCW CARD F (FOR WHOLE PAGE)

20.a) Here is a list of six issues that were discussed during the election.

When you were deciding about voting, how important was each of these

.
. "+ +
issues to you? First defence: was it extremely important, quite

important or not very important to you in deciding about voting?
REPEAT FOR ISSUES ii) - vi)

iv)
i) i1} ii1) The health v) vi)
Unem- & social National- Law and
Defence ployment Inflation  services isation order
7151 R [EEER (iuay {145 f3u8)
Extremely important | 39- | 69.0 E <IS :' 622 L 207 1 e2-3
Quite important | 401 | 20.8 | 374 | 3L Poo29-2 0 A%y
Not very i 19-% | &3 Poto . s5S y 4S9
| ’“‘P&;ta&%mh b b - 0 o2 Y oa ! ok | oa |
) . 1 ) i ] i N
b) Which one OPQ§$ 02 ©-2 03 ' ©-3 e +oe3
issues on the card
would you say was (16748
most important t Can't
you 1in deqfd?ﬁqznqugxgi ! | i choose
about voting? "0 17 | 3D | 13 L 1 2% : -6 1oy ,'33.q+ c
, ,? —---r'-—“-:---"--l----'—. ————— o Emrmsee s —— I"""‘:""‘"""{ ------- et Sabad kol
¢) And which next? ~_ U w3 1 20 | ow D o2us | 34 I 16-0 L
d).i)wh.lch Pal"ty‘s views f3‘+:-50\ {3s51-323 f3s3-34) f1s5-3587 f3s57- 583 fise-6a)
on defence would you ‘ iv '
say come closest to i) ii) i1d) The heaith v) vi)
tc your own views? Unem- & social National- Law and
~ D0 NOT PRCMPT Defence ployment  Inflation services isation order
‘Conservative v 09 { 292 | St 1 247 7 424 | S5
-y .,-\ [T SO | Cam 1 N [} ~A e L 1 1 [}
li) Vi) LdDaUr . &1 0 4ol 1 LU 1 us ! . 1 . !
REPEAT FOR .+ : | : R L
OIRER  pliance v &3 4 Qa4 v e 1 gy N
TSSUES Liberal | 4.3 | 53 1 37 | wq Y i 55_ ;
Social Democratic SR 2+b : 1-1 L 26 2o b e
Scottish National | 0-2 | O ;o Ol O oo L o.a) E
: t —t i — ' — t — 1 B : ; :
Plaid Cymru e NS R A PR e R =L B
Other (SPECIFY)  — I p e 9 - A ‘
-— X : : X | :
Oher QA T T T T___.iee
None | 2+ } 3-3 P 2-c - o2y L2730
Don't know, ; 12 | 1ot | 106 1 03 A - B i I
] o i
NQ"GW@, Q-3 II a4 . C 4 o oy i o4 : (35%\ !
" e} Besides the six issues on the card, are there any other Yes 111
things that were at least as important as these were to 7
you in deciding about voting? No 3+ g.21
o . , u,-a.-nm.\crof‘l V-0
[F YES (CODE | at e) e
f) Which? Any others? OFE;EE
] (362~:
f3Igu—-:
(166-¢
f168~-:
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\SK ALL
ome people say that British governments nowadays -
)f whichever Party - can actually do very little %o

:hange things. Others say they can do quite a bit.
Yo you think that British governments nowadays can

lo very Tittle or quite a bit ... (READ QUT) Very Quite Don't Nol
Jittle a bit know Qnsuxyqd

. to keep prices down? 257 o 32 0T

B e e bit 50 educe amemploymenty 395 61 42 oy,

And to reduce taxes? &+ 680 5 oiri7z2)

To improve the general standard of living? 22-2 727 4.8 020373

To improve the health and social services? job g, 30 02077%)

To control wage and salary increases? 229 <91 s& o.3/%7%

To reduce crime? 293 £§S $0 o.2(378)

To prevent strikes? 304 45 ws o3 377

SHOW CARD G
If you had to chaose from among the items an fa7e) 2793 !
this card, which are the two that seem mest [
desirable to ycu? RING ONE CODE IN EZACH COLUMN st 2nd ;
) Maintaining order in the nation 42t | 244
Giving people more say in impertant political decisions 155 1157)
Fighting rising prices 2%b | 31©
Protecting freedom of speech ey ) 250
Don't know at al]l 10.041 2-9
NOY sl yo{er o2 a2,
No second choice s
ippedt - 3
There are some .people whose views are considered
extreme by the majority. Card 04
Consider people who wish to overthrow the system
of government in Britain by revolution. Do you
think such peopie should be allowed to ... (READ OUT)
a) b)
i} -.. hold pubiic meetings to express their views? Yes &1'0 | §1-3
CODE IN COLUMN a) No 361 42§(e07-08)
. bgb
qrn ‘g know 29 . 355
ii) And te teach in schools? __Q'%—F:‘"_u V274 !
CODE IN COLUMN a) " No  bBG2 |6k TTMe0ImEOl
Don't know St 1 S-€
- Nob arSwes@a o2 03 ;'
NOw consider people who say that all blacks and Asians should be :
forced to leave Britain. Do you think such peopie should be = X’
allowed to ... (REPEAT i) AND ii) ABOVE AND CODE IN COLUMN b} 2 ¢
se

(=)

N, )
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Defence
ASK ALL
24. One of the election issues was whether the government should keep or
get rid of nuclear weapons in Britain.
SHOW SCALE CARD 1 AND GIVE PENCIL
Please look at this card. People who are convinced that we should get
rid of all nuclear weapons in Britain without delay i11 put a
Tick In the 1ast box on the lert (Letter P) - PUINT TQ 80X P AND -
STATEMENT - while those who are convinced that we shoqld increase
nuclear weapons in Britain without delay will put a tick 1n the
Tast box on the rignt (Letter J) - POINT TO BOX J AND STATEMENT.
Se, as you can see, people who hold views that come somewhere
between those two positions will tick a box somewhere along here -
PUTNT T0 BOXES FROM LEFT TO CENTRE - or somewhere along here - POINT
TC BOXES FROM RIGHT TO CENTRE. RE-EXPLAIN IF NECESSAR
a) First, would you tick the box anywhere along the scale that comes
closast to your own views about nuclear weapons in Britain.
ASK WHICH BOX, REFER To  fif1#)
LETTER KEY AND ENTER CODE NO. OF LETTER LETTER KEY
IF DON'T KNOW, ENTER 098 B = 001
Now where do you think the Conservative and C = xo8
Labour Parties stand? D = X01
b) First, the Conservative Party. In the next E = 005
row of boxes, put a tick 1n the box that you F = X04
think comes closest to the views of the G = 009
Conservative Party? (olum161 -
ASK WHICH BOX, REFER TO i = 008
LETTER KEY AND ENTER COCE NO. OF LETTER J = 010
IF DOM'T KNOW, ENTER C98 K = 002
; . v - L L = 0C6
¢) Now, in the next rcw, please put a tick in the , .
box that you think comes closest to the views M = X07
of the Labour Party? - _ ' _
“ASK WHICH BOX, REFER To ' '7'%) N'= X05
LETTER KEY AND ENTER CODE NO. OF LETTER P = X0
IF DON'T KNOW, ENTER 098 Q = 000
_ R = X03
d) And, finally, please tick the box in the last c - vhe
row that you think comes closest to the views T A
of the SOP/Liberal Alliance? : T = 003
ASK WHICH BOX, REFER TQO  r»20-223 U = 0C7
LETTER KEY AND ENTER CODE NQ. OF LETTER V = X02
IF DON'T KNOW, ENTER 098 W = X09
lINTERVIEHER MOTE: Throughcut this question you may ¢hange a code Y = Qcé
aiready entered if, on refiection, a respondent wants to change LEFT GF P =
‘ his or her mind. Please ensure that your final entry is clear RIGHT OF J =
and corresponds ta respondent's version., If respondent asks, you -
| may cunfirm that Letter Q is the central position on the scale.
OFFICE USE '
Get rid I Increase
x10l x0d x08 %07 08 X0 x04 x03 x04 x01 0ocy 001 002 0023} 004 009 00q 007] 008 000G Q1ct
w ¢ M S N F R V O 0 B K T Y £ L U H G
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ASK_ALL .
'On the whole, do you think the Conservative

423y
government nandled the Falklands dispute
... (READ QUT) - ... very well, 43.2
fairly well, 2.7
not very well, 2.6
or not at all well? 1Ol
(Other answer - SPECIFY) o1 .
(Don't kggw) -7
r QW 0.2
17 If the Labour Party had been in government at Nor &
the time, do you think they would have handled (w2a)
the Falklands dispute better than the Conservatives,
worse, or much the same? Better IS 6
Worse 431
Same  3C7
Mixed views %3
. Don't know 6O
NCF anSwesad oz
c) When you were deciding about voting, was the :
government's handling of the Falklands dispute NOV afSerd) "12(”5\
OHNE( QSRS Q.
-« (READ OUT) ... extremely important to you, (.o
quite important, 29-3
or not very 'impor‘tant? S83.
a) Do you think that the siting of
American nuclear missiles in Britain a) b)
makes Britain a safer or a less safe American Own
place to live? : nuclear nuclear
CODE IN COLUMN a) missiles missiles
b) And do you think that having our own Nok O‘rsﬁahisd rgs &y
nuclear missiles makes Britain a ro 33 1 609
safer or a 1essbsafe place to Tive? Less safe  uw.3 250
CODE IN COLUMN b) L R PN
. now 129 ' -5
Dok HC\D&%I/E’S mul -2 1 99
Do you think the government should ) other
or should not do each of the Tollowing QNsW®
things, or doesn't it matter either way Should Doesn't jDon't nNok
(READ OUT) Should not matier « KNOW Q.
a) ... Pull British troops out of Northern , 2.6 pus — 3% 91
Ireland immediately? 39 g fu28)
b) ... Negotiate with Argentina over the 5.9 2.5 o — SY O
future of the Falklands? (22}

c) ... Spend less on defence? 35-9 25 Skl O Sl ©2w30)
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Unemployment & Inflation

ASK ALL

Another election issue was whether inflation or unemployment is the
mare urgent issue to tackle.

SHOW SCALE CARD 2

Pleace lock at thiz card. Peopic who are convinced that getting oveonle
back to work should be the government's ton priority will nut a

Tiok 10 the 1ast DOx on the lert (Letter P) - POINT TO0 20X P ANO
STATEMENT - while those who are convinced that keeping prices down
should be the government's too priority will put a tick in the

Tast Lex on the right (Latter J) - POIHT TO BOX J AND STATEMENT.

3¢, just as before, pespie who nold views that come somewhere

betwesn those two positions will #ick a box scmewhere 2lung here -
SUTHTTO BOXUS FROM LEST TO CENTRE - or scuewnere along here - POINT

TS BOYES FRCM RIGHT TU CENTRE. !

—

3} Flirst, wouvla you tick Etne hox anywhere alcng the scale that ccmes
ciosest to your cwn viwss sbout unemployment and inflation.

ASK WHICH BOX, REFER 70 M31-3%
LETIER KEY ANG LNTER CODE NO. OF LETTER | | LETTER KEY

I DON'T ¥NOW, EMTER 098 = 001
= X08
= X01
= 005
= X04
= 009
= 008
= 010
= 002

T L = 006
cY  MNow, in the next row, please put a tick in the

B

Now where ¢o you think the Ccnzarvative and g
£

F

G

H

J

K

L

bui that you think comes closest to the views - R M = X0V

N

P

Q

R

S

T

U

v

W

7

Labour Parties stand?

B)  Firat. the Corservative Party. In the next
row of 1ioxes, gut a tick in the box that you
think romes ciczest to the views of the
vonzervative Partv?

\CK WHICH 20X, REFER TOo  fie~ie)
LETTE: ¥E7Y AND ENTER COOE NO. OF LETTER
IF DON'T KMOW, TNTER 0983

¢t the Labour Party? - X05

ASK WHICH BOX, REFER To _ (*?7-3%

LFTTER KEY AND EHTER COBE NO. OF LETTER = X10
iF 00%'T KNOW, ENTER 098 = W0
~ = X43
Ay A, Finglly, piease tick Lhe box in the last

= 06

= CU3

= 0G7

= X02

= X09
R - : . = 004
THTERVIEWER NOTE: Throughout this question you way change a code

d 7eady.entered if, on raflection, a respondent wants to change LEFT OF P = ¥

fiis or her mind. Flzase ensure tnat your final entry is clear RIGHT CF J =
and correspands to respondent's version. If respondent asks, you )

may confirm that Letter Q is the central position on the scale.

v that you think curss closest £o the views
of che SCP/Literal Alliance?

ASK WHICH 80X, PEFER TO  (“*0~*%
LETTZh KEY AND ENTER COOE 40. OF LETTER
{F DOS'T KNOW, ENTER 098

QF-ICE USE .
Back to wark — Prices down

x1r] XQS xoel 107t «og x0S xo_aL %03 x_@dxm 00 001 002 003[ ooa[ 009 008 007 cC8| COY orcl
P C M S N F ® v 9 Q B X T Y € L U H G J




- 15 -

not sure either way ... (READ OUT)

~ ASK ALL
.} On the whole, do you think the Conservative ey
government over the last four years has handled
the problem of inflation ... (READ QUT)
very well, 345
Fairly wall L2
raar ’ B A |
not very well, 3.9
or not at all well? &-2° -
{Oon't know) 1-7
. Ner Qﬂswefﬂ 0-3
b) And unemployment: on the whole do you think the Chiny
Canservative government over the last four years
has handled the problem of unemployment ... (READ OUT) ... very well, 14
fairly well, 237
‘not very well, 2%oO
or not at a'l'l weH” 335
""'CDon now) ol
NQF o.ﬂswemo? ‘ﬁ?
¢) Which do you think threatens you and your faus)
family most ... (READ OUT) ... the threat of rising prices, SI-0
- 10 t? LQu-ys
or - the threat goihlrp ymeﬂl P
2-9
. Nor CxﬂS»EQ( o
Please say whether you agree or disagree with
each of these statements, or say if you are Not  Ngb

Agree Disagree. sure Qng e

) ... When somecne is unemployed it's usually his s o 2
or her own fault? C
b) ... The government should set firm guidelines

for wages and salaries? 633 22
<) ... The high level of unempioyment in Britain is . 4
mainly the British Government's fault? <44

d) ... The government should spend more money to -
create jobs? 233 %3
e) ... Much of our unemployment has been caused by UL 39

trade union leaders?

) ... The rise in unemployment has helped Britain's
products to be more competitive? 355 30

30 ey
101 O{':‘L 73
G2 93,
%-Q O('Ltf.u 33
1371 Or‘ff's 03
250 9851y
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Taxation and government services

ASK ALL
31. Another election issue was to do with taxes and governmment spending.
SHOW SCALE CARD 3
Pleasa look at this card. People who are convinced that we should put
| up taxes a lot and spend much more on health and social services wi?T_but a
tick in the iast box on the left (Letter P) - POINT TO BOX P AND
STATEMENT - while those who are convinced that we should cut taxes a lat ~
and spend much less on health and social services will put a tick in the
Tast box on the right (Letter J) - POINT TO BOX J AND STATEMENT.
Sq, Jjust as before, people who hold views that come somewhere
between those two positions will tick a box somewhere along here -
PCTAT 70 BOXES FROM LEFT TQ CENTRE - or somewhere along here - POINT
TC YOXES FROM RIGHT TO CENTRE.
a) First, would you tick the box anywhere aiong the scale that comes
closest to your awn views about taxes and government spending.
ASK WHICH BOX, REFER TO  rss2-suy
LETTER KEY AND ENTER CCOE NO., OF LETTER LETTER KEY
IF DON'T KNOW, ENTER 098 B = 001
Now where do you think the Conservative and | ¢ = Xo8
Labour Parties stand? D = X01
B} First, the Conservative Party. In the next E = 005
row of boxes, put a tick 1n the box that you F = X04
think comes closest to the views of the G = 009
Conservative Party?
ASK WHICH BOX, REFER TO (455~ 57) H = 008
CLETTER KEY AND ENTER CODE NO. OF LETTER [ J = 010
IF DON'T KNOW, ENTER 098 K = 002
\ . . . L = 006
¢} Now, in the next row, please put a tick in the
box that you think comes cliosest to the views M = X07
of the Labour Party? N = X05
ASK WHICH BOX, REFER TO f458=60)
LETTER KEY AND ENTER CODE 0. OF LETTER P = X0
IF DON'T KNCW, ENTER 098 Q = 000
R = X032
d) And, finally, please tick the box in the last S = %06
r~w that you think comes closest to the views
of the SDP/Literal Alliance? T = 003
ASK WHICH BOX, REFER TO fesl-53) U = 007
LETTER XEY AND ENTER CODE NO. OF LETTER vV = X02
IF DON'T KNOW, ENTER 098 W = X09
INTERVIEWER MCTE: Throughout this question you may change a code Y = 004
already entered if, on reflection, a respondent wants to change LEFT OF P = X
his or her mind. Please ensure that ycur final entry is clear RIGHT OF J =
and courresponds to respondent's version. If respondent asks, you
may confirm that Letter Q is the central position on the scale.

Services up

QFFICE USE

Taxes down

X1

v0d xo8 xo7] xag x09 xod xod xod xo1} 0od va 0od o3 0od ood oog 007 008 00df o1¢

P

W C M S N F R V D Q B K T ¥ E L U H G
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ASK ALL

On the whole, dag you think the Conservative government
over the last four years was successful or unsuccessful

in keeping taxes down generally? PROBE: Very or fairly? a) b)
CODE IN COLUMN a) Standard
Taxes of living
And was it successful or unsuccessful fu6u) [8865)
in improving your standard of living? Very successful Q¢ 1 u6
PROBE: Very or rairly? : "
TOBEIN COLUMN b) Fairly successful s2-% ! 3bo .
: Fairly unsuccessful 22-7 | 329
VYery unsuccessful G-I T
[
Don't know -7 | 17
Ncr ansuered ot ! 1O

Which Party do you think would be the
most Tikely to improve your standard a) b)

cs ”
of living over the next three or four vears? 3-4 years 10 years

[566=67]  [468~5631
L A S Conservative 425 | 373
WA LI wwlwi el G H
. , l.abour 257 C22'9
1
gz;dsg\;er the next ten years _ (SOP/Lib) Alliance 6.5 :. -4
DO NOT PROMPT Liberal u.q 14
Love B LYLt ) Social Democratic -2 P13
1
Scottish National 0.3 ; ©3
1
Plaid Cymru Q! y ob
1
Other (SPECIFY} G- : o-t
- a) Ofer pocy = & L oZ
T ]
b) ' ' :
1
noyge S8 . 373
Aok NG o4 TS
Don't know a.b PG
Please say whether you agree or disagree '
with each of these statements, or say if Not Mok I
you are not sure either way ... (READ OUT) - Agree Disagree sure aOSuWRZ
a) ... High income tax makes people less willing gag 7-7 22-4 o4
to work hard? © (s701
b)... Income and wealth should be redistributed towards 47-7 1S-0 377 Ok
ordinary working people? (+741
i O
c) ... Too many people these days like to rely on w7 - 233 farey

government handouts?

Do you think the government should or

should not do each of the folTowing Should Doesn't Don't Nob :
things, or doesn't it matter either way Should not matter know QISATC
... (READ QUT) <3
a) ... get rid of private education in Britain? (6O 649 1S} 31 T
o-b
b) ... spend more money to get rid of poverty? <s0-¢ 104 2-9 s (#7T™
c) ... increase the standard of living ) ) h s
of pensioners? 803 121 3 5 r::_:
d)... encourage the growth of private medicine? 33 “7-3 Rl S (w78)
. . o
e) ... put more money into the National Health sus 99 17 3.3 (e77)

Servica?
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Nationalisation

ASK_ALL ‘
36. There was a lot of discussion during the election about nationalisation.

SHOW SCALE CARD 4

Card Q5

Please look at this card. People who are convinced that we should
nationalise many more private companies will put a

TTCK Th The Tast DOX Of the 1eft (Letter P} - POINT TO 30X P AMD
STATEMENT - while those who are convinced that we should sell -
of f many more nationalised industries will put a tick in the

Tast cox on the right (Letter J) - PQINT TO BOX J AND STATEMENT.

Sa, just as before, pecple who hold views that come somevhere
between those two positions will tick a bax Somewnere along here -
PCINT TO BOXES FROM LEFT TO CENTRE - or somewnere along here - POINT
TO BOXES FROM RIGHT TO CENTRE. '

ay First, would you tick the box anywhere along the scale that cames
closest to your own views about nationalisation,

ASK WHICH 80X, REFER TO fs07-09%

LETTER KEY AND ENTER CCDE NC. OF LETTER LETTER KEY
IF DON'T KNOW, ENTER 098 B = 001
Now where do you think the Conservative and C = X08
Labour Parties stand? : D = X0l .
b) First, the Conservative Party. In the next E = 005
row of boxes, put a tick in the box that you F = X04
think comes closest to the views of the G = 009
Conservative Party? -
ASK WHICH BOX, REFER TO fs10-123 R = CC8
LETTER KEY AND ENTER COOE NO. OF LEVTER 4 = 010
[F DON'T XNOW, ENTER 098 K = 002
c¢) Now, in the next row, please put a tick in the . __ - L =.006 .
box that you think comes closest to the views . M= XC7
of the Labour Party? N = X05
—. ASK WHICH BOX, REFER Tg  fSi3-1%} R .
LETTER ¥EY AND ENTER CODE NO. OF LETTER P o= Xi0
IF DON'T KNOW, ENTER 098 Q = 000
K = X03
d} And, finally, please tick the box in the last S - Y06
row that you think comes clcsest to the views ~
of the SOP/Liberal Alliance? _ T = 003
ASK WHICH 80X, REFER TO  (*!°7®) U = 007
LETTER KEY AND ENTER COOE NO. GF LETTER Vv = X02
[F DON'T KNOW, ENTER QS3 W = XQ9
— n
INTERVIEWER NOTE: Throughout this questicn you may change a code Y = 004
already entered if, on reflection, a respondent wants to change LEFT CF P = X9
his or her mind. Please ensure tnat your final entry is clear RIGHT OF J = 0
and corresponds to respondent's version. If respondent asks, yocu c
may confirm that Letter Q is the central position on the scale,

0FF S -
Nationalise OFFICE UsE Privatise

X1gd xod xogl X070 x08 X035 x04 03y %03 %01 0o 001} 002 003) 004 005 00f 007 Q08| 00Y 01¢
P 4 C M S N F R V D Q 8 K T Y £ L U H &6 J
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K ALL - SHOW CARD H

st to clarify your views on nationalisation, please tell me from this
rd which of the four statements comes closest to what you think should

- done, or say if you can‘t choose any? Fs19)
A lot more industries should be nationalised &3
Only a few more industries should be naticnalised Q-4
No more industries should be nationalised, but
"industries that are now nationalised should stay nationalised 335-0 _(
Some of the industries that are now nationalised 3. - ) ) ‘
should become private companies
Can's HRERIRO G IIA 1%
inking now of trade unions and big business in this country:
rst do you think that trade unions . (READ QUT) rszol
have too much power, 70-i
or nat? 249
Don't know) &S S
y you think that big business in this country ...(READ OUT) - amnswerdd (g.;;) L
has toc much power, so¢.g
or not? L7
N,bDH:U‘;!‘r{CQi‘-IO“) ‘|!":{=
> you think the Conservative government over the last four (5229
2ars has generally handled the problem of strikes ... (READ OUT)
.. very well, 21-0
fairly well, usgq
not very well, (g4
. or not at all well? T71-O
(Don't. know) 2
. Nk aparsed o
0 you think the governmént' should or should not do each of -
he following things, or doesn't i1t matter either way... (READ OUT)
| should  Should i riotin.” Roow
st vk retlrel e S R
. Give workers more say in running the 614 234 &4 3IS 5§
places where they work? : fs2s3 |
. . . , . T
. Aﬂg\; ?E;v;iif}gggstw to keep more <5 2%a asx 4o 3 (525 (97
donore forelp heecnomy of e ooy w95 €2 St gy O
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Law and order

ASK ALL

41, This card is about tﬁé'importance of controlling-crime on the one hand,
or protecting people's rights against the authorities, on the other.

SHOW SCALE CARD 5

cen Taml = [T e - . <
Please look at this card. People who are convinced
i wi

a cQ i
civil rights is more important than cutting crime wi ut
tick in tne last box on the lert (Letter P) - POINT TO BOX P AND
STATEMENT - while those who are convinced that cutting crime is more .
important than protecting civil rights will put a tick 1n the
Tast Dox on the right (Letter J) - POINT TO BOX J AND STATEMENT.
Sa, just as before, people who hold views that come scmewnere
between those two positions will tick a box somewhere along here -
TOINT TO BOXES FROM LEFT TO CENTRE - or somewhere along here - POINT
TO BOXES FRCM RIGHT TO CENTRE.

[« 8

D

a) First, would you tick the box an%where along the scale that comes
clasest to your own views about law and order.

ASK WHICH 80X, REFER TQ  (527-29)

LETTER KEY AND ENTER COOE NO. OF LETTER LETTER KEY
IF DON'T KNOW, ENTER 098 B = 001
Now where do you think the Conservative and C = Xo8
Labour Parties stand? D = X3
”b) Fifgi, %hé’CoﬁéerVétfve Part}:_uin the next E =005
row of boxes, put a tick 1n the box that you F = X04
think comes closest to the views of the ~ _ AnQ
Conservative Party? s = VM
ASK WHICH BOX, REFER To fs3o-321 H = 008
LETTER KEY AND ENTER CODE NO, OF LETTER : _] J = 010
1F DON'T KNOW, ENTER 098 K = 002
¢) Now, in the next row, please put a tick in the L = 006
box that you think comes closest to the views M= X07 .
of the Labour Party? N = X05
- ASK WHICH BOX, REFER TQ f®2373%) -
LETTER KEY AND ENTER CODE NO. OF LETTER P = X0
IF DON'T KNOW, ENTER 098 Q = 000
R = X03
d) And, finally, please tick the box in the last < = X086
row that you think comes closest to the views N
of the SOP/Liberal Alliance? T = 003
' ASK WHICH BOX, REFER TO  (s3e—28) U = 007
LETTER KEY AND ENTER CODE NQ. OF LETTER vV = X02
IF DON'T KNGW, ENTER Q98 W = X09
INTERVIEWER NGTE: Throughout this question you may change a code ¥ =004
already entered if, on reflection, a respondent wants to change LEFT OF P = X9/
his or her mind. Please ensure that your final entry is clear RIGHT OF J = Q¢
and corresponds to respendent's version, If respondent asks, you C
may confirm that Letter Q is the central position on the scale.

Protect rights - Cut crime

X1 xod xo8f x07} X0 X049 X04 x03 x04 X0l OOC!OO\ 002 003} 004 009 004 0071 008} 20§ C10
P W C M S M F R ¥ 0 Q B X T ¥ E L U H G d
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- 21 -

Please say whether you agree or disagree with each of these statements,
or say if you are not sure either way ... (READ OUT)

Agree Qisagree

e
?fg.‘sd'

Not sure !fﬁg,mqj

Aol cnswerg

a) ... If you want to cut crime, cut unemployment? 674 2% q-3 aa (53
b} ... The police should be given more power? 4s b us 4 S5 0o &F
c} ... Britain should bring back the death penalty? <u.2 327 O og !
d) ... The aim of prisons should be to reform o
criminals rather than punish them? l 31-2. ‘25 L eeT L5
e) . People who break the law should be given '
stiffer sentences? ok R -1 o-T sk
Qther issues
.a) When you were deciding about voting, how important was the
issue of the Common Market - was it ... (READ OUT) fssel
... extremely important to you, -7
quite impertant, xS
or not very impertant? 4E-9
Other answes o4
SHOW CARD J Nor answes o5
b) Which of the three statements on this card comes closest
to your own views on the Common Market? [545)
Britain should leave the Common Market withdut further ado 1S
Britain should stay in the Common Market provided S3-%
we can get better terms
Britain should stay in the Common Market anyway 263
' S
Nov WALsngd 370
SCOTLAND/WALES ONLY )
An issue (in Scotland/in Wales) is the question of an
elected Assembly - a special parliament for (Scotland/ rsns)
Wales) dealing with (Scottish/Welsh) affairs.
Which of these statements comes closest to your view ...{READ OUT)
Cioged B4
... {Scotland/Wales) should become completely independent, 177
or - there should be an electad assembly for (Scotland/Vales), 3o
or - some other way should be found to make sure the needs of 3
(Scotland/Wales) are better understood by the government’ in London’
or - keep the governing of (Scotland/Wales) much as it has been? 3-3
(Other - SPECIFY) 0.C
(Don't know) ©3
[«

(Spare} (3471
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ASK ALL - SHOW CARD X

Finally on election issues, ! want to ask about some changes that have

been happening in Britain over the years.

For each one [ read out can

you say whether you think it has gone too far, not gone far enough, or is

it about right.

Gone too About Not gGone

Don't- Ny

far right far enough know afmser
Thinking first about the welfare benefits :
that are available to people today. Would 7. G4-b Qs
you say they have gone too far, are they 1BS 485 2149
about right or have they not gone far enough? f543)
How about attempts to give equal opportu- . . e T
nities to women in Britain? q-) 55% 309 o {5493
The right to show nudity and sex in films 6i-b 2 G2 35  oF
and magazines? . - - fsson
Government spending on education? -3 276 . 658 w1 OPssny
The building of nuclear power stations? 29 ust %7 lQ“q- °:'%’5521
The right to have protest marches and 224 $9.3 2.3 4.5 ©°S
demonstrations? ‘ f9s33
Attempts to give equal opportunities to . ) - ¥ o.
black people and Asians in Britain? e 42 156 o 5;55”
- Allowing the sale of council houses to - . 12-2 629 ...2000 4.5 O :
tenants? _ Lo (859
The movement towards comprehensive -27-2 wo. 133 c -S>
‘schooling? : Co (858
Cutting immigration from the Commonwealth? 12-3 439 13- oo 9 IrssT
Government support for public transpert? s +3-9 35-3 0% Odrsse:
The availability of abortion on the - T o
National Health Service? A WS '0-3 lotk O (s,




3)

- where you are on the scale. : ENTER CODE NO. °

- 23 -

ASK ALL - SHOW SCALE CARD 6

itself on the extreme right (Letter J) - POINT TO BOX J.

TO BOXES FROM RIGHT TO CENTRE.

On the last of these cards, the British Communist Party would place itsalf on the
extreme left (Letter P) - POINT TO BOX P - while the National Front would place
The other main Parties
would probably piace themselves somewhere between these two pasitions, somewhere
along here - POINT TO BOXES FROM LEFT TO CENTRE - or somewhere along here - POINT

Now, this time I want ta ask you first where you think the Conservative and

Labour Parties are on the scale.

First the Conservative Party: tick the box the comes close
where you think the Conservative Party is on the scale?

st to
TS60=862)

ASK WHICH BOX, REFER TO LETTER KEY AND ENTER COOE NO.

|

[F DONTT KNOW, ENTER Q98

Now the Labour Party: tick the bog in the next row that
comes closest to where you think 1t is. ENTER CODE NO.

(3631-535)

IF DON'T KNCW, ENTER 093

Now the Liberal Party and the Social Democrats separately.
First the Liberal Party: tick the box in the next row
that comes closest to where you think it is.

(566-681

ENTER CODE NO.
IF DON'T KNOW, ENTER 098

| 1]

Now the Social Democratic Party: tick the box in the
next row that ccmes closest to where you think it is.

(569-71)

- ENTER CODE NO.

._‘ .. - — - . ] *m
IF SCOTLAND [F OON'T KNOW, ENTER

Now tick the box in the next row‘that comes clogsest to - -
where you think the Scottish. National Party is.

T572=74)

ENTER CODE NO.

- 1
IF WALES IF DON'T KNOW, ENTER 058
Now tick the box in the nAext row that comes closest

(575=771

to where you think Plaid Cymru is. ENTER CODE NO

: - IF DON'T KNOW, ENTER 098
ASK ALL

“Now tick the box in the Tast row that comes closest to

f578~-80)

T
e e o e e e o e . e s oo b
UNLESS 098 AT g)

WouTd ycu have been in the same box about four years
ago - at the time of the last general election?

[F YES, ENTER 100

e m s mm e T T Ll D e

Card 06

f607-79Y

IF DK, ENTER 098

IF NO: Which box were you in then? -  ENTER CODE NO. |

UNLESS 098 AT a) ABOVE

Now looking at the top row, where you put the Conservative

Party: would it havE“EEEﬁ—?n the same box when Mr Heath

was 1ts leader? IF YES, ENTER 100 fsla-123
IF DK, ENTER 098

IF NO: Which box was it in then? = ENTER CODE NO. | I

UNLESS 098 AT b) ABQOVE

Finally, looking at the second row, where you put the

Labour Party: would it have been in the same box when

Mr CaTlaghan was its leader? IF YES, ENTER 100 (611-151
IF DK, ENTER 098 rf ‘

IF NO: Which box was it in then? ™ ENTER CODE NO. | |

TETTER KEY

B = 001
C = X08
D = X0
E = 005
F o= X04
G = .009
H = 008
J = 010
K = 002
L = 006
‘M = X07
N = X0S
P = X0
Q = 000
R =  X03
S = X06
T .= 003
U .= 007
vV o= X02
W = X09
Y = 004
LEFT OF P
= X97
RIGHT OF J
= 097
INTERV IEWER
NGTES FROM
PREV IOUS
SCALE QUES-
TIONS APPLY

AT THIS
QUESTION TQOQ.

0ffice Use

NE

cP
[ X70 [X09 [X08] X07 | X06 ] X05]x04]X03 {02 [x01]000]001[062[003]004

P W ¢ M S N F R VvV D Q B K T Y

(0057006 1007008009010 |
J

E L

U

H G



V. BACKGROUND & CLASSIFICATION

ASK ALL

‘ Now some questions about yourself and your background.

47.a) Do you remember which Party your father usually voted for when a) b)
you were growing up? ONE CODE IN COLUMN a) Father Mother

b) And your mather? (E1E=17) fele=13).

ONE CODE TN COLUMN b b) 00 NOT PROMPT Conservative au E o T
Labour uss | w20
Liberal .o ' =.7-
Scottish National ©-3 | O-2
Plaid Cymru oI E 3.0t
Other (SPECIFY) a) 02 ! o.of
b) !
Varied 1-© E o
Not applicable/Not brought up in Britain 2-® E L
Refused to disglose yoting -t Lo
HY2C o I - N
Did not vote .2 | 3.4
Can't rememMD&&épgx %4-; E 'i—i

48. Thinking back to when you were aged about 14,
what job did your father have then? . OBTAIN AS MUCH DETAIL AS POSSIBLE.

IF NO DETAILS CAN BE OBTAINED, GIVE REASON BELOW AND RING CODE .
No detaiis of father's job 1 --Q.49 f62¢

QFFICE USE
Reason: 1 fsati~
a) What was the name or title of his job? ' (626-.
(628-
b) What kind of work did he do in that job? IF RELEVANT: What were
' the materials made of? ‘ reso-
- ' fe63z-
(53
c) Did he have any training or-qualifications that were needed fe3s-
for that job? Which? .
{633~
(61—
d) Did he supervise or was he responsible for the work of
any other people? IF YES About how many? Yes (number) (643~
No (ring) | 0000
e) Was he ... (READ OUT) ' ... an employee, - (60
or self employed?
f) What did his employer (or, if self-employed,
he) make or do? PARE (s
g) TFRoughly how many people were emﬁToyed at the . fewer than 10,
place where he worked: Was it ... (READ OUT) 024 [s
2
or 24+7

!T==l!!=l==!=,u=’“FH7EIllll!IlIlli-lllIllllIIl--------u-.--------------—--—-‘-'-."
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ASK ALL 5
49.a) To you ever think of yourself as belonging to any particular class? reso ,
. . -
IF YES Whmh clasg is that? Yes, middle class H.'&} Q.50

Yes, warking class 327

Yes, other (SPECIFY IN FULL) . 3.4

No 43-3
. . L]
IF OTHER, OR NO, OR DON'T KNOW (CODES 3, 4 OR 8) NP Of L Know 22
b) Most people say they belong elther to the middle
¢ class or the working class. If you had to make a ICEIR)
chaice, would you call yourself ... {READ OUT) ... middle class 14’
or working class? 260
S4-3
Ze?used 1-u
on’ t know) (ga?
ASK ALL f652)
50.a) Compared with British families in general, would you
say your household's income is ..(READ QUT) ... far below average, o-i
below average, 23.7
average, 44.7
above average, (-2
or-far above average? I-%
Don't kno 'T%
. b) Looking back over the last year or so, would you mg"““‘:“""a‘q) .’l%'i )
say your household's income nas...(READ QUT) . failen behind prices, 4-‘8"_3

kept up with prices, «Q-
- or gone up by more than prices? ¥°3

on't know éaa_
c) And looking forward to the year ahead, do you "@ aﬂsﬁaqu {6541

expect your household's income wiIT...(READ OUT) ... fall behind prices, «33
o keep up with prices, 48

or go up by more than r1cqé g"g‘
e“PDon know} -3

. {6551
51.a) Do you, or does anyone in your household, own or
have the use of a car or a van? Yes - one &71-C
IF YES: PROBE: One car/van or more than one? Yes - two or mare 231
No, 249-3
Nor O.!lsuaerﬂ -
b) Are you, or is anyone in your household, covered
by a private health insurance scheme that allows (8S€3
you to get private medical treatment? Yes - through group 14-©

IF YES: PROBE: Through a group (e.g. employer/
trade union) or as an individual?

Yes - individually «-9
Na 2.2

[ L= L ot

. Don't know 1-Z4
No¥ Qfeweied o7
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SHOW CARD L

Which of these descriptions applies to what you were doing last week,
that is in the seven days ending last Sunday? PROBE: Any others?
CODE ALL THAT APPLY IN COLUMN I

IF ONL

Tc
i

7

no
un

m <

0
T

tIAN ANE A TRAMCOCD U !
i Ui o~

T TR Fal -
iy THANDOILK RHILALD

NE CODE AT I, TRANSFER IT TO
IGHE

.
}

COLUMN
T

In full-time education (not paid for by employer,
including on vacaticn)

On government training/employment scheme (e.g. Community
Programme, YOP, WEEP, YTS, etc.)

In paid work (or away temporarily)

for at least 10 hours in the week 55-3 1 c)
Waiting to take up paid work already accepted 0.5 '
Unemployed and registered at a Jobcentre/
employment office E % b
Unempioyed, not registered, but actively looking for a job .9
Unemployed, wanting a job (of at least 10 hrs per week), _
but not actively looking for a job G ©C‘b
Permanently sick or disabled H 22 ° . D)
Wholly retired from work J 15.2°
Looking after the home K %-2
Do1n(%crometh1ng else L Ob:
IF_CODE 02, 0r 05 = 11 answered o1/
b} How long ago did you last have a paid job (other than
the government scheme you mentioned) of at least 10 (683)
hours a week, excluding Saturday or holiday jobs? ki O.Zd T4
Within past 12 months $ -4
Over 1-5 years ago (24:
Over 5-10 yéar‘s ago ®-o & c)
Over 10-20 years ago 7% |
S : Over 20 years ago s

Never had paid job of 10+ hrs a week 15‘_ + (.54
Nok oo o3

IF_CODE 03-04 AT a) OR CODE 1-5 AT b)

c)

Are you now, or have you ever been, a member of a trade um’on?s.hl

Yes -

r550)

43
W oab'S

Yes - used to be 287 Q.53

Na <9

Ncr ofeead o S




q)

- 27 -
ASK ALL WHO ARE IN WORK (CODE Q03 AT Q.52a) OPPQSITE,

OR WHO ARE WAITING FOR A JOB (CODE 04 AT Q.52a) OPPOSITE,

OR WHO HAVE EVER HAD A JOB (CODES 1-5 AT Q.52b) QPPOSITE.

Now I want to ask you about your (present/future/last) job?
CHANGE TENSES FOR (BRACKETED) WORDS AS APPROPRAITE THROUGHQUT
what (is) the name or title of that job?

QFFICE USE

(661~65)

What kind of work (do) you do most of the time? IF RELEVANT:
What (are) the materials made of?

What training or qualifications (do) you have that (are) needed
for that job?

(Do) you supervise or (are) you responsible for the work of any

other people? IF YES How many? Yes (number)

No (ring)

(Are)} you ... (READ OUT) . L/

f666=-67Y

1(555—59\

=

|r573—{:\

‘rs%z-rﬁ]

(5?51

CARD Q7

£707=09)

f71o0-113

(7Tlz-13)

—

(Tla~17Y

0Coo0

4_3r7|i.\

[ .
. an empioyee, ¢7.4

- ' or self-employed? -1 " 4 g)
IF EMPLOYEE (CODE 1) Nov answeaed o5

f)} (Is) the organisation you {work) for ... (READ OUT) ‘g

... a private

7133
Eia
]T‘m, SL"'l

a nationalised industry, to-i

a local or central government organisation, 244

a charity, ©%.

: . or what?
(SPECIFY OTHER) Othar non-coHHercial aiganisahdns ©-3
T oer onswees 02
ALL o A o1

What (does) the employer (or, if self-employed, you) make or do

at the place where you usually (work)2 IF FARM, GIVE NO. QF ACRES

Including yourself, how many people (are) employed at the place
you usually (work) {from}?

Eﬁchzaﬂ] gﬁ%b

(7233

ndae
10-24 136
25-99 1%
100-499 203

50087 958, o 4=
: skipped L%%%EMW
(Is) the job ... (READ OUT) ... full-time, rs + _ﬁg%f

or part-time? (10-29 hrs) i

Nor  Co”iered)

2-3
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ASK ALL

{7224

54.a) AT present are you ... (READ QUT) ... married {or living as married), 69.7 +h)

widowed, %-2
divorced or separated, &4-b > Q.56

or single? I'75|
IF MARRIED OR LIVING AS MARRIED (CODE 1) - SHOW CARD L°AGAIN|NG-cnawerd o1

B) Which of these descriptions applies to what your (husband/
wife) was doing last week, that is in the seven days
ending last Sunday? PROBE: Any others? CODE ALL THAT APPLY IN
IN COLUMN I

IF ONLY ONE CODE AT I, TRANSFER TO COLUMN TI
IF MORE THAN ONE AT I, TRANSFER HIGHEST ON LIST TOQ II -

In full-time education (not paid for by empioyer,
including on vacation)

On government training/employment scheme (e.g. Community
Programme, YOP, WEEP, YTS, etc.)

In paid work (or away temporarily)

for at least 10 hours in the week

. Waiting to take up paid work already accepted
Unemployed and registered at a Jobcentre/

3
£
o

employment office E 2-1 W
Unemployed, not registered, but actively looking for a job F ob
Unemployed, wanting a job (of at Teast 10 hrs per week),
but not actively looking for a job G o1~
Permanently sick or disabled H 1.8 . (S
Wholly retired from work J Sb& .
Looking after the heme K 137 °
Doing something eise L ©&4 .
IF CODE 02, 0R 05 - 11 . NOv answred o ]
c) How long ago did your (husband/wife) have a paid job
{other than the government schemg you mentioned) of (7253
at least 10 hours a week, excluding Saturday or LN T2L
: holiday jobs? ' Hithin'past 15?%2??%2 3'3‘
' Over 1-5 years ago TS
Over 5-10 years ago si4 pd)
Over 10-20 years ago &S
Over 20 years ago 34

Never had paid job of 10+ hrs a week 2-3 ~Q.56

Nor answered ©-2

IF CODE 03-04 AT a) OR CODE 1-5 AT b)

(726)
d) Is your (husband/wife) naw, or has (he/she) S\apped 329
ever been, a member of a trade union? Yes - now iB-b

Yes - used to be 162

No 296 B3P
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ASK ALL WHOSE SPOUSE IS:IN WORK (CODE Q3 AT Q.54b) OPPOSITE,

OFFICE USE
OR WHOSE SPOUSE IS WAITING FOR A JOB (CODE 04 AT Q.54b) OPPQSITE.
OR WHOSE SPOUSE HAS EVER HAD A JOB (CODES 1-5 AT Q.54c) OPPOSITE. f727-31
Now I want to ask you about your (husband's/wife's) f732~3:
f73u~3¢
What (is) the name or title of that job? Trra6ess
What kind of work (does)(he) do most of the most of the time? f738=uc
IF RELEVANT: What (are) the materials made of?
{7413
[742=-ut
What training or qualifications (does) (he) have that (are) i
needed for that job? P7us-ue
{787~uE
(Does) (he) supervise or (is) (he) responsible for the work
? ' 7 )
of any other people? IF YES How many? Yes (number) (749 -~5z
No (rtng) [ 0000
(Is} (he) ... (READ OUT) ' : T (753)
. an employee
IF EMPLOYEE (CODE 1) ‘ or seif-employed? +g)
f} (Is) the organisation (he) (works) for ... (READ OUT ‘ F7s
} (ls) g (he) ( ) ( ) ' SUDQ@ e
... @ private Tirm, 237.6
a nationalised industry, 74
a local or central government organisation, i4-2
a charity, ©3
: Besrnakl ¥
(SPECIFY OTHER) Ofee non-covmadicloqtng ©-2
. : o oHher QoS o3
(ALL) N anSke o-2
What (does) the employer (or, if self-employed, (he) make
or do at the place where (he) usually (works)?
IF FARM, GIVE NO. OF ACRES ' .
(755
Including (himself), roughly how many people (are) employed S R49
at the place where (he) usually (works}) [from]? Under 10 (&©
10-24 %2
25-99 ¥k
100-499 /43

500 or mar ,
(Is) the job (READ OUT) ... Qﬁ“g%%%b%uﬁ?;w
' . full-time, (30 A%

-time? (10-29 hrs) 132
or part t1meNK& o @ni >

1-7
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ASK ALL

5. What was your age last birthday? Nor aeaeed 05
ENTER (757-58)
IF RESPONDENT IS MALE AGED 70+ OR FEMALE AGED 65+
OR IF RESPONDENT IS IN FULL-TIME EDUCATION (Q.52a)CODE cn)i SKIP TO Q.58 BELOW
FOR ALL OTHERS, ASK Q.57 I
7.a) May I check: during the last five years, that is since (7s8)
the middle of 1978, have yocu been unemployed and looking Skiped 163
. for a job- for a period lasting 13 weeks or longer? Yes A
IF YES (Coc.ie f-‘.x) Quosioa SR &g 62? >Q.58
b) Was this just once, or for two or more separate = Quasin SIA+B NA 02
periods in the last five years? Once q.g
2 or more times -
c¢) For how many months in total during the last five
years have you been unemployed and looking for a job?
ENTER: Months [ ’ (760~61
OR . Years
ASK ALL - SHOW CARD M _
8. Have you (or your husband/wife) been in receipt of
any of the benefits on this card during the last
five years? _
IF YES: Which ones? ' Child benefit (family allowance) 2383 (7s2)
CODE ALL THAT APPLY Maternity benefit or allowance 1G.8 (753
ST One-parent benefit G (78w
Family Income Supplement 4 (765)
State retirement or widow's pensien 203 (788)
Supplementary pension 3.6 (767)
Invalidity or disabled pension or benefit 4% (788}
Attendance/Invalid care/Mobility allowance 1% (769
¢ Sickness or injury benefit g4 (770
Unemployment benefit ‘1o [(771)
Supplementary benefit 130 (772)
Rate or rent rebate or allowance g (773)
Qther benefit(s) volunteered(SPECIFY) g-3 (779)
Sudak gmok . of
Othef DQﬂsm /sup@rannud(m qud -
(775=78"

NO, NONE 139 ’T

I




ASK ALL

Card 08

. 59.a) How old were you when.you left school (or &th form college)? f807-08Y
ENTER AGE
UNLESS NO SCHOOLING CODE 00 Had ”°S§.,°“%3_“gv9 at a” ©'1 00 Q.61
b) Where did you go to school, that is the last lfﬁOB\
school you attended, was it ... (READ OQUT} . in %hgxﬁ?K. ggg,
7 &2~
No o iod. o =. -8l
ASK ALL WHOSE LAST SCHOOL WAS IN U.K.(COOE 1)
60.a) What kind of school was your last school: for instance,
was it an elementary school, grammar school, comprehensive,
or what?
PROBE FOR FULL DESCRIPTION. IF UNSURE OF CODE, DESCRIBE AT OTHER fara-113
p e, b
rimary/el ary 7-3 +c)
Secondary modern 1715
Technical 29
Grammar S-b
Comprehensive (7-t
Direct grant 05
Grant or voluntary aided o-t7-0
Independent fee-paying (e.g. private or ‘public') 3> :
Junior secondary/Higher elementary 2.3+
Candinr carnandary .
Lo Lw=p N Y IR W | ac\.uuuua_y bl ' —.
Convent/church school (PROBE FOR TYPEW 2.5
Special school ©4% -+ c¢)
_ Other (GIVE DETAILS)# +-7
© Nov afswered O
UNLESS PRIMARY ONLY (CODE Q1) OR SPECIAL SCHOOL (CODE 12) fs123
b) Did you have to pass any kind of exam to Eijoaﬂ 225
get into that school, or not? Yes 243
No Qe _
Don't know/Don't remember ©7
(ALL U.K.) answesed v q
¢) Did you go to any school where your parents or
guardian had to pay tuition fees? f813)
IF YES: At primary level, secondary level, or both? Etﬂ%iaj N
| Yes - primary Tevel
Yes -~ secondary level 3Fi
Yes - both 39
No - neither %52
Don't Know/uonhiﬂfsmemu%;{ o

TR WA e e

T T S '—ﬁﬂiﬂjmi—ﬁm
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ASK ALL

51.a) Have you had (or are yt;'u now in) any full-time
higher or further education at any kind of college,

university or poiytechnic after leaving scheol or retey
later? IF YES PROBE: At a university or polytechnic,
or at ancther kind of college? No, never 7T4.%
RING ONE CODE Yes - in past - at university/polytechnic 9.1
Yes - in past - at other college 137
Yes - now -~ at university/polytechnic -1 '
Yes - now - at other college OB Q.62
g Still at school ol '
NOY  arewered o
IF CODES 1, 2, OR 3
’ b) Have you ever sent - or are you considering 818y
sending.- any children in your care to a Skip 2-4
fee-paying school? Yes - in past s.©
Yes - now -7
Yes - considering Wt
: No So-t
Never had children 153
o Nk ongueRd 135
ASK ALL - SHOW CARD N | SPARE (s16-20)
2. Have you passed any exams or got any of the Hos quolifaahons s25
qualifications on this card? PROBE: Any others? No, none ub-O fszz\
BRITISH QUALIFICATIONS CSE Grades 2-5 116 fezsy
CSE Grade 1, GCE '0' Tevel, Scottish (SCE) lower, School Certificate ‘2-© fazud
' GCE 'A' level, Scottish.(SCE) higher &7. (825
Degree 6-% (826}
RSA or similar clerical or commercial qualification &9 faz71
e e . . City & Guilds - craft/ordinary level fazsy
City & Guilds - advanced/final level 3-® (8297
City & Guilds - full technological V4.  (830)
ONC, OND, BEC or TEC ordinary/general 2.9 . re3y
HNC, HND, BEC or TEC higher level 2.2 feszy
Full apprenticeship qualification 2.9 ez
Teachers training gqualification 2.5 fassy
Nursing qualification o~ (%3%)
Other professional qualification (SPECIFY) < i
fazsy
Other diplcma/certificate (SPECIFY) 1.9
- [83173
OVERSEAS EXAMS/QUALIFICATIONS Any school leaving exam/certificate 1@ faze)
Degree ©© (8391
Other (post-schoal) exam/qualification (SPECIFY) o5 rasey




ASK ALL _
63.a) Do you regard yourself as

IF YES: Which one?

PROBE FOR DENOMINATION

_33_

belonging to any particular religion? (au1-u2y

No religion 255 -Q.64

Christian: No denomination -7
Roman Catholic n-§
Church of England/Wales, Anglican, Episcopal 4u.7
Church of Scotland 56 -
Methodist 4.7 ) :
¢ Baptist S
United Reform Church (UCR), Congregational -8
. Other Christian (SPECIFY) ' g
Non-Christian: Jerowns lavges o3
Hindu Q-5
Islam/Moslem o4
Sikh o
Buddhist —
Other Non-Christian (SPECIFY) o
IF RELIGION CODED (01-97) Nok angReeC o3
b) Apart from special occasions, such as weddings,
funerals, baptisms.and S0 on, F_low often nowadags - : ST s
do you a'.ctgnd services or meetings connected with - Strpoed 155
your religion? ' Once a week or more 12°C
. Several times a month 29
Less often but at least once a month 443
Several times a year 0.7
At least once a year 7.2
Less often than once a year 7-3
) Varies/Don't know A
never/prictienlly atsr 21
ALL RESPONDENTS
AR, {844)
64. CODE FROM OBSERVATION
Nor amuered o2
i) Ethnic origin: wWhite/European &3
Indian/E. African Asian/Pakistani/Bangladeshi/Sri Lankan -3
Black/African/West Indian &
Other (including Chinese) 3 _
.. [aus S\
1) Sex: Male 47-3
Female <21




Bé.a)

- 24 -

ALL 846067y
CODE WHETHER ACCOMMODATION IS .. Private household, A =b)
or Institution (SPECIFY TYPE) 05 Q.66
IF PRIVATE HOUSEHOLD (CODE A)
b) Do you - your household - own or rent this
(house/flat/accommodation)?: OWNS House 623 ]
CO-SENS Flat/maisonette l'%’.ff)
INCLUDE MORTGAGES AS OWNERSHIP _— i .
IF RENTED: From whom? RENTS FROM Local Authority - house 9% |
Local Authority - flat/maisonette 63 }e)
Housing Association -5
Private company/landlord 447 £)
OTHER (SPECIFY) 1.0
NCh werd o3
IF OWNS (CODE 02 OR 03 AT b)) oas (3o
— : —= Skipped 349
c) Have you ever been a local authority tenant? Tes  1z-i
Slcl - ‘-')
IF YES (CODE 1) NOY arg Sl 52
d) Were you a local authority tenant in this (8%93
(house/flat/accommodation) before your household Skippad 714 -
purchased it? es W . £
)
‘- No . ‘o
: ‘ ' Q 4
IF RENTS FROM LOCAL AUTHORITY (CODE 04 QR 05 AT b)) Nor answered o
e) How 1ikely is it that your househald will try to {850y
buy this house/flat from the local council in the Eﬁﬂppqd g
next 5 years or so; would you say ..: (READ OUT) ... very Tikely, Ll
quite likely, (< .
not likely, §O
or definitely not? -O-
(Negotiations already started) ©-2.
(Iaon't kncggi) 0.7
ALL (IN PRIVATE HOUSEHOLDS) NCF afswLes ol
f) Including yourself, how many people live here
with you as members of your household?
ENTER NO. fesi=:
(853
g) And how many of these are aged 15 or under? ENTER NO.
h) In whose name is this (house/flat/accommodation)
owned or rented? {85uY

Respondent and/or spouse only
Parent or parent-in-law

Other (SPECIFY IN FULL)

SPARE

f8ses



- 35 -

ASK ALL . fesse—-s7y’
66.a) Are you a member of a political Party? No G2.9
IF YES: PROBE Which one? DO NOT PROMPT Yes - Conservative u.0 - C
INCLUDE PEOPLE WHO HAVE TEMPORARILY - Labour 19 -
. C ™y
NOT PAID SUBS BUT INTEND TO. - Liberal o-6

- Social Democratic o.3.
- Scottish National mo.i 7 C

- P ai&u%ym\ru O-oF

) 1 -1
ORben (SRAOTFY) sdae. o
o

\

' [ S
IF_'LABOUR' (COOE 02) ?\\%}"% Oibsay
b) Are you a member of the Labour Party through a trade 2ripped  as-

union or did you join as an individual member? Inuw%. ]

IF '80OTH', RING CODE 1 ONLY

67.a) Just in case we need to clarify anything you've told

us, I'd 1ike to know whether there is a telephone in ress
(your part of) this accommodation? Yes =(4 - cC
IF NO AT a) (CODE A} No 184
b) Do you have easy access to a 'phone in this
building, where you can receive incoming calis?
DO NOT ASK ABOUT WORK ACCESS Yes - in building o=R.
Yes - at work (VOLUNTEERED) o.S§"
IF YES AT a) OR b) (CODES 1, 2 OR 3) | No Q@ ~C
c) What is your telephone number? ADD IF NECESSARY:
I should say it is very unlikely that anyone wiil f83s0)
'phone you. DO NOT RECORD NUMBER HERE BUT ON Skippad e
ARF ADDRESS SLIP ONLY. Number given 752
S-3:
el Aalieed U3
ASK ALL _ |
68. When the next general election comes' round - which is
1ikely to be in 4 or 5 years time - there may be : reasiy
another survey like this one. Would you be willing
to take part in it again? . Yes, willing ®4-0
N t willid Qg
Mo oSoerod® -3
(862— 641
TIME INTERVIEW COMPLETED DURATION (Minutes)
f865-661 (967-6-
DATE OF INTERVIEW 3 DAY MONTH

SIGNATURE | INTERVIEWER NUMBER




Head Qltxe
SOCIAL AND COMMUNITY PLANNING RESEARCH

35 Northampton Square,
and

THE UNIVERSITY OF OXFORD

— - London, ECIV 0AX,
Z4000 Telephone: 01-250 1866

P.921/1 BRITISH ELECTION STUDY PANEL (1)
Serial | Area | (New area
Number Number L number )

November 1986

Time interview started (24 hr. clock)

A

R

Col./ Skip
ASK_ALL Code } ta
1 Ve o
- d -1 ornin o fL L LT
l.a) | Do you norma.ly read any daily m ‘ g Yes | 712-9 b)
newspaper at least 3 times a week?
No 271 Q.2
IF 'YES' AT a)
b) Which one do you normally read?
IF MORE THAN ONE ASKX: Which one
do you read most frequently? Ci3i-32)
(Scottish) Daily Express =8 all
Daily Mail Q.2
Daily Mirror/Record 159
Daily Star 2-b
The Sun | 143
Daily Telegraph [ATR
Financial Times -3
The CGuardian -7
The Times 1% .
Morning Star -
Today 113
The Independent o7
Other Scottish/Welsh/regional or local daily morning paper
[;(SPECIFY) 3
Other (SPECIFY) 2%
ASK ALL
2. Would you say you care.a good deal which Party will
win the next general election or that you don't care %)
very much which party wins? (3
Care a good deal 73
Don't care very much {2677
NoF answered 0-2




3.a)

ASK ALL

The next general election will be in 1987 or 1988;

have you decided which party you will vote for in the Sk)ﬁ)@d'

E 1 election?
next general electi Yes (UNQUALIFIED)

% USE CODE 2 ONLY IF RESPONDENT Yes (QUALIFIED)*
VOLUNTEERS SOME QUALIFICATION - No, not decided

DO NOT PROBE Will not vote/unlikely

IF YES, DECIDED, (code 1 or 2 at a) Ner Qrt}:é)uvec‘)\ég

b) Which party have you decided to vote for? \pped

Conservagive

_ Labour

{IF "ALLIANCE' DO NOT PROBE (5DP/Lib) Alliance
FOR LIB. OR SDP) .

Liberal

Social democratic

Scottish National

. .Qther party (SPECIFY)

Refused to say

IF NOT DECIDED WHICH PARTY TO VOTE FOR (Q.3a code 3)

c) Which party do you think it is most

likely chat you will vote for in the Skippad
next general election? Conservative
' Labour

RING ONE CODE ONLY
(sDP/Lib) Alliance

Liberal
Social Democratic
Scottish National

Plaid Cymru
Other party (SPECIFY)

More than one Party being considered
Unlikely to vote/Don't know if will vote

Don't know (which Party)

(4)

Cai./
Code

Skip

to

€1 34)
4.

153
o8
O-|

!

 d
NG SRy

asiéis)

157
0o
35
25
o4
o2

Q-1

OFFICE USE

3G H3)




(Don't know)

G-

Cot./ Skip |
ASK ALL Code ta !
4. Which do you think would generally be better i
for Britain nowadays ... (READ OUT) filuby !
. S !
... to have a government formed by one political party on its own, 55 \
or to have a government formed by two political parties together - 323 "
(Don't know) 52 ;
ASK ALL = —
: . a) b)
5.a) Generally speaklng,_do you think of the Liberal S0
Liberal Party as being closer to the —_— | 22—
: - fiusy el
Conservative Parcty or closer to the Closer to
Labour Party? RECORD IN COLUMN a) Conservatives 4504 29-2
"b) ] And the Social Democratic Party, Closer to Labour | 24.0 ¢s-2
would you.say it was closer to the No difference/
Conservative Party or closer to neither iO- -2
the Labour Party? RECORD IN COLUMN b)
Don't kno 3.0 172
. NOF QiR (=2 Q-3
z) Considering everything the Liberal and
Social Democratic Parties stand for,
would you say that ... (READ OUT) i)
Nov answesed o-t
there is a great difference between them, -2
some difference, TP
or net much difference? -
{Don't know) -2
d) Now, cousidering everything the
Conservative and Labour Parties stand
for, would you say that ... (READ 0UT) 33
... there is a great difference hetween them, B4
some difference, 127
or not much difference? <-4
(Don't know) o1
NOr  anSwiesed Q|
6. Some pecple say that we should change the voting
system to allow smaller political parties to
get a fairer share of MPs. Others say that we
should keep the voting system as it is to
produce effective government. Which view comes N
closer to your own ... (READ OUT) Wy
' that we should change the voting system, A1-o
or - keep it as it is? sE4




(a)
Cot./ Skip
ASK ALL Code to
7.a) Generally speaking do you think of yourself
as Conservative, Labour, Liberal, Social
Democrat (IF SCOTLAND: Nationalist/IF WALES:
Plaid Cymrul}, or what? .
IF "ALLIANCE' PROBE: Liberal or Social Democrat? (1sa-s1) |risz=say_ '
ONE CODE IN COL.a) — 1
Y\ Ly d
</ uJ !
Conservative -7 .
19 B 3 ) |
Labour 150 Ot :
Liberal b 0.2
Social Democrat 33 o
Scottish Narionalist 0-% L c) ~ 24
Plaid Cymru Q-2 '
' 490 '
Other (SPECIFY) Skipped el
a) o.5 O-i
b)
Alliance (AFTER PROBE) o3, »
None/No R-& - - b
Don't Know Vgl b) ol Q.8
IF NONE/DON'T KNOW (CODE 00 OR 98 AT a)
b) Do you generally think of yourself as a little closer
to one of the Parties than the others? IF YES: Which Party?
IF "ALLIANCE" PROBE: Liberal or Social Democrat?
| ONE CODE IN COL. b) ABOVE i)
IF PARTY CODED AT a) OR b) ASK ¢)
f1suy
c¢) Would you call yourself very strong Skipped | V3
- ... (QUOTE PARTY FROM a) OR b), Very strong -9
i 7
fairly strong or mot very strong? Fairly strong 130
Not very strong (IR
Don't know 02
Ncy arswesed | o2
ASK ALL : SHOW CARD A OFFICE USE 155—59)

3. Please choose a phrase from |[Strongly Neither in Stroag DK/ |NCh
this card to say how you in in favour nor -1y Can' Q. mupd
feel about ... READ OUT favour favour against Against against say

. — o
a)] ... the Conservative Party? 10.2 324 19-b 241 152 O-b rison
b)| ... the Labour Party 193 N5 20-8 22 % (S 04 Py
e)} ... the Social Democrat
‘Barcy? 26 194 4o-3 226 W8 2 | 60y
d)} ... the Liberal pParty? U7 olTH T Us % (93 3y 2-3 (1831
IF SCOTLAND: .
e)] ... the Scottish National o b 2.3 3.0 c.9 oo |qo2
Party? 164
IF WALES: :
£) Plaid Cymru? oY 1ol 1-3 23 o ob A3L
(165"




ASK ALL c
- onservative | Lab i
g.a) | 1) On the whole, would you describe the = | 2our) Alliance
Conservative Party nowadays as {lesY 167 (168
... (READ OUT) - - - |
. extreme, 5"‘-"?— f‘l'i ._5—_'7
ii) And the Labour Party or moderate? 6.5 3183 753
nowadays, is it .,. ,
_ (READ OUT) {(Neither or both) 4. Ty 63 - |
] .
iii) And the SDP/Liberal (Don't know) G-u 52 37
Alliance, is it ...(READ OUT) 3
7
b | 1) And would you describe the Cloed (v79) 1)
Conservative Party nowadays .
as ... (READ 0OUT) united, 513 270 32.%
ii)  And the Labour Party or divided? u Q- &g 450
nowadays, 1is it . 5.
(READ OUT) (Neither or both) 33 5 4 -9
. (Don't know) 3.3 37 13-9
iii} And the Alliance,
is it {READ OUT)
cy | i) On the whole, would you L7} (173) )
describe the Couservative i
E Party as (READ 0OUT) : o 572 13,2 ﬁ
. . .. Lo i ' ‘
ii) And the Labour good for one class, !
Party, is it or good for all classes?| , 3%5 322 544
+» - (READ OUT) (Neither or both) 3,Ci i 7L -5
11i) dnd the A%ggcgém (Don't kmow)| 1-% - a4 || e
N NCY qoswered o4
- od) | 1) Do you think the (17s) W‘ Gt 0a7) 178~
e Conservative Party |
has ...(READ OUT) clear policies, 135 508 25.2 .
ii) And the Labour or vague policies?| U-B V-8 1 ST.3 ‘
Parry, does it have . R
- - (READ OUT) , (Neither or both) 2.3 RS L g2
- iii) And the Alliance. (Dou'c know)) 24 % 3-2
J does it have ...(READ 0OUT : .
) c. (207 -410) (zieg) |28 - %)
10. Now I'd like you to think N " | -b) _ <)
- about your feelings when Consqrual:!.ve \ooous {lAllionce
I mention the Parties: ... Proud? Yes 3%-3 250 Ieg :
No 0O 126 1B
- - L Q.2
) P wa |0 93
a)-c)|Has the ...(EACH IN -
TURN) Party, ever made --.Disgusted? Yes 5%b i: . 511 7{ Qe
you feel ...,(READ oUT No 4o.0 Ho$ || ®O-b
FEACH WORD)? WOk aned - i - | o
NIZlon't: knOQS 1-4 1-b : 9.7
QO o.NSWeS — O o-2
IF NECESSARY, EXPLAIN ... Afraid? Yes 219 ! oo 69
.+. because of something No 668 | S%-2 | B3-6
it has done or something ; : 9-3
(- -7t
it says it will do. Don't know 23
.«. Hopeful? TYes 30 “9 3%9
No $u-b sb3 $0-8 l}" )
] Q-2
Don't know Vo ‘_7 lo-i y
NoY answered! ©:2




—
ASK ALL - SHOW CARD B Col.
11a) Looking at this card, Very Fairly Fairly Very Don't
on the whole how effective effective ineffective ineffective know
effective or in-
effective do you think
Mrs Thatcher is as
a prime minister? £319 331 §5 &-7 0.7 219y
b)! And on the whole how -
effective or ineffect-
ive do you think Mr
Kinnock would be as a
prime minister? &.9 12 0.4 1277 2.8 {2203
c¢)| How about Dr. Owen? iS5 e | ig.5 67 8.9 (2211
d) And Mr Steel? (J‘L‘- S’
4s 55 ) 1-9 (2223
SHOW CARD C None/
- Mrs Mr Dr Mr Don't Nov \
12. Still thinking of these four Thatcher Kinnock Owen Steel know QOIS
Party leaders, which one do
you think would be
.. {(READ OUT) ...
a)l ...the prime minister most likely
to get things done? SB-QA 203 33 65 45 o}‘zza\
b))} ...the one most likely to improve
L . ; .
Britain's standing abreoad? w2 1537 Q75 26 -D{tzzn
)l the one with most concern for all o
groups in society? 2Dt B4 79 204 17 5 rhn
a) b) c) d)
SHOW CARD D Mrs Mr Dr Mr
132) Which of the qualities Thatcher | Kinneck |Owen Steel
on this card would you
say Mrs Thatcher has:
choose as many as you . L 228 Af235 P
think apply? Caring [iOM (228 Mgnf235) Y24 4144425
Determined Q-4 2271 BS70236) X771 25 SHHST254Y _
. wf228 10237 1377248 55
b) -d)| REPEAT FOR OTHER Shrewd sg-q-( Y {2227y (3TY 1;21-4(2 b
THREE LEADERS Likeable as a person |63 (229) |52-.0/238) [y(.gf20 70582581
IN TURN Tough 9 (230 [gar239) h|yl2weg.3r257)
Listens to reason [7-g (231) [¥@3/240) 3237243 Yymgl258)
Decisive {sq.uf?32) |1-8(2%1) aa-9 280 tber259)
Sticks to principles f&% (233 |20.gf242) |28 7251 34ef260)
__________ e e e e e
NONE OF THESE |O-b (27%) 50102431 39252 agzeny
Don't know {©:sl| 335 I5s 126




ASK ALL . - 5 : 5
1 ; : c
t4. | Now L7d like you to think Mrs Mr pr. | Mr
;U;‘;;tj::‘- t.;ll‘.ecl.s.u.ﬁa WLL L 'I'hatc'ngr Kimock Owan SteEl
i 762 266 ; ‘
Party leaders: (262) (288) 279 (z74)
a) - d)|Has ... (EACH LEADER -+ Proud? Tes L3 22-2 17.2 |, 16
IN TURN) ever mada you No St .5 752 M3y T
feel ... (READ OUT EACH o -5 53 2.1
D t k
WORD) ? rc\)\g'r arsea o) Sl § O3
(263) (287) (271) (273)
... Disgusted? Yes S5 25 4 72 5.2
No 413 72-4 Y-S | g7.2
Don't kno&i o9 é: Z)-(’o g—i\
EXPLAIN IF Nk AR
HECESSARY: (26n) (258) (272) (276)
because of -« Afraid? Yes 34O 275 &9 w7
something she/}}e No 6S-2 106 Ty b o |
has done or said. en! o VR <9 &8
J\Hf G,m: xr)\o‘“ O Q- b O’g
_ (265) (289) (273) (277)
«.. Hopeful? rYes q37- Q-2 382 Loy
No S-S © Ser3 syl su-b
© o1 \- B 52 7-8
SFafiiTodl o o) 03 | o3
SHOW CARD E
. . {278=8¢
15a) Since the last general election, in June 1983, would you
say that prices have increased a lot, increased a little, sp
stayed the same, fallen a little or fallen a lot? o3 ‘03
Increased Increased Stayed Fallen Fallen Don't
a lot a litrle the same a little a lot Know
-— . - - P — P !
(PRICES) 515 3%.9 1-3 O-u 02 05 r3t
H
b) | What about unemployment? 15 159 37 16 0.9 -t rar
?
c) Taxes? o) 303 212 274 oS 92 3
o B {
d) Your own standard of . ¢
living? 56 15-b it 179 O Oy
e) | The general standard of - €
]1v:1_r_1er" S'-] b 2‘-{»-5 2 7-5’ 13-4 3 s (3:
£) | The standard of the health . ?
and social services? 24 1l 138 8-3 337 3.0 fj(;
g) Crime? 101 9.9 u9 )-O 2-5 QB ri::
h) - Strikes? b w7 1S | 296 247 T
i) |The quality of education? 1-9q 4“'5’ 172 247 53 s.q ,?:




Col./ Skip
ASK ALL Cade to
16. Some people say that British governments nowadays — of
whichever party — can actually do very little to change
things. Others say they can do quite a bit. Do you
think that British governments nowadays can do very
little or quite a bit ... (READ OUT)
Very Quitce Don't |NCk
Little a bict know ansuerQ
O
a) ...+. to keep prices down? A0 674 I-b f1163
b) And can British governments nowadays do very 0.2
lictle or quite a bit to reduce unemployment? 3241 S-S 2-2 EERA
") And to reduce taxes? 23.0 21 y.-2 Pl'lla\
R o2
d) To improve your own standard of living? 40.b Shrd 255 (3193
oM O
e) To improve the general standard of living? 334 733 24 fizen
And can British government's nowadays do very
little or quite a bit... 0.3
£) to improve the health and social services? B 332 o | a2y
o2
g) To reduce crime? 4.0 73-1 2-b r3223
h) o
To prevent strikes? 24-77 bW -4 2 r3zsy
i) And to improve the quality of education? - 89.2 2.2, Drf'zu\
17. There's a lot aof talk these days about nuclear weapons.
a) Do you think that the siting of -
American nuclear missiles in Britain a) B)
makes Britain a safer or a less American{ Own
safe place to live? nuclear |nuclear
CODE IN COQLUMN a) missiles |missiles
: {323) f1xg}
b) And do you think that having our own Safer 436 S -b
nuclear missiles makes Britain a Less safe 44 239-4
safer or a less safe place to live?
CODE IN COLUMMN b) | Don't know | 1@ 6.9
SHOW CARD F No differoce [ -O o
— Nov amswerd | o.2 ©.3
c) Which of these statements comes closest to what you
yourself feel should be done? 1If you don't have fiz7
an opinion just say so.
Britain should keep her own nuclear 215
weapons, independent of other countries
Britain should have nuclear weapons 4G
only as part of a Western defence system :
Britain should have nothing to do with
- 153
nuclear weapons under any clrcumslances :
No opinion/Don't know 50
nNor answered| o3




Col./ Skip
ASK ALL Code to
18, . On the whole, do you think that Britain's fizsy
interests are better served by ... (READ QUT) -
... closer links with Western Europe 559
or — closer links with America? 24
(Both equally) 4
(Neither) 21
(Don't know) s-4
NOY answe s O-
ASK ALL - SHOW CARD G (329)
19, What are your views on nationalisation, please tell me from this
card which of the four statements comes closest to what you think
should be done, or say if you can't choose any?
A lot more industries should be nationalised | S8
Only a few mwore industries should be nationalised | 149
No more industries should be nationalised, but | .3
industries that are now nationalised should stay nationalised
Some of the industries that are now nationalised 271
should become private companies
Can't choose/Don't. know | 9
Nov answered Q-2
20, Thinking now of trade unions and big business in this country: 5
{330
a){ First do you think that trade unions ... (READ ouT)
NOV answesed | ©-2
have too much power, S0-0
or not? | 439
. (Don't know) 39
b)|Do you think that big business in this country (READ OUT) ... (334)
has too much power, b3-2
or not? 294
(Don't know) 73
ok onsiered | o4
. (332)
¢) |Do you think that foreign companies should
be encouraged or discouraged from taking
over industries inm Britain? Encouraged 110
Discouraged <SEO
Depends on the industry/circumstances -3
Don't know 31
Nov arsweed | O




Cal./ Skip
Code 0
ASK ALL
1. Do you think the govermment should or should not do each
of the following things, or doesn't it matter either way
... (READ OUT) ’
Should Doesn't | Don't [Mcv
Should not matcter Know CARLR
a) ... Pull British troops out of Northern %
Ireland immediately? 42 4%-0 3-Q § (3133 o
23
b) ... Spend less on defence? 1% b LS -8 r33uy oz
<) ... Get rid of private education in : 11
Britain? 1S$-O 156 14 % (335 °3
d) Do you think the govt. should or should
not ...
... Spend more money to get rid of o ~ 30
‘ poverty? vo'e 43 -2 Frazey | L
c) ... Encourage the growth of private ] 5.0 ot
medicine? 36O 535 S 4 (337)
£) ... Put more money into the National . b
Health Service? A3-) Y-S b § (3380 o2
Do you think the govt. should or should
noL .-
2) ... Introduce stricter laws to regulate ug-2 P 46
the activities of trade unions? 440 A & 339 0.2
h) ... Give workers more say in running 23
the places where they work? e 200 -9 4 rauoy o2
i) ... Reduce fares on public transport 29 .
by subsidizing them? 0.9 302 (FRPTR ' RELER! O
. . 2-3
i ... Spend more money omn gducatlon? <97 &1 bt |02
HAND SHUFFLE PACK {RANDOMLY SHUFFLED)
5 People have different views about what are the more important things
for the government to LTY and do. Please would you sort these cards
into order from the most important to the least important thing that
you think the government should try and do?
. ENTER
ASK RESPONDENT TQ HAND QRDER
' CARDS BACK TO YOU, ONE AT (01-09)
A TIME IN ORDER FROM MOST
TO LEAST IMPORTANT Keep prices down l 363 —u)
Reduce unemployment ‘ 3145561
Reduce taxes [ Y34 T ~48)
Improve your own standard of living [ 3149 -50)
Improve the general standard of living | [351-~52)
Improve the standard of health & social services I r353=5%)
Reduce crime | [355~56)
Prevent strikes ! 357=581
Improve the qualicty of education l 359-60)
Don't know at all (RING) 98 r161-621
IF 'DON'T XNOW' FOR SOME ITEMS, ENTER
98 TN THOSE BOXES. (CHECK ALL ENTRIES) .




- 11 -

| ASK ALL ) i Sop
23. Please say whether you agree or disagree with Code to
each of these statements, or say if you are
not sure either way .... (READ QUT) Not Nov _
Agree Disagree sure O.ﬂSJQFQd
a) ... The government should spend more O
money to create jobs? {03 Sb {3613
b) ... Income and wealth should he
redistributed towards ordinary )
working poeple? s3 219 42 YT
Do you agree or disagree that ... '
c) the police should be given more power? | Y-l 4135 7y {365
d) ... Britain should bring back the death -1
1=, .5, _2‘__-q &1 £y m e
penalily: o i RN
el People who break the law should be o
given stiffer sentances? 8554 12 6% (3673
C£) ... The government should spend more on o
. overseas aid? PR 6329 1204 368
SHOW CARD H
24, If you had to choose from among the items on
this card, which are the two that seem most {36 93 fiza)
desirable to you? RING ONE CODE IN EACH COLUMN
dse 20d
Maintaining order in the nation |y Q.S-b
Giving people more say in important political decisions 1S - 138
Fighting rising prices 1S 266
Protecting freedom of . speech 158 2%y
pPon't know at all [O8»Q.25077
No second choice Q- P
Skeippen) ok
25. There are some people whose views are
. L {371
considered extreme by the majority.
. : : o-2
‘.a) jConsider people who wish to overthrow the oY O'rgeg?d .
system of government in Britain by
revolution. Do you think such people No R
should be allowed to hold public e f e 9.
. . - Ol L KILIlUW Rl
meetings to express their views? TV
b) |Now consider people wha say that all blacks Yes $3-9
and Asiansg should be forced to leave Britain. No TN
Do you think that such people should be
allowed to hold public meetings to express Don't know G4-S
their views? [\D\r amgj O




Col./ Skip
ASK ALL -~ SHOW CARD I Cade 10

5. Please choose a phrase from this card to say
how much you agree or disagree with the
following statements ... READ QUT a) - c¢)

BELOW AND RING ONE CODE
FOR EACH Neither
agree
Agree nor dis Dis- Disagree { (Don't |™ -
stronaly Agrsg -0O7@8  afr@@ gko0gMy know) {0aSw&rdl

a) Generally speaking, tho:
we elect as MPs lose touch IS0 $3.3  1bg 13-q O-4 \-S o2
with people pretty quickly. 373

b) Parties are only inter- ‘

¢ asted in people's votes, not Ty SO0 4 2H.2 b 0.8 S
in their opinions. 3743

c) .. It doesn't really matter :
which party is in power, in : q.2 1.9 a. -
the end things go on much 138 389 37 3 “ ©-2
the same.

f375)
ASK ALL - SHOW CARD J "

7. I want to ask now about some changes that have ’[
been happening in Britain over the years. I
each one I read out can you say whether you ’
think it has gone too far, not gone far enough, |
or is it about right. ‘

a) | Thinking first.at.:out attempts to give Gooe ™0 Aoy N gpnd ‘mn'vm gxr(
equal opportunities to women in fos ol r iah L &p . S
Britain. Would you say they have gone i ;
too far, are they about right or have gb 5.3 3i-3 0O :O—_':‘;
they not gone far enough? ................ (3761

o3

b) The building of nuclear power stations? 3%-3 46's G- 55 iravﬂ

¢) | Allowing the sale of council houses 1 a2
EO tenants? ...ttt ettt 1%-1 $G-2 20-5 24 r3zsy

¢ Attempts to give equal opportunities to ) ) O

N black people and Asians in Britain? ..... 276 uds 239 Y& 1379

e) The availability of e'lbOStion on the s <03 2.3 a6 |o3

‘ National Health Service? ................ - - 3807

f) | Attempts to protect the environment G - C.04
and control pollution? ........e.couu.... 9 1%-3 6 2 {407y

‘ 103y

g) |Attempts to give equal opportunities

to gay men and lesbians in Britain? ..... 554 261 &8 W [jO-3




c)

@

e)
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Defence Scale

ASK ALL

One political issue is whether government should keepor

rid of nuclear weapons in Britain.

SHOW SCALE CARD 1 AND GIVE PENCIL

OFFICE

USE
(409

1F NECESSARY

(Letter J) — POINT TO BOX J AND STATEMENT.
who hold views that come somewhere between those two positions will tick
a box somewhere along here — POINT TO BOXES FROM LEFT TO CENTRE - or
somewhere along here — POINT TO BOXES FROM RIGHT TO CENTRE. RE-EXPLAIN

Please look at this card. People who are convinced that we should get
rid of all nuclear weapons in Britain without delay will put a tick in
the last box on the left (Letter P) — POINT TO BOX P AND STATEMENT -
while those who are convinced that we should increase nuclear weapons in

Britain without delay will put a tick in the last box on the right

Gt

So, as you can see, people

First, would you tick the box anywhere along
the scale that comes closest to your own
views about nuclear weapons in Britain.

Now where do you think the Conservative and
Labour Parties stand:

First the Conservative party. In the next
row of boxes, put a tick in the box that
you think comes closest to the views of
the Conservative Party.

Now in the next row please put a tick in the
box that you think comes closest to the views
of the Labour Party

And finally, please tick the box in the
last row that you think comes closest to the
views of the §SDP/Liberal Alliance

Now please tell me the letters of the boxes
you ticked: the first row? second row?
third row? fourth row? RING CODES IN GRID

e) CODING: RING ONE IN EACH COLUMN

(a)

Own

{b)

Con

(c)
Lab

(d)
Allce

v o v
u

INTERVIEWER NOTE:

You may change any code already ringed, if on
reflection, a respondent wants to change his
or her mind. Ensure that the final entries
are quite clear in grid and on scale card.

If asked , you may confirm that letter Q is
the central position.

——— " — - o]

D

Left of P =
Right of J =

furg-=123f4L3-

r— - ——

b o - —

— i [ — —

b - — — -

on't know =

e e ——— ]

L8{(416-ud|fr13-21)

I e N S

QFFICE USE

Ger rid

Increase

[x1de09(xoa[x07ixoafkos[xoalxoz1xosz01[000100110021003[00410051

006 J007 [008]009]010f

P wW € M S N F R .V D Q

B K T Y E

L

U H

¢ I



29. ASK ALL
Another political issue concerns inflation and unemployment.
SHOW SCALE CARD 2
Please look at this card. People who are convinced that getting people
back to work should be government's top priority will be put a tick
in the last box on the left (Letter P) - POINT TO BOX P AND STATEMENT -
while those who are convinced that keeping prices down should be the
government's top priority will put a tick in the last box on the right
(Letter J) - POINT TO BOX J AND STATEMENT.
So, just as before, people who hold views that come somewhere between
those two positions will tick a box somewhere along here - POINT TO
BOXES FROM LEFT TO CENTRE - or somewhere along here - POINT TO BOXES
FRCM RIGHT TO CENTRE.
a)| First, would you tick the box anywhere along o) CODING: RING ONE IN EACH COLUMN
the scale that comes closest to your own ) b) (c) (d)
views about unemployment and inflatiom. Own Con Lab Allce
fu22=~24) Jruzs~27y|fu2e~3ore3l—33y
Now where do you think the Conservative and B = 001 001 001 001
Parti tand:
Labour Parties stan c - X08 %08 %08 %08
b) | First the Conservative party. In the next b __= XOi___ X01_ _j_X01 | _30}'
row of boxes, put a tick in the box that | T T T[T T A Y
you think comes closest to the views of E =005 005 005 005
the Conservative Party. F = X04 X04 X04 X04
c}| Now in the next row please put a tick in the ---9---f-992-~T—992----992--~--992--
box that you think comes closest to the views H = 008 008 008 008
L
of the Labour Party 3 = 010 910 010 010
d) | And finally, piease tick the box in the K___=_002__] 002 002 | 002
last row that you think comes closest to the [ . _ = 17 2" 7~ T o
views of the SDP/Liberal Alliance L = 006 006 006 006
M = X07 Xo07 X07 Xo07
e) | Now please tell me the letters of the boxes _
you ticked: the first row? second row? r__§___:_§9§____%9§__J_§9§__4__§9§__
third row? fourth row? RING CODES IN GRID P = X10 X190 X10 X10
Q = 000 000 0C0 000
_R__=x03 | x03 [ x03 ) X03__
8§ = X06 X06 XG06 X06
INTERVIEWER NOTE:
You may change any code already ringed, if on T =003 003 003 003
reflection, a respondent wants to change his U __=_007__ _007__].007__1| 007 __
or her mind. Ensure that the final entries ottt -2 i —2 - 2_ - %02
are quite clear in grid and on scale card. v o=x0 X0 X0
1f asked , you may confirm that letter Q is W = X09 X09 X09 X09
the central position.
SASRIIEL PR ¥ =004 | ooe | o0& | 004
Lefr of P = X97 X97 x97 X97
Right of J = 097 097 097 097
Don't know = (098 098 098 098

- 14 -
Unemployment and Inflation Scale

OFFICE USE

Back to work ' Prchgrgg%r
xiﬁ1xoglxo£130713061x05T10£]x03[xonx01[ooo]oo;JoozTooslooaloos100610071908 009]010

W € M S N F R V D qQ B KK T Y E L U H

G

J



- 15 -

Taxation and government services scale

39. ASK ALL
Another issue is to do with taxes and government spending.
SHOW SCALE CARD 3
Please look at this card. People who are convinced that we should put
up taxes a lot and spend much more on health and social services will
put a tick in the last box on the left (Letter P) - POINT TO BOX P AND
STATEMENT - while those who are convinced that we should cut taxes a lot
and spend much less on health and social services will put a tick in the
last box on the right (Letter J) - POINT TO BOX J AND STATEMENT.
80, just as before, people who hold views that come somewhere between
those two positions will tick a box somewhere along here -
POINT TO BOXES FROM LEFT TO CENTRE - or somewhere along here - POINT
TO BOXES FROM RIGHT TO CENTRE.
a) i;rst, would you tick the box anywhere along e) CODING: RING ONE IN EACH COLUMN
the scale that comes closest to your own
views about taxes and government spending. (2) (b) (e) (d)
Own Con Lab Allce
f434=36) [(437=39Y b4 o=t 2] [t 3=is 5
Now where do you think the Conservative and B =001 Q01 00l 001
b ti tand:
Labour Parties stan c = X08 %08 X08 X08
b) | First the Conservative party. In the next D __= X0l J X0l _ __391__J__§Ql‘_
row of boxes, put a tieck in the box that | ~ 777 : ------------
you think comes closest to the views of E =005 005 005 005
the Lomservative Party. F = X04 X04 X04 X04
c)| Now in the next row please put a tick in the ___9___3_992____992__.,992__1__992__
box that you think comes closest to the views H = 008 008 008 008
of the Labour Party . e e nn e
3 = ULY Uit Uivu Ulu
d) | And finally, please tick the box in the E = 002 002 002 002
last row that you think comes closest to the [Tt VIR BV AUV
views of the SDP/Liberal Alliance L =006 | 006 | 006 006
M = X07 x07 X07 X07
e) | Now please tell me the letters of the boxes _
you ticked: the first row? second row? __-E_-_:_KQ?_-__392,_4,§9§_~___¥9§__
third row? fourth row? RING CODES IN GRID P = X10 X10 x10 X10
Q = 000 000 000 a00
SRz X033 X03 ) X03__ | | X03_.
S = X06 X06 XG6 Xo6
INTERVIEWER NOTE: -  nmn e A R
You may change any code already ringed, if on TN b i vue
reflection, a respondent wants to change his U = 007 007 007 007
or her mind. Ensure that the final entries | |~~~ ~°° I D |
are gquite clear in grid and on scale card, v = Xoz X02 X02 X02
If asked , you may confirm that letter Q is ¥ = X09 X09 X009 X009
the central position.
S Y =004 [ 004 ] 004 | . 004 _
Left of P = X97 X97 X97 x97
Right of J = 097 097 097 097
Don't know = 098 098 098 098

QOFFICE USE

Services up

Taxes down

|x10|x09|x08|x07]x06|x05|x04|x03[x02|x01|000|001|002]003|004|005]006|oo7|ooa|009 010

P W ¢ M S N F R V D Q

B

K

T Y E L U H G J
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Nationalisation/privatisation scale

31 ASK ALL
There has been a lot going on recently about nationalisation and privatisation.
SHOW SCALE CARD 4
Please look at this card. People who are counvinced that we should
nationalise many more private companies will put a tick in the last
box on the left (Letter P) -~ POINT TO BOX PA AND STATEMENT - while
those who are convinced that we should sell of many more natiocnalised
industries will put a tick in the last box on the right (Letter J) -
POINT TO BOX J AND STATEMENT.
S0, just as before, people who hold views that come somewhere between
those two positions will tick a box somewhere along here - POINT TO
BOXES FROM LEFT TO CENTRE - or somewhere along here - POINT TO BOXES
FROM RIGHT TO CENTRE
a)| First, would you tick the box anywhere along
e) CODING: RING ONE IN EACH COLUMN
the scale that c?mes‘Flosgst to-zouf own . %) % o) (d)
views about nationalisation and privatisation. N i e e
Qwn Con Lab Allce
fale=48Y [fuu9=51Y|fu52-54Y455~57
Now where do you think the Conservative and B = 001 001 001 001
Labour Parties stand:
. c =x08 | x08 |x08 | x08
b) | First the Conservative party. In the next D = X01 X01 X01 X01
row of boxes, put a tick in the box thuec = {7°°°°° T | PR P B
you think comes closest to the views of E = 005 005 005 005
the Conservative Party. F = %04 X04 X04 X04
c)| Now in the next row please put a tick in the L.-6...z.008 L 003 _1.009__1__ 003__
' box that you think comes closest to the views H = 008 008 008 008
of the Labo Part
2y J =010 | olo | o0 010
d) | And finally, please tick the box in the K = 002 002 002 002
last row that you think comes closest to the [~ - ~7 """ 7 =" frmommmgm oo oo oqens s
views of the SDP/Liberal Alliance L =006 006 006 006
M = X07 Xo7 X07 X07
e) | Now please tell me the letters of the boxes .  wne o o o
you ticked: the first row? second row? S A . 3° NN . 4= 3= S P 0|
third row? fourth row? RING CODES IN GRID P = X10 X10 X10 X10
Q = 000 000 000 000
B = Xx03 [ X03 1.X03__|__ 203_
s = X06 X106 XGeé X06
INTERVIEWER NOTE:
You may change any code already ringed, if on T = 003 003 003 003
reflection, a respondent wants to change his U__ = 007 007 007 007_
or her mind. Ensure that the final entries IR A A ; ----- %02 h
are quite clear in grid and on scale card. v = X02 X02 X0
If asked , you may confirm that letter Q is W = X09 X09 X09 X09
the central position.
P _Y.__=004 )| oos | oos | 004
Left of P = X97 x97 %97 X97
Right of J = 097 097 097 097
Don't know = 098 058 098 098
OFFICE USE
Privatise

Nationalise
|X10|X09|x08[X07[XOGIXOS]X04|X03|x02|X01|000[001|002{003|004|005]006I007|098|009|010l

P W C M S N F R v D Q B

K

T Y E

L U

H G

J




- 17 - Cal./ Skip
CLASSIFICATION Code | to
ASK ALL
Finally, a few questions about yourself and
your background.
SHOW CARD K
322) Which of these descriptions applies to what you were doing last -
week that is in the seven days ending last Sunday? PROBE: Any
others? CODE ALL THAT APPLY IN COLUMN I
IF ONLY ONE CODE AT I, TRANSFER IT TO COLUMN II
IF MORE THAN ONE AT I, TRANSFER HIGHEST ON LIST TO ITL s a s
i I I
¢ In full-time education (not paid for by employer, |
including on vacation) A 03 ! Q.33
On government training/employment scheme (e.g. Community
Programme , WEEP, YTS, etec.) B 01 »| b
In paid full-time work (or away temporarily) .
for at least 30 hours in the week c 503
In part-time paid work (or away temporarily)
for 10-29 hours in the week -0 c)
Waiting to take up paid work already accepted 02
Unemployed and registered at a Jobcentre/
emp loyment office E 3u
Unemployed, not registered, but actively looking for a job 03
Unemployed, wanting a job {(of at least 10 hrs per week),
- but not actively looking for a job H o4
Permanently sick or disabled J 35 b)
Wholly retired from work K 150
Looking after the home L. 139
: Doing something else M Ot
IF CODE 02, or 05 - 11
‘ b) How long ago did you last have a paid job (other than
the government scheme you menticned) of at least 10 ) {4ho0)
. hours a week, excluding Saturday or holiday jobs? Ski 61-q
Nok amsweren Ot
Within past 12 months 3k
Over 1-3 years ago | 4-¥
Over 3-3 years 3g0 43 )
Over 53—-10 years ago 3 N
Over 10-20 years ago 5
Over 20 years ago 02
Never had paid job of 10+ hrs a week i-Q Q.33
{ IF CODE 03, 12, 04 AT a) OR CODE 1-6 AT b) ) Qxi
Yes — now 275
c) Are you now, or have you ever been, ves - used to be 31-2 -
a member of a trade union? No 2% b
Nar QﬂS,h.}Qf@ 0]
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Cal./ Skip
ALL Cade 1o
33ta) | INTERVIEWER CODE: Sex 462y
Male 49.7
b) ASK: What was your age last birthday? Female | 903
ENTER fid-bu)
IF RESPONDENT 1S MALE AGED 70+ QR FEMALE AGED 65+ SKIP TO Q
OR_IF RESPONDENT IS IN FULL-TIME EDUCATION (Q.32a CODE Q1) { =2
FOR ALL OTHERS, ASK Q.33
34.a) | May I check: during the last three years or so that is (1)
since the middle of 1983 have you been unemployed and
looking for a job - for a period lasting 13 weeks or Skipped | 116
longer? Yes A
: IF_YES (Code A) | 703 | Q.37
b) Was this just once, or for two or more separate Do’y knowt -3
periods in the last three years? Once %0
. \-b
c¢) For how many months in total during the 2 orNgorgnézwl% 2-2
last three years have you been unemployed Sk Q0.2
and looking for a job? Not andesed 0.5
ENTER MONTHS | (Wbly-57)
ALL (ubitr) |
38a) CODE WHETHER ACCOMMODATION IS ... Private household |- A > ! b)
or Institutiom {SPECIFY TYPE) O +|Q.38
IF PRIVATE HOUSEHOLD (GODE A) 77777
~ — . - - 2 |
b) Do you ~ your household - own or :
. . ” .
rent this (house/flat/accommodation)? . OWNS House -—“,1} | )
or . e
(INCLUDE WITH MORTGAGE) CO~OWNS Flat/maisonette -8
IF RENTED: From whom? RENTS FROM: Local Authority - house 13-l i
Local Authority - flat/maisonette SO ’g Q.36
Housing Association 20 '1
Private company/landlord 3 {1 Q.37
Other (SPECIFY) 1-7 l
R wTa) !
IF QWNS (CODE 02 OR 03 AT b) Sk 261§
) NOk Q-
c)} Have you ever been a local authority tenant? V-2 d)
&0
IF 'YES' (CODE 1) AT ) @y .37
d) Were you a local authority tenant in this S‘Q’Q(Xﬂ h-1=T1 £
(house/flat/accommodation) before your household &8 $1
purchased it? 15 e}
(w72
IF 'NO' (CODE 2) AT d) Stipped | 925 |-
%)
e) Have you ever bought a council house or flat Tes © £)
that you were living in? No - Q.37
IF 'YES'AT d) or e) (@72-1%)
£) When did you buy it? ENTER 19 »| Q.37
Month Year




- 19 - Cal./ Skip
. Code to
IF RENTS FROM LOCAL AUTHORITY (Q.35b CODE 04 OR 05)
36. How likely is it that your household will try to (4779
buy this house/flat from the local council in the )
next 5 years or so; would you say ... (READ OUT ) ... Sktppzcl B1-8--
. verv l1ilal. a1 ,
LAY ¥l LinCLiy, L™ s |
quite likely, (R
not likely, | 2% [
or definitely not? 124
(Negotiations already started) o-4
(Don't know) o
37. | ASK ALL IN PRIVATE HOUSEHOLDS (i.e. ALL EXCEPT Q.35a CODE 01) C478)
- In whose name is this (house/flat/accommodation) ) 06
owned or rented? :
. Respondent and/or spouse only 2|67
Parent or parent-in-law I1-5
Other (SPECIFY IN FULL) 37 |
: e - Noansweed.| e
ASK ALL
38. Which party did you vote for in 41 -%0)
the 1983 general election or
perhaps you didn't manage to vote
in that election? Conservative (TR PR
Labour 258
(SDP/Lib.) Alliance | 6§
Liberal Q-1
Social Democratic 1-1
Scottish National o
Plaid Cymru 0-3
Other party (SPECIFY) ol
Refused to disclose voting SRl
Did not vote in '83 10-4
’ Can't remember 2-4
Nor answeed 0-\
3s. Do you, or your husband/wife/partner own any c.os l
shares quoted on the. stock exchange, including tso) !
unit trusts? Yes 29-3
No 70-3
— Nor aswerd ! oS
i



Card 05

- 20 - -
Col./ Skip
ASK ALL ) Code to
40.a)] Is there a telephone in (your part of) this (508
accommedation? Yes 292 c)
IF NO No 106 b)
Y answed] 02
b) Do you have easy access to a 'phone where Not ans éEVQL
you can receive incoming calls? Yes éuﬁ%ﬁe )
<
Yes — work* 0_7
IF YES AT a) OR b) No $2 | Q.41
N P R | ~ . 2
c) A few interviews on any survey are checked O Aibdal) = o
by a supervisor to make sure that people
are satisfied, or if somethingneeds clarifying.
In case my supervisor needs tocontact you lt 3
would be helpful if we could have your (sto
telephone number. S\dm %-b
RECORD HOME (OR WORK) NUMBER NoY aswesed | 16
ON ADDRESS RECORD FORM {(NOT HERE) Number given 26-9
* DO NOT ASK FOR WORK NUMBER) BUT Number refused }-q
ACCEPT TF QFFERED
. ASK ALL
41.a)| When the next general election comes round — which (st
will be in the next eighteen months or so — there
may be another survey like this one. Would you be od .
willing to take part in it again? NoF answe oS
Yes, willing Qa-g b)
No, not willing 61 END
IF WILLING :
b) Suppose we call on you at this address after
the election and for some reason cannot get
in touch with you. Is there another address
or 'phone number you could give us of someone
who would know your whereabouts?
IF NECESSARY, PROMPT: Perhpas the address of a (s12)
friend or relative who is unlikely to move?
Seippad | 12
Another address/'phone no. given 4O.b
No other address/'phome no. given ys-4
IF GIVEN, RECORD ALL INFORMATION Nok answered 3.8
ON BACK OF ADDRESS RECORD FORM (NOT HERE) |
(24 hour clock) (513-1u)

DURATION (Minutes)

f515-18%

TIME INTERVIEW COMPLETED [
DATE OF INTERVIEW : > DAYI
SIGNATURE

INTERVIEWER NUMBER

f517

[
[+
—

MONTH




SOCIAL AND COMMUNITY PLANNING RESEARCH

ena Z4000=

THE UNIVERSITY OF OXFORD

Head Ofix e

35 Northampton Square,
London, ECIV 0AX,
Telephone: 01-250 1866

P.921/1 BRITISH ELECTION STUDY PANEL (1)
November 1986
Serial Area (New area
Number Number number ) R
[
Time interview started (24 hr. clock)
Col./ Skip
ASK_ALL Code | 1
l.a) | Do you normally read any daily morning ' rlsol
- Yes ¥ b)
newspaper at least 3 times a week?
No 2 Q.2
IF 'YES' AT a)
b) Which one do you normally read?
IF MORE THAN ONE ASK: Which one
do you read most frequently? f131-32)
(Scottish) Daily Express 01
Daily Mail 02
Daily Mirror/Record 03
Daily Star 04
The Sun 05
Daily Telegraph 06
Financial Times 07
The Guardian 08
The Times 09
Morning Star 10
Today 11
The Independent 12
Other Scottish/Welsh/regional or local daily morning paper
E(SPECIFY) 13
Other (SPECIFY) 14
ASK ALL
2, Would you say you care a good deal which Party will
win the next general election or that you don't care f133y
very much which party wins?
Care a good deal 1
Don't care very much 2




3.a)

-2 - (B)
ASK ALL . Col./ | Skip
Ask Al Code to
Generally speaking, do you think of OFFICE
yourself as Canservative, Labour, Liberal, USE fl3u=38Y
Social Democrat (IF SCOTLAND: Nationalist/
IF WALES Plaid Cymru), or what? f139=140)
IF "ALLIANCE PROBE: Liberal or Social Democrat? Conservative 01W
Labour Q2
Liberal C4
Social Democrat 05| 1
Scottish Nationalist 06 L c)
Plaid Cymru 07
Other (SPECIFY) 97
Alliance (AFTER PROBE) 03,
None/No 061_ b)
bon't know 98 I -
IF NONE/DON'T KNOW (CODE 0O OR 98)
b) Do you generally think of yourself as
a little closer to one of the Parties
than the others? 1IF YES: Which Party?
ETEL1E flil=t2)
1F "ALLIANCE"™ PROBE: Liberal or Social Democrat?
Conservative le1
Labour Q2
Liberal 04
Social Democrat 05 c)
Scottish Natiomalist 06
Piaid Cymru Q7
Other (SPECIFY) 97
Alliance (AFTER PROBE) 03 _
None/No 00 Q.4
Don't know 98
IF PARTY CODED AT a) OR b) ASK c¢) - e
4
c} Would you call yourself very strong
(QUOTE PARTY FROM a) OR b), fairly
strong or not very stroag? Very strong 1
Fairly strong 2
Not very strong 3
Don't know 8




Col./ Skip
ASK ALL Code to
4. Which do you think would generally be better
for Britain nowadays ... (READ OUT) (1483
to have a government formed by one political party om its own, 1
or to have a government formed by two political parties together -
(Don't know) 8
ASK ALL
5.a) Generally speaking, do you think of the Ligiral EQP
Liberal Party as being closer to the
Conservative Party or closer to the Closer to | f1%*%) f1483
Labour Party? RECORD IN COLUMN a) Conservatives 1 1
b) And the Social Democratic Party, Closer to Labour 2 2
would you.say it was closer to the No difference/
Conservative Party or closer to neither 3 3
the Labour Party? RECORD IN COLUMN b)
Don't know 3 3
¢) | Considering everything the Liberal and
Social Democratic Parties stand for,
would you say that ... (READ OUT) (1e7
there is a great difference between them, 1
some difference, 2
or not much difference? 3
(Don't know) 8
d} | Now, considering everything the
Conservative and Labour Parties stand
for, would vou say that ... (READ OUT) f1s8)3
there is a great difference between them, 1
some difference, 2
or not much difference? 3
{Don't know) 8
6. Some people say that we should change the voting
system to allow smaller political parties to
get a fairer share of MPs. Others say that we
should keep the voting system as it is to
produce effective government. Which view comes 42y
closer to your own ... {(READ OUT)
' that we should change the voting system, 1
or - keep it as it is?
(Dou't know) 8




(B)
Col./ Skip
ASK_ALL Code |
7.a) The next,general election will be in 1987 OFFICE F150-54)
or 1988; have you decided which Party you IISE
will vote for in the next general election? 11553
Yes (UNQUALIFIED) 1 B)
* USE CODE 2 ONLY IF RESPONDENT Yes (QUALIFIED)* 2
VOLUNTEERS SOME QUALIFICATION - .
DO NOT PROBE No, not decided 3 c)
Will not vote/unlikely
IF YES, DECIDED, {CODE 1 OR 2 AT a) ASK: to vote 4 Q.8
b) Which Party have you decided (156=57) (158=59
to vote for? b) )
ONE CODE IN COL. b) - <
Couservative ol ol
Labour 02 02
(SbP/Lib.) Alliance 03 03
‘ Liberal 04 04
Social Democratic 05 rQ.B 05
Scottish National 06 06
Plaid Cymru 07 o7
Other (SPECIFY)
b) 97 -
e) - 97
Refused to say 95 95
More than one Party being considered 96
Unlikely to vote/don't know if will vote 00
Don't know (which party) 98
IF NOT DECIDED (CODE 3 AT a) ASK:
¢} Which party do you think it is most
likely that you will vote for in the T
next general election? ONE CODE IN COL. c) ABOVE
ASK ALL : SHOW CARD A
. P i
8 lease choose a phrase from thlsStrong Neither in Scrong DK/
card to say how you feel v 1 I ¢ 1 Can't
about ... READ OUT y in 0 ravour mot : 7
favour favour against Against against say
a) the Conservative Party 1 2 3 4 5 3 f1640Y)
b) the Labour Party? 1 2 3 & 5 8 (1613
¢) the Social Democratic
Parcy? 1 2 3 4 5 8 (1827
d) the Liberal Party? . 1 2 3 4 5 8 {1633
IF SCOTLAND:
e) the Scottish National
Party? 1 2 3 4 5 8 {1649
| LF WALES:
£) |... Plaid Cymru? 1 2 3 4 5 8

{16353

hr————




ASK ALL _
_— Conservative | Labour | Alliance
9.a) i) On the whole, would you describe the
Conservative Party nowadays as 166Y (1873 f1s8)
... (READ OUT
¢ ) extreme, 1 1 1
ii) And the Labour Party or moderate? 2 2 2
i it
?ggigagz%)ls * (Neither or both) 3 3 3
1ii) And tha SENP/Tikaral (Don't know) 8 8 8
e By A, f LhildA il ifk f LAWCGL AL
Alliance, is it ...(READ QUT)
b} | i) And would you describe the 18393 (1703 f1713
Conservative Party nowadays
as ... (READ 0UT) ... united, 1 1 1
ii)}  And the Labour Party or divided? 2 2 2
d L
?Egznag;%)Ls 1t (Neither or both) 3 3 3
(Don't know) 8 8 8
iii) And the Alliance,
is it ... (READ OUT)
c){ i) On the whole, would you
describe the Conservative (L1723 {173y f174y
Party as ... {READ OUT)
1) And the Labour good for one class, 1 1 1
Party, is it or good for all classes? 2 2 2
- o VREAD UUL) (Neither or both) 3 3 3
.. d .
111) i: iEhe A%é;:;cgﬁT) (Don't know) 8 8 8
d) § 1) Do you think the (1753 {1763} (1773 (178780
Conservslive Part
has ...{(READ OUT) ... clear policies, 1 1 1
ii) And the Labour or vague policies? 2 2 2
Party, doeg 1t have . \
(READ OUT) {Neither or both) 3 3 3
1ii) And the Alliance., (Don't know) 8 8 8
does it have ...{READ OUT)
C.02 (207-=18)] (221-14)[215-18)
10. Now I'd like you to think a/ > e’
. Conservative | Labour | Alliance
about your feelings when
I mention the Parties: ... Proud? Yes 1 1 1
No 2 2 2
Don't know 3 3 3
a)-c){Has the ...(EACH IN .
TURN) Party, ever made ..-Disgusted? Yes 1 1 1
you feel ...(READ QUT No 2 2 2
EACH WORD)?
Don't know 3 3 3
IF NECESSARY, EXPLAIN: ... Afraid?  Yes 1 1 1
because of something No 2 2 2
it has dene or semething .
it says it will de. Don’t know 3 3 3
... Hopeful? Yes 1 1 L
No 2 2 2
Don't know 3 3 3




ASK ALL - SHOW CARD B Col.
11a) Looking at this card, Very Fairly Fairly Very Don't
on the whole how effective effective ineffective ineffective know
effective or in-
effective do you think
Mrs Thatcher is as
a prime minister? 1 2 3 4 8 rzi1a
b){ And on the whole how
effective or ineffect-
ive do you think Mr
Kinnock would be as a
prime minister? 1 2 3 8 fz20)
c)| How about Dr. Owen? 1 2 3 f221)
d)| And Mr Steel? 1 2 3 4 8
f222)
None/
SHOW CARD C Mrs Mr Dr Mr Don't
12. Still thinking of these four Thatcher Kinnock Owen Steel  know
Party leaders, which one do
you think would be
.. (READ OUT) ..,
a)| ...the prime minister most likely
to get things done? 1 2 3 4 8 (2233
b)| ...the one most likely to improve
;o .
Britain's standing abroad? 1 2 3 4 8 2289
¢)| the one with most comcern for all
groups in society? 1 2 3 4 8 f225)3
a) b) ¢) d)
SHOW CARD D Mrs Mr Dr Mr
132) Which of the qualities Thatcher | Kinnock }Owen Steel
on this card would you
say Mrs Thatcher has:
choose as many as you Cari 1 rzzs 10235) 117 rzenf 1 (253
think apply? aring
Determined 2 (2271 | 2(238) [2 [245) 2 r25w)
f22ey (2373 rzueyl 3 (2551
b) -d){ REPEAT FOR OTHER Shrewd | 3 3 3 3 !
THREE LEADERS Likeable as a person 4 (229) | 4 (238) |4 (2477 4 (256) !
IN TURN Tough 5 (230} 57239) fg5 (248 5 (257}
Listens to reason 6 (2311} g (2801 g [249Y ¢ (258)
Decisive | 1 (2321 | q(2%1) fq (250Y 4 (259) |
Sticks to principles 2 [(233Y | g 282} fo (251 3 (260)
NONE OF THESE (2381 1 g 12431 |g (252] gf2en)
Don't know 8




ASK ALL

14. Now L'd like you to think a) b) c) d)
) Mrs Mr Dr. Mr.
about vour feelinegs when 3 .
I ment-i on tﬁa-—-—éﬂ- Thatcher Kinnock | Owan | Steel
bW 266 279 ( }
Party leaders: (262 (28¢) ¢ 274
a) - d) |Has ... (EACH LEADER - Proud? Tes ' L ‘ !
IN TURN) ever made’ you A No 2 2 2
feel ... (READ OUT EACH .
WORD) ? Don't know 3 3 3 3
(263) {267) (271) (275)
. Disgusted? Yes 1 1 1 1
No 2 2 2 2
Don't know 3 3 3 3
EXPLAIN IF
HECESSARY: (284) (268) (272) | (278)
. because of vor Afraid? Yes 1 1 1
something she/@e No 2 2 2 2
has done or said.
Don't know 3 3 3
{265) (263) (273) (277)
. Hopeful? Yes 1 1 1
No 2 2 2 2
Don't know 3 3 3 3
SHOW CARD E
N ’ . . f278=80)
13a) Since the last general election, in June 1983, would you
say that prices have increased a lot, increased a little, SPARE
stayed the same, fallen a little or fallen a lot? =53
Increased Increased Stayed Fallen Fallen Don't
a lot a little the same a little a lot Know
(PRICES) 1 2 3 4 5 8 r3e7y
b) | What about unemployment? 1 2 3 4 5 8 rioey
c) Taxes? i 2 3 4 5 IEREN
d) Your own standard of
living? i 2 3 4 5 8 riiony
e} |The general standard of
living? 1 . 2 3 4 5 8 ri11y
£) | The standard of the health
and social services? 1 2 3 4 5 8 r3a12y
g) Crime? 1 12 3 4 5 8 r313)
h) Strikes? 1 2 3 4 5 8 r31uy
i} |The quality of education? 1 2 3 4 5 8 (318




Col./ Skip
ASK ALL Code [ to
16. Some people say that British governments nowadays - of
whichever party - can actually do very little to change
things. Others say they can do quite a bit. Do you
think that British govermments nowadays can do very
little or quite a bit ... (READ QUT)
Very Quite Don't
Little a bit know
a) ea+se to keep prices down? 1 2 3 {3163
b) And can British governments powadays do very
little or quite a bit to reduce unemployment? 1 2 3 317y
c) And to reduce taxes? 1 2 3 faiey
d) To improve your own standard of living? 1 2 3 f319)
e) To improve the general standard of living? 1 2 3 r1203
And can British government's nowadays do very
little or quite a bit...
£) to improve the health and social services? 1 2 3 razey
g) To reduce crime? 1 2 3 £3223
h) To prevent strikes? 1 3 £323)
i) 4nd to improve the quality of education? 1 2 3 N
| 3«3
17. There's a lot of talk these days about nuclear weapons.
a) | Do you think that the siting of
American nuclear missiles in Britain a) b)
makes Brita'n a safer or a less Ameyricanf Own
safe place to live? nuclear {nuclear
CODE IN COLUMN a) missiles jmssiles
3283 f3263
b) | And do you think that having our own Safer 1 1
nuclear missiles makes Britain a Less saf 2 9
safer or a less safe place to live? b
CODE IN COLUMN b) Don't know 3 3
SHOW CARD F
c) Wwhich of these statements comes closest to what you
yourself feel should be dome? 1If you don't have 327y
an opinion just say so.
Britain should keep her own nuclear
weapous, independent of other countries 1
Britain should have nuclear weapoms
ounly as part of a Western defence system 2
Britain should have nothing to do with
nuclear weapons under any circumstances 3
No opinion/Don't know 8




o Col./ Skip
ASK ALL Code to
18. {On the whole, do you think that Britain's (3283
interests are better served by ... (READ OUT)
+.» closer links with Western Eurdpe 1
or — closer links with America? 2
(Both equally) 3
(Neither) 4
(Don't know) 8
ASK ALL - SHOW CARD G
19. | What are your views on nationalisation, please tell me from this f329)
card which of the four statements comes closest to what you think
should be done, or say if you can't choose any?
A lot more industries should be nationalised 1
Only a_few more industries should be nationalised 2
No more industries should be nationalised, but
industries that are now nationalised should stay natlonalxsed‘ 3
Some of the industries that are now nationalised
should become private companies
Can’t choose/Don't know
20. Thinking now of trade unions and big business in this country: (330
a)] First do you think that trade unions ... (READ OUT)
have tooc much power, 1
or not? 2
(Don't know) 8
b)|Do you think that big business in this country (READ OUT) ... f331)
has too much power, 1
or not? 2
(Don't know) 8
c) |Do you think that foreign companies should 3323
be encouraged or discouraged from taklng
over industries in Britain? Encouraged 1
Discouraged 2
Depends on the industry/circumstances 3
Don't know 8
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Col./ Skip
‘ Code to
ASK ALL
21. Do you think the government should or should not do each
of the following things, or doesn't it matter either way
... (READ OUT)
Should Doesn't | Don't
Should not matter Know
a) «.. Pull British troops out of Northern
Ireland immediately? 1 2 3 8 r3a3
b) ... Spend less on defence? 1 2 3 Sfaau]
c) .+. Get rid of private education in
Britain? 1 2 3 8 rassy
d) | Do you think the govt. should or should
not ...
.». Spend more money to get rid of
poverty? 1 2 3 8 r3as)
e) «.. Encourage the growth of private
medicine? 1 2 3 8 r337
£) ... Put more money into the National .
Health Service? 1 2 3 8 rasen
Do you think the govt. should or should
not ...
g) «++ Introduce stricter laws to regulate
the activities of trade unions? 1 2 3 8 razay
h) | ... Give workers more say in running
the places where they work? 1 2 3 8 rauoy
i) .+. Reduce faras on public transport
by subsidizing them? 1 2 3. 8 f3sly
i) ... Spend more money on education? 1 2 3 8 (3423
HAND SHUFFLE PACK (RANDOMLY SHUFFLED)
22, People have different views about what are the more important things
for the government to try and do. Please would you sort these cards
into order from the most important to the least important thing that
you think the government should try and do?
ENTER
ASK RESPONDENT TO HAND ORDER
CARDS BACK TO YOU, ONE AT (01-09)
A TIME IN ORDER FROM MOST I
TO LEAST IMPORTANT Keep prices down | (34344
Reduce unemployment [ (345-46)
Reduce taxes [ 347 -48)
Improve your own standard of living I f343-50)
Improve the general standard of living l [351=52)
Improve the standard of health & social services J (35354
Reduce crime ! 355=56"
Prevent strikes l (357=58)
Improve the quality of education l_ [359-60)
Don't know at all (RING) 98 (3161-62)
IF 'DON'T KNOW' FOR SOME ITEMS, ENTER .
98 IN THOSE BOXES. (CHECK ALL ENTRIES).




ASK. ALL

- 11 -

Col./ Skip
Please say whether you‘-agree or disagree with Code to
each of these statements, or say if you are
not sure either way .... (READ OUT) Noo
Agree Digagree sure
a) . The government should spend more
money to create jobs? 1 2 3 {383)
b) Income and wealth should be
redistributed towards ordinary
working poeple? 1 2 3 f3643
Do you agree or disagree that ...
c) the police should be given more power? 1 2 3 {365
d) ... Britain should bring back the death
penalty? 1 2 3 {3663
e) People who break the law should be
given stiffer sentances? 1 2 3 {3673
£) The government should spend more on
overseas aid? 1 2 3
£368)
SHOW CARD H
1f you had to choose from among the items on
this card, which are the two that seem most f36sy| razoy
desirable to you? RING ONE CODE IN EACH COLUMN
lst 2nd
Maintaining order in the nation 1l 1
Giving people more say in important political decisions 2 2
Fighting rising prices 3 3
Protecting freedom of speech 4 4
Don't know at all 8 »Q.25 -
No second choice - 8
There are some people whose views are
considered extreme by the majority. (371
a) | Consider people who wish to overthrow the Yeos 1
system of government in Britain by
revolution. Do you think such people No 2
should be allowed to held public .
] . ) Don't know 3
meetings to express their views? FI7ZT
b) |Now consider people who say that all blacks Yes . 1
and Asians should be forced to leave Britain. N 2
Do you think that such people should be °
allowed to hold public meetings to express Don't know 3
their views?
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Col./ Skip
ASK ALL - SHOW CARD I Code ta
26. Please choose a phrase from this card to say
how much you agree or disagree with the
following statements ... READ QUT a) - ¢)
BELOW AND RING ONE CODE
FOR EACH Neither
agree
Agree nor dis Dis- Disagree (Don't
otramely Aovoao -2 roo aoras ﬂf‘?‘ﬂﬂ01ﬂ 'ltnnu\
s‘ll-l.\)l.l.é.l- nal.‘.—\‘ b oy ke N e vt = Rl Uhhvl.:*! sk WY
a) ... Generally speaking, those
we elect as MPs lose touch
with people pretty quickly. 1 2 3 4 5 8 f373)
b) Parties are only inter-
ested in people's votes, not
in their opinioms. 1 2 3 4 5 8 (3783
c) ... It doesn't really matter
which party is in power, in
the end things go on much
the same. 1 2 3 4 5 8
£375)
ASK ALL - SHOW CARD J
27, I want to ask now about some changes that have
been happening in Britain over the years. For
each one I read out can you say whether you
think it has gome too far, not gone far enough,
or is it about right. '
-a) | Thinking f1rst_a§out attempts to give Gone Too About Not some Sy
equal opportunities to women in £ right far enough| know
Britain. Would you say they have gone _Ltar _ ILRRC &
too far, avz they about right or have
they not gone far enough? ................ 1 2 3 8 {3783
b) The building of nuclear power stations? 1 2 3 8 (377
c¢) lAllowing the sale of council houses
£O tendants? ... .iiieireneras e 1 2 3 8 {3783
d) Attempts to give equal opportunities to
black people and Asians in Britain? ..... 1 2 3 8 379y
e) | The availability of abortion on the
National Health Service? ................ 1 2 3 8 £380)
£) Attempts to protect the environment C.04
and control pollutiom? .............uunn. 1 2 3 8 {407
g) Atté’p s to give equal opportunities
o gay men and lesbians in Britain? ..... 1 2 3 3

(w08}
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" Defence Scale

8. ASK ALL OFFIICE
One political issue is whether government should keep+oo USE
rid of nuclear weapons in Britain. 4049y
SHOW SCALE CARD 1 AND GIVE PENCIL
Please look at this card. People who are convinced that we should get
rid of all nuclear weapons in Britain without delay will put a tick in
the last box on the left (Letter P) — POINT TO BOX P AND STATEMENT -
while those who are comvinced that we should increase nuclear weapons in
Britain without delay will put a tick in the last box on the right
(Letter J) —~ POINT TO BOX J AND STATEMENT. So, as you can see, people
who hold views that come somewhere between those two positionms will tick
a box somewhere along here - POINT TO BOXES FROM LEFT TO CENTRE - or
somewhere along here - POINT TO BOXES FROM RIGHT TO CENTRE, RE~EXPLAIN
IF NECESSARY . .

a)| First, would you tick the box anywhere along e) CODING: RING ONE IN EACH COLUMN

the scale that comes closest to your owmn () ®) (ZY_AV (d)
views about nuclear weapons in Britain. Oown Con " Lab Allce
f410=12{(4 1316 4 Le~LBY 4 18=21)
Now where do you think the Conservative and B = 001 001 001 001 |
Labour Parties stand: ¢ = x08 X08 X08 %08
b)Y | First the Conservative party. In the next __,9--_3-392-_4-393--i-391 _____ X01
row of boxes, put a tick in the box that _ '
you think comes closest to the views of E =005 005 005 005
the Conservative Party. ¥ = X04 X04 X04 X04
¢)| Now in the next row please put a tick in the m--g---f-ggg--+-ggg---*992 ----- 003 __
box that you think comes closest to the views H = 008 008 008 008
of the Labour Party 3 = 010 010 010 010
d)| And finally, please tick the box in the K___ =002 | 002 | 002 | 002 _
last row that ycu think comes closest to the [~ ~7 ° PV B R
views of the SDP/Liberal Alliance L = 006 006 006 006
M = X07 X07 X07 Xo7
e)| Now please tell me the letters of the boxes _
you ticked: the first row? second row? P__g___:_zgé____39;____392_____592__
third row? fourth row? RING CODES IN GRID P = X10 X10 X10 X10
Q = 000 000 000 000
_ R =.X03__1 X031 X03_ _| X03__
S = X06 X06 XG6 %06
INTERVIEWER NOTE:
You may change any code already ringed, if on T = 003 003 003 003
reflection, a respondent wants te change his o = 007 007 007 Q07 __
or her mind. Ensure that the final entries | {7~ 7777 °°"°° R A
are quite clear in grid and on scale card. v = X0z X02 X0z X0z
If asked , you may confirm that letter Q is W = X09 X09 X09 X09
th tral ition.
e Yo =00e |ove | 004 | 004
lLeft of P = %97 X97 X97 x97
Right of J = 097 097 097 097
Don't know = 098 098 098 098
QFFICE USE
Get rid Increase

[XT0 [x09] %08 [X07 [X06] %05 X04]X03X02[X01[000] 601 ]002]003]004]005] 006007008 [009]010}

P W € M S8 N ¥ R V D Q

B K T Y E

L

U H

G I



- 14 -
Unemployment and Inflation Scale

29. ASK_ALL
Another political issue concerns inflation and unemployment.
SHOW SCALE CARD 2
Please look at this card. People who are convinced that getting people
back to work should be goverament's top priority will be put a tick
in the last box on the left (Letter P) - POINT TO BOX P AND STATEMENT -
while those who are convinced that keeping prices down should be the
government's top priority will put a tick in the last box on the right
{Letter J) =~ POINT TO BOX J AND STATEMENT.
So, just as before, people who hold views that come somewhere between
those two positions will tick a box somewhere alomg here - POINT TO
BOXES FROM LEFT TO CENTRE - or somewhere along here - POINT TO BOXES
FROM RIGHT TO CENTRE.
a)| First, would you tick the box anywhere along e) CODING: RING ONE IN EACH COL
the scale that comes closest to your own T T 7o) (d)
views about unemployment and inflationm, own Con Lab Allce
fu22=2u) lruzs=27yfuezs =3 0fru31—33)
Now where do you think the Conservative and B = 001 001 001 001
Lab Parti stand:
our rarties stan ¢ =-xo08 | xo8 | xo08 X08
b) | First the Conservative party. In the next D =_§Oi | x01__1 X01 X01
row of boxes, put a tick in the box that {777 IEPPUREE P B
you think comes closest to the views of E =005 005 005 00>
the Conservative Party. F = X04 X04 X04 X04
¢) | . Now in the next row please put a tick in the LG ..z.002_ . 009__4.003__._. 003 __
box that vou think comes closest to the views H = 008 008 008 008
f th b Part
of the Labour Party J =o010 | o010 | o010 010
d)| And finally, piease tick the box in the K __= 002 002 002 _]__002
last row that you think comes closest to the [~ . - | ot oo T
views of the SDP/Liberal Alliance L =006 006 006 006
M = X07 X07 Xo7 X07
e) | Now please tell me the letters of the boxes 4 = vns . vas w0
you ticked: the first row? second rew? = L--S-e- TAL_ L AY2 AT 4. adl__
third row? fourth row? RING CODES IN GRID p = Xxl10 X10 X0 X110
Q@ = 000 000 000 000
R =X03_ 1 %03 ] X03__|__ X03__
S = %06 X06 XG6 X06
INTERVIEWER NOTE:
You may change any code already ringed, if on T =003 003 003 003
reflection, a respondent wanis to change his U = 007 _007__1.007__1.. 007 __
or her mind. Ensure that the final entries | |~ .7~ . 2--- 6 %02 %02
are quite clear in grid and on scale card. v = X0 X0z
If asked , you may confirm that letter Q is w = X09 09 X09 X09
th tral iti .
SRS RRRREE Y. =004 _|oos | 00s | 004
Left of P = X97 X97 X97 X97
Right of J = 097 097 097 097
Don't know = 098 038 098 098
OFFICE USE
Back to work ’ Prigggrdgfr

|x1o[x09[xoalxo7ixo&[xos[xoa]x03Ixoz[x01100010011002[003[004[0051006100710081009 010

P

W C M 5 N F R V D Q B K T Y E L U H

G

J



39. ASK ALL
Another issue is to do with taxes and government spending.
SHOW SCALE CARD 3
Please look at this card. People who are convinced that we should put
up taxes a lot and spend much more on health and social services will
put a tick in the last box on the left (Letter P) - POINT TO BOX P AND
STATEMENT - while those who are convinced that we should cut taxes a lot
and spend much less on health and social services will put a tick in the J
last box on the right (Letter J) - POINT TO BOX J AND STATEMENT.
So, just as before, people who hold views that come somewhere between
those two positioms will tick a box somewhere along here -
POINT TO BOXES FROM LEFT TO CENTRE - or somewhere along here - POINT
TO BOXES FROM RIGHT TO CENTRE.
a)| First, would you tick the box anywhere along e) CODING: RING ONE IN EACH COLUMN
the scale that comes closest to your own
) , (a) (b) (e) (d)
views about taxes and government spending. - P o 11
Uwn Lvon Lao ALLCE
fU36=367 [fu37=39Yrty o2t 3=y Sy
Now where do you think the Conservative and B =001 001 001 01
i d:
Labour Parties stan c - %08 %08 X08 %08
b)| First the Conservative party. In the next D =X01 | X01 | X01 ;i X0l
row of boxes, put a tick in the box that | 7~ VU R IV
you think comes closest to the views of E =005 005 005 005
the Conservative Party. F = X04 X04 X04 X04
~ = N0n at na Nnna
¢) | Now in the next row please put a tick in the . |- AN 009 1003 __4__8¥2__
.box that you think comes closest to the views H = 008 008 008 008
f th b t
of the Labour Party J =0l0 | 010 | 010 010
d) | And finally, please tick the box in the E = 002 002 002__|_ _002__
last row that you think comes closest to the [ . _ 7" 1 D
views of the SDP/Liberal Alliance L =006 006 006 006
M = X07 X07 X07 X07
N 1 e tell the lett f the b
O | B e he Firo: ot econd rowt N___=x0s__| x0s | x0s__| x03
¥YOU LLICREWS tne I1ilTrSuL ITUw:e sSecong row! R i G L T L L L el
third row? fourth row? RING CODES IN GRID P = X10 X10 X10 110
Q = 000 000 000 00
JRo__=X03__1 X03 | X03__J__ X03__
s = X06 X06 XG6 X06
INTERVIEWER NOTE:
You may change any code already ringed, if on T = 003 003 003 003
reflection, a respondent wants to change his U = 007 007 007 007
or her mind. Ensure that the final entries | | . _ . .~ RO R
are quite clear in grid and on scale card. v = X02 X02 X02 X0z
If asked , you may confirm that letter Q is W = X09 X09 X09 XQ9
the central ition.
PR Y. =004 _| 004 | 004 | 004
Left of P = X97 X97 X97 X987
Right of J = 097 097 097 097
Don't know = (098 098 098 098
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Taxation and government services gcale

QFFICE USE

Services up

Taxeg down

lxldlxoglxos[xo7[xoelxos[xoalxo3lx02[ib;jodﬁ1001|002I0031004[005100610071008[009101q]

P W € M S N F R V D ¢

B K. T Y E

L
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Nationalisation/privatisation scale

31, ASK ALL
There has been a lot going on recently about nationalisation and privatisation.
SHOW SCALE CARD 4
Please look at this card. People who are convinced that we should
nationalise many more private companies will put a tick in the last
box on the left (Letter P) - POINT TO BOX PA AND STATEMENT - while
those who are convinced that we should sell of many more nationalised
industries will put a tick in the last box on the right (Letter J) -
POINT TO BOX J AND STATEMENT.
S50, just as before, people who hold views that come somewhere between
those two positiomns will tick a box somewhere along here - POINT TO
BOXES FROM LEFT TO CENTRE - or somewhere along here - POINT TO BOXES
FROM RIGHT TO CENTRE
a)! First, would you tick the box anywhere along
the scale that comes closest to your own e) CODIN%:)RING(g?E IN(E§CH CO%UMN
views about nationalisation and privatisation. a ¢ d)
' Own Con Lab Allce
(446=48Y (et 9=513{fu52-54Y(u55~57
Now where do you think the Conservative and B = 001 001 001 001
Labour Parties stand:
¢ = X08 X08 X08 X08
b) | First the Conservative party. In the next D = X01 X01 X01 X0l
raw of boxes, put a tick im the box thuc [7777777 DO A N
you think comes closest to the views of E =005 005 005 003
the Conservative Party. F = X04 X04 X04 X04
c¢) | Now in the next row please put a tick in the __.6___z.003__ 009 _| 009 1. Q02 __
"] box that you think comes closest to the views H = 008 008 008 008
of the Lab Part
© 2ASour Sarty J =010 | oio | o010 010
d) | And finally, ylease tick the box in the K = 002 002 002 002
last row that you think comes closest to the [ - --f ===y " mmmqmmmmom
views of the SDP/Liberal Alliance L =006 | 006 | 006 006
) M = X07 Xo07 X07 X07
e Now please tell me the letters of the boxes
you ticked: the first row? second row? F--g---f_ggé__-_EQQ--.-§9§ ..... 203_.
third row? fourth row? RING CODES IN GRID P = X10 X10 X10 X1o0
Q = 000 000 000 Q00
B = X03 X03 X03 X03
S = X06 X06 Xco X06
INTERVIEWER NOTE:
You may change any code already ringed, if on T = 003 003 003 003
reflection, a respondent wants to change his 1] = 007 007 _007 _007_
or her mind. Ensure that the final entries | |~ 77~ VU 0 1 02
are quite clear in grid and on scale card. v = x02 X02 02 X
If asked , you may confirm that letter @ is W = X09 X09 X09 x09
the central position.
Y. =004} 004 | 004 | 004
Left of P = X97 x97 X97 X97
Right of J = 097 097 097 097
Don't know = (98 098 098 098
OFFICE USE
Nationalise Privatise
Ix10]x09/x08 [x071x06]x051x04x03[x02]x01[006] 0010027003 004005 [006 [oo7 008 [0a9] 010}

P W ¢C M 8 N F R V D Q@ B K T

L U H G J
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Col./ Skip
CLASSIFICATION Code to
ASK ALL
Finally, a few questions about yourself and
your background.
SHOW CARD K
Which of these descriptions applies to what you were doing last
week, that is in the seven days ending last Sunday? PROBE: Any
others? CODE ALL THAT APPLY IN COLUMN I
IF ONLY ONE CODE AT I, TRANSFER IT TO COLUMN II
IF MORE THAN ONE AT I, TRANSFER HIGHEST ON LIST TO II ru58_59¢
[ &
I I1
In full-time education (not paid for by employer,
including on vacation) A 01 » Q.33
On govermment training/employment scheme (e.g. Community
Programme , WEEP, YTS, etc.) B 02 -+ b)
In paid full-time work (or away temporarily) -~
for at least 30 hours in the week C 03
In part-time paid work (or away temporarily)
for 10-29 hours in the week 12 ¢)
Waiting to take up paid work already accepted 04
Unemployed and registered at a Jobeentre/
employment office F 05
Unemployed, not registered, but actively looking for a job G 06
Unempleoyed, wanting a job {of at least {0 hrs per week),
but not actively looking for a job H 07
Permanently sick or disabled J 08 $ b)
Wholly retired from work K 0%
Looking after the home L 10
Doing something else M 1
IF CODE 02, or 05 - 11
b) How long ago did you last have a paid job (other than
the government scheme you mentioned) of at least 10 {460
hours a week, excluding Saturday or holiday jobs?
Within past 12 months 1
Over 1-3 years ago- 2
Over 3-3 years ago 3
c
Over 5-10 years ago 4 )
Over 10-20 years ago 5
Over 20 years ago 6
Never had paid job of 10+ hrs a week | 7 1 Q.33
IF CODE 03, 12, 04 AT a} OR CODE 1-6 AT b) 461y
' Yes - now 1
c} Are you now, or have you ever been, Yes - used to be 2
a member of a trade union? No 3




- 18 -

Col./ Skip.
" ALL Code to
'33ta) | INTERVIEWER CODE: Sex (4623
Male 1
b) | ASK: What was your age last birthday? Female 2
ENTER Jru:sa—sn
IF RESPONDENT IS MALE AGED 70+ OR FEMALE AGED 65+ SKIP TO Q.35
OR IF RESPONDENT IS IN FULL-TIME EDUCATION (Q.32a CODE Q1) -
. FOR ALL OTHERS, ASK (.33
34.a) | May I check: during the last three years or so that is (465)
since the middle of 1983 have you been unemployed and
looking for a job - for a period lasting 13 weeks or
longer? Yes
IF YES (Code A) No | O ~ Q.32
b) Was this just once, or for two or more separate
periods in the last three years? Once 1
c¢) For how many months in total during the 2 or more times 2
last three years have you been unemployed
and looking for a job?
ENTER MONTHS (466673
ALL f468-69)
35%a) | CODE WHETHER ACCOMMODATION IS ... Private household A - b)
or Institutiom (SPECIFY TYPE) 01 - 1q.38
IF PRIVATE HOUSEHOLD (CODE A) T
b) Do you - your household - own or
. . ,
rent this (house/flat/accommodation)? OWNS House 02:} )
or . c
(INCLUDE WITH MORTGAGE) CO-OWNS Flat/maisonette 03
IF RENTED: From whom? RENTS FROM: Local Authority - house 04
Local Autheority - flat/maisonette 05 | . Q.36
Housing Association 06
Private company/landlord 07 Q.37
Other (SPECIFY) 97
LF_OWNS (CODE 02 OR 03 AT b) fv70
c) Have you ever been a local authority tenant? Yes 1 d)
No 2 Q.37
IF_'YES' (CODE 1) AT c) Y
d) Were you a local authority tenant in this Yes ’ £)
(house/flat/accommodation) before your household
purchased it? No 2 e)
IF 'NO' (CODE 2) AT d) o
e) Have you ever bought a council house or flat Tes 1 £)
that you were living in? Ne 2 Q.37
IF 'YES'AT 4) or e) T473-75w
£) When did you buy it? ENTER 19 ——> | Q.37
Month Year




r - '19 - I:ol.l SIip.
-~ IF RENTS FROM LOCAL AUTHORITY (Q.35b CODE 04 OR 05)
36. How likely is it that your household will try to (477
buy this house/flat from the local council in the
next 5 years or so; would you say ... (READ QUT ) .
.. very likely, 1
quite likely, 2
not likely, 3
or definitely not? 4
(Negotiations already started) 5
(Don't know) 8
a7. ASK ALL IN PRIVATE HOUSEHOLDS (i.e. ALL EXCEPT Q.35a CODE 01) (1784
In whose name is this (house/flat/accommodation)
7
owned or rented Respondent and/or spouse only 1
Parent or parent-in-law 2
Other (SPECIFY IN FULL) 7
ASK ALL
38. | which party did you vote for in (¥79~803
the 1983 general election or
perhaps you didn't manage to vote
in that election? Conservative 01
Labour 02
(SDP/Lib.} Alliance 03
Liberal 04
Social Democratic 05
Scottish Natiomal a6
Plaid Cymru 07
Other party (SPECIFY) 97
Refused to disclose voting 95
Did not vote in '83 00
Can't remember 98
19. Do you, or your husband/wife/partner own any €.05
shares quoted on the. stock exchange, including 5073
unit trusts? Yes 1
No p




~ Card 05

. - 20 -
. ' ) Col./ | Ship
ASK ALL o < ¥ Code | t»
40.a) | Is there a telephone in (your part of) this fsoa)
accommodation? Yes 1 c)
IF NO No 2 b)
b) Do you have easy access to a 'phone where Fsosy
you can receive incoming calls? Yes - home 1 )
[+
Yes - work* 2
IF YES AT a) OR b) No 3 Q.41
c) A few interviews on any survey are checked
by a supervisor to make sure that people
are satisfied, or if something needs clarifying.
In case my supervisor needs to contact you it
would be helpful if we could have your
telephone number, (5181

RECORD HOME (OR WORK) NUMBER
ON ADDRESS RECORD FORM (NOT HERE) Number given 1
£

* DO NOT ASK FOR WORK NUMBER) BUT

ACCEPT IF OFFERED

Ig
g
m
[a}
L]
1
=
n
1]
[+ W
]

4l.a2){ When the next general election comes round — which
will be in the next eighteen months or so - there

. . 51
may be another survey like this one. Would you be reany
willing to take part in it again?

Yes, willing 1 b)
No, not willing 2 END
IF WILLING )
b) Suppose we call on you at this address after
the election and for some reason cannot get
in touch with you. Is there another address
or 'phoré number you could give us of someone
who would know your whereabouts?
IF NECESSARY, PROMPT: Perhpas the address of a
friend or relative who is unlikely to move? 512
Another address/'phone no. given 1
No other address/’phone no. given 2
IF GIVEN, RECORD ALL INFORMATION
ON BACK OF ADDRESS RECORD FORM (NOT HERE)
(24 hour clock) f513=14)
TIME INTERVIEW COMPLETED I DURATION (Minutes)
[515=-163 f517-18)
DATE OF INTERVIEW > DAY MONTH

SIGNATURE INTERVIEWER NUMBER




R

Head Office

SOCIAL AND COMMUNITY PLANNING RESEARCH  — 4 0 (0 0 = 35 Northampton Square,
and : London, ECTV OAX.
THE UNIVERSITY OF OXFORD. NUFFIELD COLLEGE Telephone: 01-250 1866
P,921/2 RRITISH ELECTION STUDY PANEL (2)
June 1987
Serial Area T New area ]
Number Number number(s)
- Wave 1
Time interview started - Wave 2
(24 hour clock)
o an ‘ Col./ Skip
Aok ALL ' Code to
Would you say you cared a good deal 130
which Party won the recent general
election or that you didn't care very Cared a good deal 1
mich whirh Partv wan? Nidn'+r Anra wrary miirh L]
BREAA W LA VWil AL wii L= N VWA LL e o L AARL [ [V = W ) VCL}' il &
During the election campaign: 131
did you watch and listen to any Party Yes 1
election broadcasts on television . -
. No 2
or radio?
132
Did you read any newspaper articles Yes 1 ¢)
about the campaign? No 9 9.3
IF YES (code 1 at b) L33-34
¢) Which daily morning paper did you read most?
PROBE IF NECESSARY: Which one did you rely
on most for news about the ,
(Scottish) Daily Express 01

election campaign?
Daily Mail 02

Daily Mirror/Record 03
Daily Star 04

The Sun 05

Daily Telegraph 06
Financial Times 07

The Guardian 08

The Times 09
Meorning Star 10
Today 11

The Independent i2

London Daily New 16

[Other Scottish/Welsh/regional or local daily morning paper
(SPECIFY)

Other {SPECIFY) 14




<\a)

Col./ Skip
ASK ALL Code | to
(A)3.a) Talking to pecople about the general election, 135
we have found that a lot of people didn't manage Yes, voted 1 Q.4
to vote. How about you - did you manage to vote N 2 b)
in the general election? °
IF NO (code 2) ASK b) and c)
b) Why was that?  PROBE FULLY
136=37
138-39
160-41
c) Suppose you had voted: which Party would
you have been most likely to vote for?
DO NOT PROMPT
IF 'NONE/DON'T KNOW PROBE BEFORE CODING: lw2-43
Which Party would you most like to have
won in your constituency? -
Conservative 0l
Labour 02
SDP or Liberal or altliance 03
Scottish National 06 9.7
Plaid Cymru 07
The Green Party 08
Other (SPECIFY) 97
None/Don't know (AFTER PROBE) 98 B
ASK ALL WHO VOTED (Q.3a code 1)
TN
(A)4, How long ago did you decide that you would
definitely vote t*- way you did: was it ...
(READ OUT)... a long time ago 1
sometime last year 2
sometime this year 3
or during the election campaign? 4
(Don't know) 8




}5.a)

3(8)

Col./ Skip
Cade to
ASK ALL WHO VOTED
Which Party did you vote for in the general election?
DO NOT PROMPT; CODE IN COL. a) BELOW
ASK ALL (EXCEPT CODE 95 or 98 AT a)
b) Was there any time during the election campaign
when you seriously thought you might vote for
another Party? IF YES: Which party?
DO NOT PROMPT - BUT SEE INSTRUCTION BOX.
ONE CODE IN COL.b) ~ IF MORE THAN ONE PARTY, RING CODE 96.
c) If the voting paper had required you to give
two votes, in order of preference, which Party
would you have put as your second choice?
DO NOT PROMPT - BUT SEE INSTRUCTION BOX.
ONE CODE TN COL.c)
If respondent voted 'SDP or Liberal or Alliance'
(code 03 at a), then code 03 is not allowed at
b) or at c). EXPLAIN IF NECESSARY: "They did
not stand against each other; so is there any
other party (you seriously thought about/that
you would put as second choice)?"
a) b) c)
Voted Thought 2nd
for about Vote
lus-46 |lu7-ud] 1u9=~50
Conservative 0t 01 01
Labour 02 02 02
SDP or Liberal or Alliauvce Q3 03 03
Scottish National 06 06 06
Plaid Cymru 07 av a7
The Green Party 08 08 08
Other (SPECIFY) a) 97 - -
b) - 97 -
c) - - 97
Refused to disclose voting 95>Q6 ) T
More than one other Party thought about - 36 -
No/None - 00 00
Don't know 98+Q. 6 98 98




4(A)

Col./ Skip
ASK ALL WHO VOTED - SHOW CARD A Code | to
\)6.a) Which one of the reasons on this card comes 151
closest to the main reason you voted for
the Party you chose?
I t
always vote that way i €> Q.7
I thought it was the best Party 2
I really preferred anmother Party but it
had no chance of winning in this constituency 3 b)
Other (SPECIFY)
7 c)
None of these/Don't know 8 Q.7
IF CODE 3 AT a) L2753
b) Which was the Party you really preferred?
DO NOT PROMPT
Conservative 01
Labour 02
SDP or. Liberal or Alliance 03
Scottish Natiomal 06 > Q.7
Plaid Cymru 07
The Green Party 08
Other (SPECIFY) 97 ]
I[F 'OTHER' (code 7) AT a)
154=55
¢) May I just check, would you have
preferred to vote for a different
Party from the one you did vote for?
IF YES: Which Party?
Yes: - Conservative 0l
- Labour 02
- SDP or Liberal or Alliance 03
- Scottish National 06
- Plaid Cyuru 07
- The Green Party 08
Qther {SPECIFY) 97
No (no other Party preferred) 90
OFFICE
USE(Q.B3) | !38-%¢




5(a)

. Cot./ Skip
ASK ALL Code 10
7.a) | Which do you think would generally be better Lol
for Britain nowadays... (READ OUT)
.+. to have a government formed by one political party on its own, 1 Q.8
or to have a government formed by two political parties together -
in coalition? b)
(Don't know) 8 Q.8
IF 'TWO PARTIES/COALITION'
b} Which of these Party groupings do vou think 162
would provide the best government for Britain...(READ OUT)
... Conservative and Alliance 1
or - Labour and Alliance 2 - Q.8
or - Conservative and Labour B_J
or - some other grouping? 4 c)
{Don't know) 8 Q.8
IF 'SOME QTHER GROUPING'
c¢) Which grouping is that? (WRITE IN) 16364
165 166
ASK ALL
B.a) Generally speaking do you think of the . 2) b)

PR ’ Liberal SDP
La.LUCLd..'L I.'d.l.Ly as DE.Lllg C.L(JbEL' to E[lt‘. Closer to —_— —_—
Conservative Party or closer to the Conservatives 1 1
.Labour Party? RECORD IN COLUMN a)

b) And the Social Democratic Party, Closer to Labour 2 2
would you say it was closer to the No difference/
Conservative Party or closer to the neither 3
7
Labour Party? RECORD IN COLUMN b) Don't know 8 8
¢) | Considering everything the Liberal
and Social Democratic Parties stand
for, would you say that ... (READ QUT) 187
... there is a great difference between them, 1
some difference, 2
or not much difference? 3
(Don't know) 8
d) |Now, considering everything the
Conservative and Labour Parties stand 168
for, would you say that ...(READ QUT)
.. there is a great difference between them, 1
some difference, 2
or not much difference? 3
(Don't know) 8
e} |Do you think there is more difference 169
now between the Conservative and Labour More now 1
Parties than there was at the 1983 election, About the same 2
less difference, or about the same amount? ou sa
Less now 3
Don't know )




6(A) Col./ Skip
Code to
ASK ALL
9. Some people say that we should change the voting
system to allow smaller political parties to
get a fairer share of MPs. Others say that we
should keep the voting system as it is to L7o
produce effective government. Which view comes
closer to your own ... (READ OQUT)
that we should change the voting system, 1
IF ASKED, EXPLAIN THAT . i .
THIS REFERS TO "Proportional or - keep it as it is? 2
representation”. (Don't know) 8
(A}10.a)] Generally speaking, do you think of 17 1~72
yourself as Conservative, Labour, Liberal, - . 01
Social Democrat (IF SCOTLAND: Nationalist/ vonservative %
IFf WALES: Plaid Cymru), or what? Labour 02
IF "ALLIANCE" PROBE: Liberal or Liberal } 04
Social Democrat? Social Democrat 05
Alliance (AFTER PROBE) 03 ?c)
Scottish Nationalist 06
Plaid Cymru 07
The Green Party 08
Other (SPECIFY) 97
N N 00 7
one/No 0 3 b)
Don't know 98
IF NONE/DON'T KNOW (CODE 00 OR 98) 173-74
b) Do you generally think of yourself as
a little closer to one of the Parties Conservative 01 7]
than the others? IF YES: Which Party?
IF "ALLIANCE" PROBE: Liberal or Labour 02
Social Democrat Liberal 04
Social Democrat 05
Alliance (AFTER PROBE) 03 c)
Scottish Nationalist 06
Plaid Cymru 017
The Green Party 08
Other (SPECIFY) 97 |
None/No 00 , Q.11
Don't know 98 _
IF PARTY CODED AT a) OR b} ASK ¢) 175
c¢) Would you call yourself very strong
(QUOTE PARTY FROM a) OR b), fairly
strong or not very stroug? .Very strong 1
Fairly strong 2
Not very strong 3
Don't know 8

R S

#Tard oSO B 141 15 1
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a)
b)

c)

d)

e)

£)

ASK ALL: SHOW CARD B

Please choose a phrase from this

card to say how you feel
about ...(READ OUT)

... the Comnservative Party?
++. the Labour Party ?

... the Social Democratic
Party?

.+. the Liberal Party?

IF SCOTLAND:

... The Scottish National
Party?

IF WALES:

... Plaid Cymru?

Col./ Skip
7(4) Code ta
Strong Neither in Strong DK/
-ly in In favour nor -ly Can't
favour favour against Against against say
1 2 3 4 5 8 176
1 2 3 b4 5 8 177
1 2 3 4 5 8 bre
1 2 3 4 5 8 Lo
1 2 3 4 5 8 Lo
-
CARD 2
1 2 3 4 5 8 208




( 12.&)

b)

c)

d)

191 e ha e

..:.;} ¢ 8 (A)

Cal./ Skip
ASK ALL: SHOW CARD C (FOR WHOLE QUESTION) Code t0
Here is a list of six issues that were discussed
during the election. When you were deciding about
voting, how important was each of these issues to
you? TFirst, defence: was it extremely important,
quite important or not very important to you in
deciding about voting?  REPEAT FOR ISSUES (ii)-(vi)
Extremely Quite Not very
important important important
(1) Defence 1 2 3 207
(ii) Unemployment 1 2 3 208
(iii) Inflation 1 2 3 209
(iv) Health and Social
Services 1 2 3 210
(v) Nationalisation and
privatisation 1 2 3 211l
(vi) Law and order 1 2 3 212
. .. 213 214
Which one of the six issues
one b) c)
on the card would you say was
. . Most Next
the most important to you in —_—
deciding about voting? Defence 1 1
Unemployment 2 z
And which next? Inflation 3 3
Health and
Social Services (A 4
Nationalisation and
privatisation 5
Law and order 6
Don't know/Can't choose 8
Besides the six issues on the card , are there 21
any other things that were at least as important
as these were to you in deciding about voting?
Yes 1 e)
No 2 Q.13
IF YES (CODE 1 AT 4)
e) Which? Any others?  (RECORD IN FULL)
216-17
21819
220-2 ¢

222=23




9(a)

' Col./ Skip
ASK -ALL Code to
13.a) | On the whole, do you think the Conservative .
government over the last four years has handled
the problem of inflation ... (READ OUT) ... very well, 1
fairly well, 2
not very well, 3
or not at all well? 4
(Don't know) 8
b) | And unemployment: on the whole do you think 205
the Conservative government over the last four
years has handled the problem of unemployment ... (READ OUT)
.. very well, 1
fairly well, 2
not very well, 3
or not at all well? 4
(Don't know) 8
¢) | And on the whole, do you think the
Conservative government over the last four 226
years has handled taxes ... (READ OUT)
«.. very well, 1
fairly well, 2
not very well, 3
or not at all well? 4
{Don't know) 8
(1) (i1) (ii1)
Conservative | Labour [Alliancd
227 228 229
14.a) i} On the whole, would you describe
the Conservative Party nowadays
as ... (READ QUT)
.. extreme, 1 1 1
ii) And the Labour Party or moderate? 2 2 2
nowadays 1is it,... .
(READ OUT) (Neither or both) 3 3 3
L
iii) And the SDP/Liberal (Don't know) 8 8 8
Alliance, is it ... (READ QUT)
b) i) And would you describe 230 231 232
the Conservative Party
nowadays as ...(READ QUT)
ii} And the Labour Party »++ united, 1 1 ]
nowadays, is it or divided? 2 2 2
(READ OUT) (Neither or both) 3 3 3
iii) And the Alliance, '
is it ... (READ OUT) (Don't know) 8 8 8
¢) - d)|  OVERLEAF




10(A)

Col./ Skip
ASK ALL Code to
(i) (ii) (iii)
14.¢) | 1) On the whole, would you Conservative | Labour [Alliane
describe the Conservative 233 234 235
Party as... (READ OUT)
...good for one class, 1 1 1
ii) And the Labour
Party, is it or good for all classes? 2 2 2
(READ OUT) (Neither or both) 3 3 3
iii) And the Alliance '
: Don't k 8 8 8
is it (READ OUT) (Don’t know)
d) | i) Do you think the 238 237 238
Conservative Party
has ... (READ OUT) clear policies, 1 1 1
ii) And the Labour or vague policies? 2 2 2
d .
f;;;g,OU;§S it have (Neither or both) 3 3 3
1
iii) And the Alliance, (Don’t know) 8 8 8
does it have ...{(READ OUT)
15. Now I'd like you to think (a) (b) (c)
about your feelings when Conservative| Labour J|Alliamcd
I mention the Parties: 239 213 P
.. Proud? Yes 1 1 1
a)-c) | Has the ...(EACH IN
TURN) Party, ever made No z 2 2
you feel ... (READ OUT Don't know 3 3 3
EACH WORD)? —
240 24y 248
. Disgusted? Yes 1 1 1
No 2 2 2
i Don't know 3 3 3
IF NECESSARY, EXPLAIN: 241 245 249
... Afraid?. Yes 1 1 1
. because of something
it has done or something No 2 2 2
it says it will do. Don't know 3 3 3
242 248 250
. Hopeful? Yes 1 1 1
No 2 2 2
Don't know 3 3 3
16. SHOW CARD D
a) | Looking at this card, Very Fairly Fairly Very Don't
on the whole how effective effective ineffective ineffective know
effective or in-
effective do you think 251
Mrs Thatcher is as
a prime minister? 1 2 3 4 8
b)| And on the whole how
effective or ineffect- 252
ive do you think Mr
Kinnock would be as a
prime minister? 1 2 3 3
¢) | How about Dr Owen? 1 2 3 8 253
d)| And Mr Steel? 1 2 3 4 8§ 254

]




11¢A) Col./ Skip
Code to
SHOW CARD E None/
—_— Mrs Mr Dr Mr Don't
17. Still thinking of these four Thaicher Kinnock Qwen Steel know
Party leaders, which one do
you think would be (READ OUT) 255
a) .+ The prime minister most able
to unite the nation? 1 2 3 4 8
b) . ths prime minister most 25 g
likely to get things done? 1 2 3 4 8
c) ... che one most likely to im- 257
prove Britain's standing akroad? 1 2 3 4 8
d) the one with most concern 258
for all groups in society? 1 2 3 4 8
e) the one who would get most 239
out of a ream? 1 2 3 4 8
£) the one most in touch with 2o
ordinarv people's problems? 1 2 3 4 8
SHOW CARD F
18.a)| Which of the qualities
on this card would you
amer Moo Mh ok abiome boao, a) b) C) d)
bd.y FlL S lH4dLGCHEL [1d5 5 D M
choose as many as you Mrs er r r
_think apply? Thatcher Kinnock Owen Steel
) - d| REPEAT FOR OTHER Caring | 1 261 1 270 L 306 31 31
THREE LEADERS Determined 2 262 2 271 2 307 2 316
IN TURN
Shrewd | 3 263 3 z72 3 108 |} 3 317
Likeable as a person | 4 264 4 273 4 109 14 318
Tough 5 265 5 274 5 E 5 3lg
Listens to reason 6 268 6 275 & 3t e 320
Decisive 1 267 1 276 L 312 | 1 321
3ticks to principles 2 268 2 277 2 313 | 2 iz2
NONE OF THESE 0 269 0 =278 0 3l 0 1z
Don't know 8 8 8 8
OFFICE 279-80
USE CARD 3




- 12(7) -
ASK ALL
19, Now I'd like you to think a) b) c) d)
about your feelings when Mrs Mr Dr Mr
I mention the Party leaders: Thatcher Kinnock | Owen Stee
a). - d)| Has ... (EACH LEADER ” j2u 328 132 338
IN TURN) ever made you Proud? Tes 1 1 1 1
e | {DETATY AT TAMAL ar ~ ~ ~ -
rfeel ... &AL Uul BRALR [\ e} L Z Z 2
WORD) ? ,
Don't know 3 3 3 _ 3
325 3229 133 | 337
Disgusted Yes 1 1 1 1
No 2 2 2 2
EXPLAIN IF Don't know 3 3 3 3
NECESSARY:
326 3130 334 338
because of ... Afraid? Yes 1 1 1 1
something she/he
has done or said. No 2 2 2 2
Don't know 3 3 3 3
327 331 33s| 339
. Hopeful? Yes 1 1 1 1
No 2 2 2 2
Don't know 3 3 3 3
SHOW CARD G
20.a) Since the last general election, in June 1983,
would you say that prices have increased a lot,
increased a little, stayed the same, fallen
a little or fallen a lot?
Increased Increased Stayed Fallen Fallen Don't
a lot a little the same a little a lot Know
(PRICES) 1 2 3 4 5 %% 8
b) | What about unemployment? 1 2 3 4 5 3u1 8
c) Taxes? 1 2 3 4 5 342 8
d) Your own standard of o
living? 1 2 3 4 5 77 8
e) The general standard of
living? 1 2 3 4 5 344 8
f) |The standar¢ of the health
and social services? 1 2 3 4 5 " g
g) Crime? 1 2 3 4 5 346 A
h) ' Strikes? 1 2 3 4 5 347 8
i) |The quality of education? 1 2 3 4 5 148 8
j) Britain's safety from .
the r:reat of war? 1 2 3 4 5 3% g




13(A)

| Col./ Skip
- ASK_ALL Code | t
21, Some people say that British governments
nowadays - of whichever party -~ can actually
do very little to change things. Others say
they can do quite a bit. Do you think that
British governments nowadays can do very little
or quite a bit ... (READ OUT)
Very Quite Don't
little a bit know
a) ... to keep prices down? 1 2 3 350
b) And can British governments nowadasdo very
little or quite a bit to reduce unemployment? 1 2 3 3sl
c) And to reduce taxes? 1 2 3 352
d) And to improve Britain's safety from
the threat of war? 1 2 3 #53
22, There's a lot of talk these days about nuclear weapons.
a) | Do you think that the siting of
American nuclear missiles in Britain a) b)
makes Britain a safer or a less American Owm
safe place to live? nuclear jnuclear
CODE IN COLUMN a) missiles|missiles
I5u 353
b) | And do you think that having our own Safer 1 1
nuclear missiles makes Britain a
. Less safe 2 2
safer or a less safe place to live?
CODE IN COLUMN b) Don't know 3 3
23. Thinking now of trade unions and big business in this country: 356
a) | First do you think that trade unionms ... (READ QUT)
... have too much power, 1
or not? 2
(Don't know) 8
b) Do you think that big business in this country ... (READ OUT) 357
... has too much power, 1
or not? 2
(Don't know) 8




14(A)

Col./ Skip
ASK ALL: SHOW CARD H Coda to
24, Which of the three statements on this card comes closest
to your own views on the Common Market? 358
Britain should leave the Common Market without further ado 1
Britain should stay in the Common Market provided
we can get better terms 2
Britain should stay in the Common Market amyway 3
Don't know 8
25. Do you think the government should or should not do each
of the following things, or doesn't it matter either way
(READ OUT)
Should . Doesn't Don't
Should not matter know
a) Pull British troops ocut of Northern
Ireland immediately? 1 2 3 8 3sa
b) ... Spend less on defence? 1 2 3 8 360
c) Get rid of private education in
Britain? 1 2 3 8 161
Do you think the government
should or should not
d) Spend more money to get rid of
poverty? 1 2 3 8 362
e) . Encourage the growth of private
medicine? 1 2 3 8 363
£) Put more money into the National
Health Service? 1 2 3 8 364
Do you think the government should
or should not
g) Introduce stricter laws to regulate
the activities of trade unions? 1 2 3 8 3gs
h) Give workers more say in running
the places where they work? 1 2 3 8 366
i) Reduce fares on public tramsport
by subsidizing them? 1 2 3 8 357
i) Spend more money on education? 1 2 3 8 3638




15(A)

Col./ Skip
ASK ALL Code | to
26 Please say whether you agree or disagree with
each of these statements, or say if you are
not sure either way.... (READ OUT) Not
Apree  Disagree  sure
a)| ... The government should spend more
money to create jobs? 1 2 3 369
b} | ... Income and wealth should be
redistributed towards ordinary
working people? 1 2 3 370
Do you agree or disagree that ..
¢}] ... The police should be given more
power? 1 2 3 3171
d)} | ... Britain should bring back the
death penalty? 1 2 3 372
e)| ... People who break the law should
be given stiffer sentences? 1 2 3 373
f) | ... The government should spend more
on overseas aid? 1 2 3 74
27.a) | On the whole, do you think the Conservative 375
government over the last four years was
successful or unsuccessful in keeping taxes
down generally? PROBE: Very or fairly?
Very successful 1
Fairly successful 2
Fairly unsuccessful 3
Very unsuccessful 4
Don't know 8
b) | And was it successful or unsuccessful in
improving your standard of living? 376
PROBE: Very or fairly?
Very successful 1
Fairly successful 2
Fairly unsuccessful 3
Very unsuccessful 4
Don't know 8
OFFICE USE
37780

SPARE




29 - 32

QB29-32

16(A) Col./ Skip
Cade to
ASK ALL SHOW CARD J
28, I want to ask now about some changes that have
been happening in Britain over the years. For
each one I read out, can you say whether you think CARD &
. it has gonme too far, not gone far enough, or is
it about right.
Gone too About Not gone Don't
far right far enough know
— a) | Think first about the welfare benefits
that are available to people today. Would
you say they have gone too far, are they
about right or have they not gone far
enough? 1 2 3 8 408
b) | How about attempts to give equal
opportunities to women in Britain? 1 2 3 8 407
¢) 1 The right to show nudity and sex in’
films and magazines? 1 2 3 8 “08
d) | The building of nuclear power stations? 1 2 3 409
e) | The right to have protest marches
and demonstrations? 1 2 3 8 #1790
f) | Attempts to give equal opportunities
to black people and Asians in Britain? 1 2 3 8 “11
g) [Allowing the sale of council houses to
tenants? 1 2 3 8 “l2
h) | The movement towards comprehensive
schooling? 1 2 3 8 *13
i) | The availability of abortion on the ) -
National Health Service? 1 2 3 8 sl
j)} | Attempts to protect the environment
and control pollution? 1 2 3 8 415
k) [Attempts to give equal opportunities
to gay men and lesbians in Britain? 1 2 3 8 “16
OFFICE
USE 4w17=37
THERE ARE NO QUESTIONS 29, 30, 31, 32 TN VERSION A
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Defence Scale

33. ASK ALL OFFICE
One political issue is whether government should keep or get USE
rid of nuclear weapons in Britain. 438
SHOW SCALE CARD 1 AND GIVE PENCIL
Please look at this card. People who are convinced that we should get
rid of all nuclear weapons in Britain without delay will put a tick in
the last box on the left (Letter P) — POINT TO BOX P AND STATEMENT -
while those who are convinced that we should increase nuclear weapons in
Britain without delay will put a tick in the last box on the right
(Letter J) — POINT TO BOX J AND STATEMENT. So, as you cam see, people
who hold views that come somewhere between those two positions will tick
a box somewhere along here — POINT TO BOXES FROM LEFT TO CENTRE - orx
somewhere along here — POINT TO BOXES FROM RIGHT TC CENTRE. RE-EXPLAIN
IF NECESSARY
a)| First, would you tick the box anywhere along e) CODING: RING ONE IN EACH COLUMN
the scale that comes closest to your own
; . —— (a) (b) (c) (d)
views about nuclear weapons in Britain. -~ ~ T g 211ce
® U own Con Lao Allce
4394 Ifuu 2«4 4ina 20 Tho 4 b 0
Now where do you think the Conservative and B = 001 001 001
Fabour Parties stand: ¢ = %08 %08 ¥08 X08
b) | First the Conservative party. In the next __.D___=_X01_ _i_ X01 1 X01_ _1__ X0l _
row of boxes, put a tick in the box that _
you think comes closest to the views of E =005 003 005 003
the Conservative Party. F = X04 X04 X04 X04
c¢)! Now in the next row please put a tick in the .-Gz 002 1003 _ 1002 _J._ =Z..
box that you think comes closest to the views H = 008 008 008 008
of the Labour Party : 3 - 010 010 010 010
d) | And finally, please tick the box in the K =002 {002 | 002 . 002 _
last row that you think comes closest to the |~~~ 7"~ ]
views of the SDP/Liberal Alliance L =006 006 006 06
M- = X07 XQ7 x07 Xo07
t
e)| Now please tell me the letters of the boxes N = 3x05 | X05 | x05 | X05
you tickeadq: the first row! second row! =  |eemessscececcc-- B e == L
third row? fourth row? RING CODES IN GRID P = X10 X10 X10 X10
Q = 000 000 000 000
_R___=%03 | x03 |x03 | x03__
s = X06 X06 Xc6 Xa6
INTERVIEWER NOTE: -
You may change any code already ringed, if on T = 003 003 003 003
reflection, a respondent wants to change his 0 =007 |007 |007 | 007 _
or her mind. Ensure that the final entries i R R R
are quite clear in grid and on scale card. v = X02 x02 X02 x02
1f asked , you may confirm that letter Q is W = X09 X09 X09 X09
the central ition.
s e _Y___=.004 | o0s | 004 | 004 _
Left of ¥ = X97 x97 x97 X97
Right of J = 097 097 097 097
Don't know = 098 098 098 098
OFFICE USE
Get rid ' Increase

[X10]%09] X08 [X07 [X06] X05] X04]X03]X02]X01]000] 001 [002]003]004 005006007 008 [009] 010§

P

W ¢ M § N F R.V D Q B K T Y E L U H

G I
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Unemployment and Inflation Scale

ASK_ALL
Another political issue concerns inflation and unemployment.

SHOW SCALE CARD 2

Please look at this card. People who are convinced that getting people
back to work should be government's top priority will be put a tick

in the last box on the left (Letter P) - POINT TO BOX P AND STATEMENT -
while those who are convinced that keeping prices down should be the
government's top priority will put a tick in the last box on the right
(Letter J) - POINT TO BOX J AND STATEMENT.

S0, just as before, people who hold views that come somewhere between

those two positions will tick a box somewhere along here - POINT TO
BOXES FROM LEFT TQ CENTRE - or somewhere aloug here - POINT TO BOXES

AXNTIRAd A A ANVIRL  AdMA N A AY L D

FROM RIGHT TO CENTRE.

First, would you tick the box anywhere along
the scale that comes closest to your own e) CODIN%:)RING(g?E ]N(E?CH co%g?n
views about unemployment and inflation. a ¢
Own Con Lab Allce
51=-53 fuS54-50j 4 57-59]u60—02
Now where do you think the Comnservative and B =001 001 001 001
b Parti tand:
Labour Parties stan c =3x08 | x08 | x08 | xo8
First the Conservative party. In the next D = X01 X01 X01 X01
row of boxes, put a tick in the box that ~  [T777TTTTTTUTTOITTTTOT | P ER
you think comes closest to the views of E = 005 005 005 003
the Conservative Partcy. F = X04 X04 X04 X04
Now in the next row please put a tick in the ___9___f_992__“_992__<_QQ? ----- 003_.
box that you think comes closest to the views H = 008 008 008 008
f b
of the Labour Party J =o010 | 0w |o10 010
And finally, please tick the box in the K = 002 002 002 002
last row that you think comes closest to the [~~~ " "TTCUTTITOCUTTATIOUTTTIOCTTT
views of the SDP/Liberal Alliance L =006 006 006 006
M = X07 X07 X07 X07
Now please tell me the letters of the boxes - X X %05
you ticked: the first row? second row? N T X0 X 02__1.X 02__J_ X0 .
third row? fourth row? RING CODES IN GRID P = X10 X10 X1lo X10
Q = 000 000 0co 000
_R___=_X03__| x03 | x03__| x03__
§ = X06 X06 X06 X06
INTERVIEWER NOTE:
You may change any code already ringed, if on T = 003 003 003 003
reflection, a respondent wants to change his U = 007 007 007 007
or her mind. Ensure that the final entries | |~~~ " CTTTTATIOTTTYTCOCCTTYTTOUCCT
are quite clear in grid and on scale card. v.oo=X02 x02 x02 X02
1f asked , you may confirm that letter Q is W = X09 X09 Z09 Xo09
the tral ition.
e Y..z004 _oou | 004 | 004
Left of P = X97 x97 X97 X97
Right of J = 097 097 097 097
Don't know = 098 098 098 098

OFFICE USE

Back to work rices

009
P W C M S N F R V P @ B K T Y E L U H 6 J
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Taxation and government services scale

35. ASK ALL
Another issue is to do with taxes and government spending.
SHOW SCALE CARD 3
Please look at this card. People who are convinced that we should put
up taxes a lot and spend much more on health and social services will
put a tick in the last box on the left (Letter P) - POINT TO BOX P AND
STATEMENT - while those who are convinced that we should cut taxes a lot
and spend much less on health and social services will put a tick in the
last box on the right (Letter J) - POINT TO BOX J AND STATEMENT.
So, just as before, people who hold views that come somewhere between
those two positions will tick a box somewhere along here -
POINT TC BOXES FROM LEFT TO CENTRE - or somewhere along here - POINT
TO BOXES FROM RIGHT TO CENTRE.
a)| First, would you tick the box anywhere along e) CODING: RING ONE IN EACH COLUMN
the scale that comes closest to your own @ (b) (c) (d)
views about taxes and government spending. own Con Lab Allce
vg3—65fueb=6ou63=71]8s72=704
Now where do you think the Conservative and B = 001 001 001 001
Labour Parties stand: c = X08 %08 X08 %08
b) | First the Conservative party. In the next D = x01 | x01 | x01 | X01
row of boxes, put a tick in the box that |[7°° 7" "R U 1
you think comes closest to the views of E 005 005 005 003
the Conservative Party. 4 = X04 X04 X04 X04
¢) | Now in the next row please put a tick in the ---g---f-ggg--r-ggg—---992 ----- 003 __
box that you think comes closest to the views H = 008 008 008 008
of the Labour Party 3 = 010 010 010 310
d) | And finally, please tick the box in the | K =002 002 002 002
Tant —mcs +hat s rhinl nemon ~lacacs R Y At A e
LAadL LUW LilalL yuu LILLIIR LUIITS LAVICOL [ o) [SyY L= =
views of the 8SDP/Liberal Alliance L 006 006 0086 006
M = X07 X07 X07 Xo7
e) | Now please tell me the letters of the boxes
you ticked: the first row? second row? W N_DX03_ | %03 L X031 X03_.
third row? fourth row? RING CODES IN GRID P = X10 X10 X10 X10
Q = 000 000 000 000
J-B__.=X03 1 X03 ] X03__]_. X03__
S = X06 X06 xG6 X06
INTERVIEWER NOTE:
You may change any code already ringed, if on T =003 003 003 003
reflection, a respondent wants to change his U = 007 007 007 007
or her mind. Ensure that the final entries | |~~~ "~ 7777 ) O U
are quite clear in grid and on scale card. v = X02 X0z X02 X02
If asked , you may confirm that letter Q is W = X09 X09 X09 X09
the central ition.
I _Y...=00a__loos |oo0a | 004
Left of P = X97 X917 X97 X97
Right of I = 097 097 097 097
Don't know = 098 098 098 098

Services up

OFFICE USE

10 Jx09]x08]x07]x06[x05[x04 [x03]X02]x01[000] 001 ]

P W €C M S N P R V D Q B K T Y E L U

[002]003]004]005]006 [007]008

Taxes down

009010
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Nationalisation/privatisation scale

ASK ALL

OFFICE USE
SPARE 474-80
CARD 5

There has been a lot going on recently about nationalisation and privatisation.

CHNY
A Y

Please look at this card.

L

those who are convinced

that we should sell off many more nationalis

People who are convinced that we should
nationalise many more private companies will put a2 tick in the last
box on the left (Letter P) - POINT TO BOX PA AND STATEMENT - while

POINT TO BOX J AND STATEMENT.

FROM RIGHT TO CENTRE

industries will put a tick in the last box on the right (Letter J)

So, just as before, people who hold views that come somewhere between
those two positions will tick a box somewhere along here - POINT TO
BOXES FROM LEFT TO CENTRE - or somewhere along here - POINT TO BOXES

- A
cu

a)| First, would you tick the box anywhere along
the scale that comes closest to your own e) CODINQ:.RING.gEE TN.E%CH CO%ga
views about nationalisation and privatisation. é:i éoi i:; Aili
506-08 |509-11{512-1% 51571
Now where do you think the Couservative and B =.001 00l 001 001
Labour Parties stand: _ mn e e o
C = AUG AUO AUD Auol
b)! First the Conservative party. In the next D =%x01 | X01 | X0l | _ X0l
raow of boxes, put a tick in the box thuc T -
you think comes closest to the views of E = 003 005 005 ¢
the Conservative Party P = XD4 X04 X04 X04
c) | Now in the next row please put a tick in the ——-g-——f-ggg----992----99? ----- 002,
box that you think comes closest to the views ): 1 = 008 008 008 008
of the Labour Party 3 = 010 010 010 010
d) | And finally, please tick the box in the E__ =002 | 002 | 002 | _ 002 _
last row that you think comes closest to the [~~~ 77 :— 7
views of the SDP/Liberal Alliance L =006 006 006 006
M = X07 X07 X07 X07
e} | Now please tell me the letters of the boxes _
you ticked: the first row? second row? _ NS %03 ] X031 X03 X035,
third row? fourth row? RING CODES IN GRID ( P = X10 X10 X10 X10
Q = 000 000 000 000
_R___s_X03__ | X03  }X03__ [ _ %03,
S = X06 X06 XG6 X06
INTERVIEWER NOTE: . = T =003 | 003 | 003 003
You may change any code already ringed, if on
reflection, a respondent wants to change his 0 =007 007 | 007 | 0QG7_
or her mind. Ensure that the final entries | | . - TT1 o TV oY ]
are quite clear in grid and on scale card. v.oo=x02 X02 X02 X0:
If asked , you may confirm that letter Q is w = X09 X09 X09 X09
the central position. Y =004 | oos |oos | 004
Left of P = X97 X97 Xx97 Xg7
Right of J = 097 Q97 097 097
Don't know = 098 098 098 098
OFFICE USE
Privatise

Nationalise

[xT0Ix09] x08]x07 ] x06][X05] X04[%03]x02]x01]000] 001 [002] 003] 004005006 [007]008 [009] 0108
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Never had paid job of 10+ hrs a week

IF CODE 03 - 04 AT a) OR CODE 1 - 3 AT b)

¢) Are you now, or have you ever been,
a member of a trade union? Yes - now

Yes - used to be

No

-~

521

Col./ Skip
CLASSIFICATION Cade to
ASK ALL
Finally, a few questions about yourself and
your background.
SHOW CARD K
Which of these descriptions applies to what you were doing last
week, that is in the seven days ending last Sunday? PROBE: Any
others? CODE ALL THAT APPLY IN COLUMN I
IF ONLY ONE CODE AT I, TRANSFER IT TO COLUMN II
IF MORE THAN ONE AT I, TRANSFER HIGHEST ON LIST TO IL 518o19
I 11
In full-time education (not paid for by employer, -
including on vacation) A 01
On government training/employment scheme (e.g. Community > b)
Programme, YTS, etc.) B 02 |
In paid work (or away temporarily) -
for at least 10 hours in the week C 03
- C)
Waiting to take up paid work already accepted D 04 |
Unemployed and registered at a benefit office E 05 b
Unemployed, not registered, but actively looking for a job F 06
Unemployed, wanting a job (of at least 10 hrs per week),
but not actively looking for a job G 07
Permanently sick or disabled H 08 » b)
Wholly retired from work J 09
Looking after the home K 10
Doing something else (SPEGCIFY) L 11
IF CODE 01, 02, or 05 - 11
b) How long ago did you last have a paid job
{other than the government scheme you mentioned) 52 0
of at least 10 hours a week, excluding Saturday or
holiday jobs? A
Within past 12 months 1=
Over 1-4 years ago 2 y c)
Over 4-5 years ago 3 ]
Over 5-10 years ago 4 7
Over 10-20 years ago 5 Y Q.39
Over 20 years ago 6
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ASK IF RESPONDENT IS: Col./ Skip
Code to
- IN PAID WORK NOW (Q.37a CODE 03) - ASK ABOUT PRESENT JOB
- WALTING TO TAKE UP PAID WORK (Q.37a CODE 04) - ASK ABOUT - 0.0.0
FUTURE JOB 0.C 522=26
- NOT WORKING NOW BUT WAS IN PAID WORK WITHIN PAST FIVE | !
YEARS (Q.37b CODES 1-3) - ASK ABOUT LAST JOB |
527=28
Now I want to ask you about your (present/future/last) job. E.S.
CHANGE TENSES FOR (BRACKETED) WORDS AS APPROPRIATE =7
38.a) | what (is) your job? PROBE AS NECESSARY: S E.C
What {(is) the name or title of the job? 3
b33 2
SC/NM.M
b) | What kind of work {do) you do most of the time? IF RELEVANT: What
materials/machinery (do) you use? Siizin
S1cC
535-36
H-G
¢) | What training or qualifications (are) needed for that job?

SPARE 53736

d) | (Do) you supervise or {are) you respoansible for the
work of any other people? IF YES: How many?
Yes: WRITE IN NO.: (_ 53842
No: RING: 0000
) 543
e) | Can I just check: (are) you ... (READ OUT) ... an employee, 1 £)
or - self-employed? 2 g)
IF EMPLOYEE (CODE 1): SHOW CARD L
f) Which of the types of organisation on this card
(do) you work for?
5 Uy
PRIQRITY CODE Private firm or company i
Nationalised industry/public corporation 2
Local Authority/Local Education Authority 3
Health Authority/hospital 4
Central Government/Civil Service 5
Charilty or trust 6
Other (SPECIFY) 7
ASK ALL
g) | what (does) your employer (IF SELF-EMPLOYED: you) make or do at the
place where you usually (work)? IF FARM, GIVE NO. OF ACRES
545
h) | Including yourself, how many people (are) (No employees) 0
employed at the place you usually (work) from? Under 10 1
IF SELF-EMPLOYED: (Do) you have any employees? 10-24 2
IF YES: How many? 25-99 3
100-499 4
500 or more 5
i he job ... 546
L 1 (1s) cthe jo (READ OUT) full time (30+ hours per week) 1
or part-time (10-29 hours per week)? 2




39.

23 Col./ Skip
ASK ALL Code to
547
At present are you ... READ OUT)
. married (or living as married}, 1 b)
widowed, 2
divorced or separated, 3 y Q.41
or single? 4
IF MARRIED OR LIVING AS MARRIED (CODE 1) - SHOW CARD K AGAIN
b) Which of these descriptions applies to what your (husband/wife/
partner) was doing last week, that is in the seven days ending
last sunday? PROBE: Any others? CODE ALL THAT APPLY IN
COLUMN I
IF_ONLY ONE CODE AT I, TRANSFER TO COLUMN II ShEms
IF MORE THAN ONE AT I, TRANSFER HIGHEST ON LIST TO II I II
In full-time education (not paid for by employer, -
including on vacation) | A 01
c ing aca )
A
On government training/employment scheme (e.g. Community y c)
Programme, YTS, etc.) | B 02
In paid work (or away temporarily)
for at least 10 hours in the week | C 03 4)
Waiting to take up paid work already accepted D 04 |
Unemployed and registered at a benefit office E 05 7
Unemploved, t registered; but actively locking for a job F 06
Unemployed, wanting a job {(of at least 10 hours per week),
but not actively looking for a job| G a7
Permanently sick or disabled| H 08 c)
Wholly retired from work| J 09
Looking after the home K 10
Doing something else (SPECIFY) L 11
IF CODE 01, 02, OR 05 - 11
¢} How long ago did your (husband/wife/partner) have a paid
job (other than the government scheme you mentioned) of 550
at least 10 hours a week, excluding Saturday or holiday 7
jobs? Within past 12 months 1
Over l-4 years ago 2 a)
Over 4-5 years ago 3
Over 5-10 years ago 4 ]
Over 10-20 years ago 5 _bo.s1
Over 20 years ago 6
Never had paid job of 10+ hrs a week 7
IF CODE 03-04 AT b) OR CODE 1-3 AT c) .
d) Is your (husband/wife/partner) mow, or has (he/she)
ever been, a member of a trade union? Yes - now 1
Yes - used to be 2
No 3
Don't know 4




40.a)

b)

c)

d)

e)

g)

k)

i)
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ASK IF RESPONDENT'S SPOUSE/PARTNER IS:
-~ IN PAID WORK NOW (Q.39b CODE 03) - ASK ABOUT PRESENT JOB
~ WAILTING TO TAKE UP PAID WORK {Q.39b CODE 04) - ASK ABOUT FUTURE JOB

~ NOT WORKING NOW BUT WAS IN PAID WORK WITHIN PAST FIVE
YEARS (Q.39c CODES 1-3) - ASK ABOUT LAST JOB

Now I want to ask you about your (husband's/wife's/partner's) job.

What (is) the name or title of that job?
What kind of work (does) he/she do most of the time? IF RELEVANT:
What materials/machinery {(does) he/she use?
What training or qualifications (are) needed for the job?
(Does) he/she supervise or
(is) he/ she responsible for Yes: WRITE IN:
the work of any other people? .
IF YES: How many? No: (RING): 0000
(Is) he/she ...{READ OUT) ... an employee,
or - self-empowd?
IF EMPLOYEE (CODE_1): SHOW CARD L
f) Which of the types of . Private firm or company
organisation on this . . . . .
card {does) he/she work Nationalised industry/public corporation
for? Local Authority/Local Education authority
Health Authority/hospital
PRIORITY CODE
Y €0 Central Government/Civil Service
Charity or trust
OTHER (SPECIFY)
ASK ALL
What (does) the employer (IF SELF~EMPLOYED: he/she) make or do at
the place where he/she usually (works)? IF FARM GIVE NO. OF ACRES
Including him/herself, roughly how many people
(are) employed at the place where he/she usually (No employees)
(works) (from)? IF SELF-EMPLOYED: Do you have Under 10
any employees? IF YES: How many? 10-24
25-99
100-499
500 or more
(Is) the job ... READ OUT ...

fuli-time (30 hours+)

or - part-time (10-29 hours)?

Cal./ Skip
Code tn
0.C. s552-35

557=5 8
E.S.
5595 0
S.E.G.
S Leeb 2
SC/M.NM
S l-eh L
S1C
56566
H-G
SPARE 56 7= 3
56 9m7 2
57 3
1 f)
2 g)
57 b
1
2
3
4
5
6
7
575
0
1
2
3
4
5
57 6
1
2
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. - Col./ Skip
-ASK_ALL Code 10
41, Compared with British families in general, would you
say your household s income is (READ OUT) 377
far below average, 1
below average, 2
average, 3
above average, 4
or far above average? 5
(Don't know) 8
42. Do you, or does anyone in your household, own or 278
have the use of a car or a van? Yes - one 1
IF YES: PROBE: One car/van or more than one? Yes - two or more 2
No 3
43. Are you, or is anyone in your household, covered
by a private health insurance scheme that allows 3759
you to get private medical treatment? Yes - through group 1
IF YES: PROBE: Through a group (e.g. Yes - individually 2
employer/trade union) or No 3
as an individual?
Don't know 8
SHOW CARD M
e . 580
+4.a) fDo you (or your husband/wife/partner) own, or
h b t
ave you ever bought shares in any of Yes, have shares now 1
these recently privatised companies?
PROBE FOR CORRECT CODE Yes, bought but none owned now
No, never bought any 3
(IF VOLUNTEERED: Applied for shares but
none allocated) A
{ oUO | CARD 6
b) Do you (or your husband/wife/partner) own any other 508
Luhares quoted on the stock exchange, including Yes 1
¥
nit trustg? No 2
5.a) | Do you have any children, including step-
children or others in your care (living here
or away from home) who are:- Yes No
6§07
(i) aged under 16?7 1 2
(ii) aged 16 or over and still 608
in full-time education? 1 2
ASK ALL
b) | Have you ever sent - or are you considering 609
sending -~ any children in your care to a Yes- in the past 1
private (fee paying) primary or secondary Yac = s 2
school in Britain? ies noew
Yes - considering 3
No 4




Fin * o
46.a) | CODE WHETHER ACCOMMOCATION IS .
...Private househol&, same address as Wave 1 (Nov.86") BrocH
Interview 96 e)
...Private household, different address from Wave 1
interview (mover) A b)
Institution (SPECIFY TYPE) 01 | Q.49
IF PRIVATE HOUSFHOLD MOVER (CODE A)
b) Do you = your hausehold - own or
rent this (house/flat/accommodation)? OWNS House 02 Lo
(INCLUDE WITH MORTGAGE) COS;WNS Flat/maisonette 03 :}—
IF RENTED: From whom? RENTS FROM: Local Authority - house 04 :f“‘*Q'47
Local Authority - flat/maisonette 05
Housing Association 06
Private company/landlord 07 — Q.48
Other (SPECIFY) 97
IF (MOVER) OWNS(CODE 02 OR 03 AT b) 612
¢) Have you ever been a local authority tenant? Yes 1 d)
No 2 G.48
IF 'YES' (CODE 1 AT c¢) 613
d) Were you a local authority tenant in this Yes ’ £)
{(house/flat /accommodation) before your household
purchased it? No 2 e)
IF 'NO' (CODE 2 AT d)OR 'SAME ADDRESS' (CODE 96 AT a) 6104
e) Have you ever bougHE a council house or flat Tes 1 £}
that you were living in? Ho 9 Q.48
IF 'YES' AT d) or e)
£) When did you buy it? ENTER 19 BLe-t 8l Q.48
Month Year
47. IF MOVER RENTS FROM LOCAL AUTHORITY (Q.46b CODE 04 OR 05)
How likely is it that your household will try to
buy this house/flat from the local council in the oLe
next 5 years or so; . would you say ...(READ OUT)
. very likely, 1
quite likely, 2
not likely, 3
or definitely not? 4
(Negotiations already started) 5
(Don't know) 8
48. ASK ALL IN PRIVATE HOUSEHOLDS (ie. ALL EXCEPT Q.46a CODE 01 620
In whose name is this (house/flat/accommodation)
owned or rented?
Respondent and/or spouse only 1
2

Parent or parent-in-law

Other (SPECIFY IN FULL)
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Col./ Skip
ALL Code L]
. 621
9.a) | INTERVIEW CODE: Sex Male ’
Female 2
b) ASK: May I check, what was your age last birthday?
ENTER 622-23
IF RESPONDENT IS MALE AGED 70+ OR FEMALE AGED 65%, SKIP TO Q.51
FOR ALL OTHERS, ASK Q.50
0.a) And may I check: during the last four years or so, that is 62y
since the middle of 1983, have you been unemployed and
looking for a job - for a period lasting 13 weeks or
7 Yes 1 b)
longer?
NB., IF IS/WAS IN FULL-TIME EDUCATION, EXCLUDE No 2 Q.51
UNEMPLOYMENT DURING VACATIONS
IF YES
b) For how many months in total during the
last four years have you been unemployed
and looking for a joh?
ENTER MONTHS §25=26
ASK ALL: SHOW CARD N
1. Which of these is the main source of
income for you (and your husband/wife/partner)
at present? ONE CODE ONLY 627-28
Earnings from employment (own or spouse/partmer's) 01
Occupational pension(s) ~ from previous employer(s) 02
State retirement or widow's pension(s) 03
Unemployment benefit 04
Supplementary benefit 05
Sickness, invalidity or disabled pension or benefit(s) 06
Other state benefit(s) 07
Interest from savings or investments 08
Student grant 09
Dependent on parents/other relatives i0
Other main source (SPECIFY)
97
52.4) Do you ever think of yourself as belonging 629
to any particular class? IF YES: Which class Yes, middle class 1 —bq.53
is that? Yes, working class 2 )
Yes, other (SPECIFY) 33
No AJ_"* b)
Don't know 8
IF CODE 3,4,8 AT a) 630
b .
) M?st people say they beléng either to the . . middle class 1
middle class or the working class. If you . )
had to make a choice, would you call or working class? 2
yourself ... (READ OUT) (Refused) 0
Don't know 8




53.a)

"ALL: CHECK DETAILS ON 'ARF' OR ASK

Is there a telephone in (your part of) this

accommodation?

IF NO

b) Do you have easy access to a 'phone where

you can receive incoming calls?

IF YES AT a) OR b)

¢) A few interviews on any survey are checked
by a supervisor to make sure that people

28

are satisfied, or if something needs clarifyimg.
In case my supervisor needs to contact you it
would be helpful if we could have your

télephone number.

RECORD HOME (OR WORK) NUMBER

ON ADDRESS RECORD FROM (NOT HERE)
%[0 NOT ASK FOR WORK NUMBER BUT
ACCEPT IF OFFERED

Skip
to

Yes 1
No 2

Yes - home 1

Yes — work* 2

No 3

Number given 1

Number refused 2

c)

b)

c)

Q.54

54.a)

ASK ALL

When the next general election comes round, there
Would you be

may be another survey like this one.
willing to take part im it again?

IF WILLING: CHECK DETAILS ON 'ARF' OR ASK

634

Yes, willing 1

No, not willing 2

b) Suppose we call on you at this address after

the election and for some reason cannot get
Is there another address

in touch with you.

or 'phone number you could give us of someone

who would know your whereabouts?

IF NECESSARY, PROMPT: Perhaps the address of a

friend or relative who is unlikely to move?

-

635

Another address/'phone no. given 1

No other address/’'phone no. given 2

IF GIVEN, RECORD ALL INFORMATION

ON BACK OF ADDRESS RECORD FORM (NOT HERE)

b)
END

TIME INTERVIEW COMPLETED

DATE OF INTERVIEW

SIGNATURE

3
> DAY

DURATION (Minutes)

6 3 B3 9

INTERVIEWER NUMBER

MONTH

636=-37

6L Juay]




SOCIAL AND COMMUNITY PLANNING RESEARCH

Head Office

35 Northampton Square,

election campaign?

[Other Scottish/Welsh/regional or local daily morning paper

{SPECIFY)

and _ —4000 - London, EC1V OAX.
THE UNIVERSITY OF OXFORD. NUFFIELD COLLEGE ! Telephone: 01-250 1866
P.921/2 BRITISH ELECTION STUDY PANEL (2)
June 1987
Serial Area New area
Number Number number(s) B
- Wave 1
Time interview started - Wave 2
(24 hour clock)
N ”
ASK ALL gzdi ts::p
.a) | Would you say you cared a good deal 130
which Party won the recent general
election or that you didn't care very Cared a good deal 1
much which Party won? Didn't care very much 2
During the election campaign: 131
a)] did you watch and listen to any Party Yes 1
election broadcasts on television
. No 2
or radio?
132
b) | Did you read any newspaper articles Yes 1 c)
ien?
about the campaign? No 2 Q.3
IF YES (code 1 at b) 133=34
c) Which daily morning paper did you read most?
PROBE IF NECESSARY: Which one did you rely
t th
on most for news about the (Scottish) Daily Express o1

Daily Mail 02

Daily Mirror/Record 03
Daily Star 04

The Sun a5

Daily Telegraph 06
Financial Times 07

The Guardian 08

The Times 09
Morning Star 10
Today 11

The Independent 12

London Daily News 16

13

Other (SPECIFY)

14




2(B)

} Col./ Skip
ASK ALL : Code to
(B})3a)] Generally speaking, do you think of OFFICE
yourself as Conservative, Labour, Liberal, USE(AB-6| 135—55
Social Democrat (IF SCOTLAND: Nationalist/
IF WALES: Plaid Cymru), or what? 15§57
IF "ALLIANCE" PROBE: Liberal or Social Democrat? Conservative 01]
Labour 02
Liberal 04
Social Democrat 05
Alliance (AFTER PROBE) 03 yc)
Scottish Nationalist 06
Plaid Cymru 07
The Green Party 08
Other (SPECIFY) 97 |
None /No 00 >b)
Don't know 98 _
IF NONE/DON'T KNOW (CODE 00 OR 98)
b) Do you generally think of yourself as
a little closer to one of the Parties 158—509
than the others? IF YES: Which Party?
IF "ALLIANCE" PROBE: Liberal or Social Democrat -
Conservative ot
Labour 02
Liberal 04
Social Democrat 05
Alliance (AFTER PROBE) 03 3c)
Scottish Nationalist 06
Plaid Cymru 07
The Green Party 08
Other (SPECIFY) 97 _
=
N No 00
one/ Q. 7
Don't know 98 |
IF PARTY CODED AT a) OR b) ASK c)
¢} Would you call yourself very strong 180
(QUOTE PARTY FROM a) OR b), fairly
strong or not very strong? Very strong 1
Fairly strong 2
Not very strong 3
Don't know 8
4-6 THERE ARE NO Q.'s 4,5,6 IN VERSION B




3(B) Col./ Skip
ASK ALL Code | to
7.a) | Which do you think would generally be better 61
for Britain nowadays... (READ OUT)
+«+ to have a government formed by one political party on its own, 1 Q.8
or to have a government formed by two political parties together =
in coalition? 2 b)
(Don't know) 8 Q.8
IF _'TWO PARTIES/COALITION'
b) Which of these Party groupings do you think 162
would provide the best government for Britain...(READ OUT)
... Conservative and Alliance 1
or = Labour and Alliance 2 - Q.8
or - Conservative and Labour 3_J
or - some other grouping? 4 c)
(Don't know) 8 Q.8
IF 'SOME OTHER GROUPING'
¢) Which grouping is that? (WRITE IN) 16 364
165 166
ASK ALL
8.a) | Generally speaking, do you think of the . a) b)
. . Liberal SDP
Liberal Party as being closer to the _— _—
— Closer to
Conservative Party or closer to the Conservatives 1 1
Labour Party? RECORD IN COLUMN a)
b) 1And the Social Democratic Party, Closer to Labour 2 2
would you say it was closer to the No difference/
Conservative Party or closer to the neither
?
Labour Party? RECORD IN COLUMN b) Don't know 8 8
c¢) {Considering everything the Liberal
and Social Democratic Parties stand
for, would you say that ,.. (READ QUT) 187
. there is a great difference between them, 1
some difference, 2
or not much difference? 3
(Don't know) 8
d) |Now, considering everything the
Conservative and Labour Parties stand 168
for, would you say that ...(READ OUT)
.. there is a great difference between them, 1
some difference, 2
‘or not much difference? 3
(Don't know) 8
e) Do you think there is more difference 169

less difference, or about the same amount?

now between the Conservative and Labour More now
Parties than there wa the 1983 election
s at ? About the same

Less now

Don't know

—

W W




4(B)

Col./ Skip
]
ASK ALL Code L
Some people say that we should change the voting
system to allow smaller political parties to
get a fairer share of MPs. Others say that we
should keep the voting system as it is to 170
produce effective government. Which view comes
closer to your own ... (READ OUT)
... that we should change the voting system, 1
or - keep it as it is? 2
(Don't know) 8
IF ASKED, EXPLAIN THAT THIS
REFERS TO "Proportional representation'.
s OFFICE
THERE IS WO Q.10 IN VERSION B
N0 Q USE (Qal0)| '71-73
ASK ALL: SHOW CARD B
Please choose a phrase from this
card to say how you feel
about ... READ QUT
Strong Neither in Strong DK/
-ly in In favour nor ~ly Can't
favour favour against Against against say
... the Conservative Party? 1 2 3 4 5 8 178
.++» the Labour Party ? . 1 2 3 4 5 8 177
... the Social Democratic
Party? 1 2 3 4 5 8 178
+++ the Liberal Party? 1 2 3 4 5 8 179
IF SCOTLAND:
«+. The Scottish National
Party? i 2 3 4 5 8 18¢
IF WALES: CARD 2
£) Plaid Cvmrn? 1 2 k] FA g -] 208
L/gess ridald Lyuiiu f A 4 e - o




12.a)

b)

c)

d)

5(B) Col./ Skip
ASK ALL: SHOW CARD C (FOR WHOLE QUESTION) Code to
Here is a list of six issues that were discussed
during the election. When you were deciding about
voting, how important was each of these issues to
you? First, defence: was it extremely important,
quite important or not very important to you in
deciding about voting? REPEAT FOR ISSUES (ii)-(vi)
Extremely Quite Not very
important important important
(1) Defence 1 2 3 207
(ii) Unemployment 1 2 3 208
(iii) Inflation 1 2 1 209
(iv) Health and Social
Services 1 2 3 210
(v) Nationalisation and
privatisation 1 2 3 211
{vi) Law and order 1 2 3 212
. .. 213 21w
Which one of the six issues
one b) c)
on the card would you say was
. - Most Next
the most important to you in —
deciding about voting? Defence 1 1
Unemployment 2 Z
And which next? Inflation 3 3
Health and
Social Services 4 4
Nationalisation and
privatisation 5 5
Law and order & 6
Don't know/Can't choose 8
Besides the six issues on the card , are there 215
any other things that were at least as important
. e P,
as these were to you in deciding about voting? Yes 1 e)
No 2 Q.13
IF YES (CODE 1 AT 4)
e) Which? Any others? {RECORD IN FULL)
216-17
Z18-139
22021

222-23




6(B) Col./ Skip
ASK "ALL Code to
13.a)] On the whole, do you think the Conservative 224
government over the last four years has handled
the problem of inflation ... (READ OUT)
‘ _— ... very well, 1
fairly well, 27
not very well, 3
or not at all well? 4
(Don't know) 8
b)1 And unemployment: on the whole do you think .
the Conservative government over the last four
years has handled the problem of unemployment ... (READ OUT)
... very well, 1
fairly well, 2
not very well, 3
or not at all well? 4
(Don't know) 8
c¢)| And on the whole, do you think the
Conservative government over the last four 226
years has handled taxes ... (READ OUT)
... very well, 1
fairly well, 2
not very well, 3
or not at all well? 4
(Don't know) 8
(1) (ii) (iii)
Conservative Labour [Alliance
227 228 229
14.a) i} On the whole, would you describe
the Conservative Party nowadays
as ... (READ OUT)
.. extreme, 1 1 1
+ii) And the Labour Party or mod 2 2 2
nowadays is it... .
3
(READ OUT) (Neither or both) 3 3
! 8
iii) And the SDP/Liberal (Don't know) 8 8
Alliance, is it ... {READ OUT)
b) i) And would you describe 230 231 232
the Conservative Party
nowadays as ...(READ OUT)
ii) And the Labour Party +»- united, L 1 !
nowadays, is it ... or divided? 2 2 2
(READ OUT) (Neither or both) 3 3 3
iii) And the Alliance, .
is it ... (READ OUT) (Don't know) 8 8 8
¢) - d) OVERLEAF




7(B)

Col./ Skip
ASK ALL Cade to
(1) (ii) (iii)
l4.¢) | 1) On the whole, would you Conservative | Labour Alliance
describe the Conservative 2131 23 235
Party as... (READ OUT)
...good for one class, 1 1 1
i1) And the Labour
Party, is it or good for all classes? 2 2 2
(READ OUT) (Neither or both) 3 3 3
iii) énd'the Alliance, (Don't know) 8 8 8
is it (READ OUT)
d)l i) Do you think the 236 237 233
Conservative Party
has (READ OUT) clear policies, 1 1 1
ii}  And the Labour or vague policies? 2 2 2
Party, does it have .
(READ OUT) (Neither or both) 3 3 3
L]
iii) And the Alliance, (Don't know) 8 8 8
dees it have ...(READ OUT)
15. Now I'd like you to think (a) (b) (c)
about your feelings when Conservative|{ Labour Alliarce
I mention the Parties: 2139 243 247
Proud? Yes i 1 1
a)-c)}{ Has the ...(EACH IN
2
TURN) Party, ever made No 2 2
you feel (READ OUT Don't know 3 3 3
EACH WORD)?
240 24y 248
Disgusted? Yes 1 1 1
No 2 2 2
. Don't know 3 3 3
IF NECESSARY, EXPLAIN: 241 245 249
. +.. Afraid? Yes 1 1
because of something
it has done or something No 2 2 2
it says it will do. Don't know 3 3 3
242 246 250
Hopeful? Yes 1 1 1
No 2 2 2
Don't know 3 3 3
16. SHOW CARD D
a)| Looking at this card, Very Fairly Fairly Very Don't
on the whole how effective effective ineffective ineffective know
effective or in-
effective do you think 251
Mrs Thatcher is as
a prime minister? 1 2 3 4 8
b)| And on the whole how
effective or ineffect- 252
ive do you think Mr
Kinnock would be as a
prime minister? 1 2 3 4 8
c)| How about Dr Owen? 1 2 3 B 253
d}| And Mr Steel? 1 2 3 4 8 254




3(B) Col./ Skip
Code tn
SHOW CARD E None/
—_— Mrs Mr Dr Mr Don't
17. Still thinking of these four Thatcher Kinnock Owen Steel know
Party leaders, which one do
you think would be (READ OUT) 255
a)| ... The prime minister most able
to unite the nation? i 2 3 4 8
b) .. the prime minister most 256
likely to get things done? 1 2 3 4 8
c) the one most likely to im-
prove Britain's standing abroad? 1 2 3 4 287
d) the one with most concern 258
for all groups in society? 1 2 3 4 B
e) .. the one who would get most 28
out of a team? 1 2 3 4 8
f) .. the one most in touch with 260
ordinary people's problems? 1 2 3 4 8
SHOW CARD F
18.2a)} Which of the qualities
on this card would you
say Mrs Thatcher has: a) b) c) d)
choose as many as you Mrs Mr Dr Mr
think apply? Thatcher Kinnock Owen Steel
b) - a| REPEAT FOR OTHER Caring | 1 261l | 1 270 1 306 |1 31
THREE LEADERS Determined { 2 | 2 *7' j2 T {2 *P°
IN TURN
— Shrewd 3 263 3 272 3 308 3 317
Likeable as a person { 4 264 4 273 4 3109 | 4 3108
Tough | 5 2651 5 27% 5 3to |5 3119
Listens to reason | 6 266 6 2758 é 31l | § 320
Decisive | 1 2671 1 276 |1 312)1 321
Sticks to principles 2 268 2 277 2 313 2 322
NONE OF THESE 0 269 0 278 31w | Q 323
Don't know 8 8
OFFICE _279-80
USE CARD 3




9B

ASK ALL
19. Now I'd like you to think a) b) e) d)
about your feelings when Mrs Mr Dr Mr
I mention the Party leaders: Thatcher Kinnock | Owen Steel
a) - d}| Has (EACH LEADER ’ 12u trer 332 336
IN TURN) ever made you Proud? Yes 1 1 1 1
feel (READ OUT EACH No 2 2 2 2
WORD)? .
Don't know 3 3 3 3
325 329 133 337
Disgusted Yes 1 1 1 1
‘No 2 2 2 2
EXPLAIN IF Doun't know 3 3 3 3
NECESSARY:
I 326 330 336 | 338
because of Afraid? Yes 1 i 1 1
something she/he
has done or said. No 2 2 2 2
Don't know 3 3 3
327 331 3as| 339
.. Hopeful? Yes 1 1 1 1
Ko 2 2 2 2
Don't know 3 3 3 3
SHOW CARD G
20.a) Since the last general election, in June 1983,
- would you say that prices have increased a lot,
increased a little, stayed the same, fallen
a little or fallen a lot?
Increased Increased Stayed Fallen Fallen Don't
a lot a little the same little a lot Know
(PRICES) 1 2 3 4 5 0 g
b) | What about unemployment? 1 2 3 4 5 341 8
c) Taxes? 1 2 3 4 5 342 8§
d) Your own standard of s
living? 1 2 3 4 5 8
e) | The general standard of
living? 1 2 3 4 5 3%+ 8
f) |The standard of the health
and social services? 1 2 3 4 s **° 8
g) Crime? 1 .2 3 4 5 346 8
h) Strikes? 1 2 3 4 5 347 8
i) {The quality of education? 1 2 3 4 5 348 8
il Britain's safety from e
the threat of war? i 2 3 4 5 7 B




16(B)

Col./ Skip
ASK ALL Code to
21, Some people say that British governments
nowadays — of whichever party - can actually
do very little to change things. Others say
they can do quite a bit. Do you think that
British governments nowadays can do very little
or quite a bit ... (READ OUT)
Very Quite Don't
little a bit know
a) ««+ to keep prices down? 1 2 3 150
b) And can British governments nowadas do very
little or quite a bit to reduce unemployment? 1 2 3 35l
e) And to reduce taxes? 1 2 3 352
d) And to improve Britain's safety from
the threat of war? 1 2 3 383
22, There's a lot of talk these days about nuclear weapons.
a) | Do you think that the siting of
American nuclear missiles in Britain a) b)
makes Britain a safer or a less American| Own
safe place to live? nuclear |nuclear
CODE IN COLUMN a) missiles|missiles
350 355
b) | And do you think that having ocur own Safer 1 1
nuclear missiles makes Britain a
. Less safe 2 2
safer or a less safe place to live?
CODE IN COLUMN b) Don't know 3 3
23. Thinking now of trade unions and big business in this country: 356
a) | First do you think that trade unioms ... (READ OUT)
«.. have too much power, 1
or not? 2
(Dan 't Lnow) 8
LVASULL [ DAL W w
b} | Do you think that big business in this country ... (READ QUT) 357
«+. has too much power, 1
or not? 2
(Don't know) 8




P

L1(B)

L Col./ Skip
ASX ALL: SHOW CARD H Cods 1o
24, Which of the three statements on this card comes closest
to your oun views on the Common Market? 358
Britain should leave the Common Market without further ado 1
Britain should stay in the Common Market provided
we can get better terms 2
Britain should stay in the Common Market aayway 3
Don't know 8
25. Do you think the government should or should not do each
of the following things, or doesn't it matter either way
... (READ 0UT)
Should Doesn't Don't
Should not matter know
a) Pull British troops out of Northern
Ireland immediately? 1 2 3 8 353
b) .. Spend less on defence? 1 2 3 8 360
c) . Get rid of private education in
Britain? 1 2 3 8 161
Do you think the government
should or should not ...
d) Spend more money to get rid of
paoverty? 1 2 3 8 ie2
e) Encourage the growth of private
medicine? 1 2 3 8 363
£) . Put more money into the National
Health Service? 1 2 3 8 £l
Do you think the government should
or should not ...
g) Introduce stricter laws to regulate
the activities of trade unions? 1 2 3 8 365
h) ... Give workers more say in running
the places where they work? 1 2 3 8 166
1) ... Reduce fares on public transport
by subsidizing them? 1 2 3 8 367
1)1 ... Spend more money on education? 1 2 3 8 368




12(B)

Col./ Skij
ASK ALL Code to
26 Please say whether you agree or disagree with
each of these statements, or say if you are
not sure either way.... {READ OUT) RoT
Agree Disagree  sure
a)| ... The government should spend more
' money to create jobs? 1 2 3 369
b){ ... Income and wealth should be
redistributed towards ordinary
working pecple? 1 2 3 370
z Do you agree or disagree that ...
c)] ... The police should be given more
power? 1 2 3 371
d)| ... Britain should bring back the
death penalty? 1 2 3 372
e)| ... People who break the law should
ha atwran ati1ffor cantancac? 1 2 1 373
e BLVCLI DLillCL whllh Tl . 1 At -t
f)] ... The government should spend more
on overseas aid? 1 2 3 374
27.a) | On the whole, do you think the Conservative 375
government over the last four years was
successful or unsuccessful in keeping taxes
down generally? PROBE: Very or fairly?
Very successful 1
Fairly successful 2
Fairly unsuccessful 3
Very unsuccessful 4
Don't know 8
b) ! And was it successful or unsuccessful in
improving your standard of living? 376
PROBE: Very or fairly?
Very successful 1
Fairly successful 2
Fairly unsuccessful 3
Very unsuccessful 4
Don't know 8
QFFICE USE
377%80

SPARE




28.

a)

b)
c)

d)
e)

£)

g)

h)

i)

k)

13(8)

ASK ALL  SHOW CARD J

I want to ask now about some changes that have

been happening in Britain over the years.

For

each one I read out, can you say whether you think
it has gone too far, not gone far enough, or is

it about right.

Think first about the welfare benefits
that are available to people today. Would
you say they have gone too far, are they

about right or have they not gone far

L A%y VL mWLT LGl

enough?

How about attempts to give equal
opportunities to women in Britain?

The right to show nudity and sex in
films and magazines?

The building of nuclear power stations?
The right to have protest marches

and demonstrations?

Attempts to give equal opportunities

to black people and Asians in Britain?

Allowing the sale of council houses to
tenants?

The movement towards comprehensive
schooling?

The availability of abortion on the
National Health Service?

Attempts to protect the environment -
and control pollution?

Attempts to give equal opportunities
to gay men and lesbians in Britain?

Col./
Code

Gone too
far

About Not gone Don't
right far enough know

1 2 3 8
1 2 3 8
1 2

1 3

1 2 3 8
1 2 3 8
1 2 3 8
1 2 3 8
1 2 3 8
1 2 3 8
1 2 3 8




14(B}

Col./ Skip
ASK ALL Code to
(B)29.3] Talking to people about the general election, 417
we have found that a lot of people didn't manage Yes, voted 1 Q. 30
to vote, How about you - did you manage to vote ) by
in the general election? No -
IF NO (code 2) ASK b) and c)
b) Why was that?  PROBE FULLY
418-19
420-2 1
w22-23
c) Suppose you had voted: which Party would
you have been most likely to vote for?
DO NOT PROMPT
IF 'NONE/DON'T KNOW PROBE BEFORE CODING: “2uoas
Which Party would you most like to have
won in your constituency? 7
Conservative 01
Labour 02
SDP or Liberal or alliance 03
Scottish National 06 ' Q.33
Plaid Cymru 07
The Green Party 08
Other (SPECIFY) 97
None/Don't know (AFTER PROBE) 98 .
ASK ALL WHO VOTED (G.2%9a code 1)
(B)30, How long ago did you decide that you would
definitely vote the way you did: was it ... 428
(READ OUT)... a long time ago 1
sometime last year 2
sometime this year 3
or during the election campaign? 4
(Don't know) 8




3l.a)

15(R)

Col./ Skip
Code to
ASK ALL WHO VOTED
Which Party did you vote for in the general election?
DO NOT PROMPT; CODE IN COL. a) BELOW
ASK ALL (EXCEPT CODE 95 or 98 AT a)
b) Was there any time during the election campaign
when you seriously thought you might vote for
another Party? IF YES: Which Party?
DO NOT PROMPT - BUT SEE INSTRUCTION BOX.
ONE CODE IN COL.b) - IF MORE THAN ONE PARTY, RING CODE 96.
c) If the voting paper had required you to give
two votes, in order of preference, which Party
would you have put as your second choice?
DO NQT PROMPT - BUT SEE INSTRUCTION BOX.
ONE CODE IN COL.c)
If respondent voted 'SDP or Liberal or Alliance'
(code 03 at a), then code 03 is not allowed at
b} or at c¢). EXPLAIN IF NECESSARY: '"They did
not stand against each other; so is there any
other party (you seriously thought about/that
you would put as second choice)?"
a) b) c)
Voted Thought 2nd
for about Vote
w27-28 | w29-30fv31-32
Conservative 01 01 01
Labour 02 02 02
SDP or Liberal or Alliance 03 03 03
Scottish National 06 06 Qe
Plaid Cymru 07 07 07
The Green Party 08 08 08
Other (SPECIFY) a) ) 97 - -
b) - 97 -
c) - - 97
Refused to disclese voting 93+Q.32 ) B
More than one other Party thought about - 96 -
No/None - ag aQ
Don't know 98-Q 32 98 98




(B)32.a)

16(B)

ASK ALL WHO VOTED - SHOW CARD A

Which one of the reasons on this card comes

closest to the main reason you voted for

the Party you chose?
1 always vote that way
I thought it was the best Party

I really preferred another Party but it
had no chance of winning in this constituency

Other (SPECIFY)

Col./
Code

None of these/Don't know

IF CODE 3 AT a)

b) Which was the Party you really preferred?
DO NOT PROMPT

Conservative
Labour
SDP or Liberal or Alliance
Scottish National
Plaid Cymru
The Green Party
Other (SPECLFY)

IF 'OTHER' (code 7) AT a)

¢) May I just check, would you have
preferred to vote for a different
Party from the one you did vote for?
IF YES: Which Party?

Yes: - Conservat ive

- Labour

- SDP or Liberal or Alliance
- Scottish National

- Plaid Cymru

- The Green Party

P

Mo (no other Party preferred)

433

4 3u4=35

43 5=37

01
02
03
06
07
08
97
90

~

> Q.3

b)

c)

Q.3
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Defence Scale
ASK ALL OFFICE
One political issue is whether government should keep or get USE
rid of nuclear weapons in Britainm. - 38
SHOW SCALE CARD 1 AND GIVE PENCIL

Please look at this card. People who are convinced that we should get
rid of all nuclear weapons in Britain without delay will put a tick in
the last box on the left (Letter P) - POINT TO BOX P AND STATEMENT -
while those who are convinced that we should increase nuclear weapons in
Britain without delay will put a tick in the last box on the right
(Letter J) — POINT TO BOX J AND STATEMENT. So, as you can see, people
who hold views that come somewhere between those two positions will tick
a box somewhere along here ~ POINT TO BOXES FROM LEFT TO CENTRE - or
somewhere along here — POINT TO BOXES FROM RIGHT TO CENTRE. RE-EXPLAIN
IF NECESSARY

First, would you tick the box anywhere along e) CODING: RING ONE IN EACH COLUMN
the scale that comes closest to your own (a) (b) (e) (d)
views about nuclear weapons in Britain. Own Con Lab Allce
T | e I FX
Now where do you think the Conservative and B = 001 0 001 1
Labour Parties stand: c = %08 %08 %08 %08
First the Conservative party. In the next ___9___3_39}--“_391--.-591--J_-§91--
row of boxes, put a tick in the box that _
you think comes closest to the views of E = 005 005 005 005
the Conservative Party. F = X04 X04 X04 X04
Now in the next row please put a tick in the L_-G.__=.009__1. 009__] 009__|_ . 003 .
box that you think comes closest to the views H = 008 008 008 008
of the Labour Party : 3 - 010 010 010 010
And finally, please tick the box in the | __K___=002_ ]| 002 | 002 _; 002 _
last row that you think comes closest to the
views of the SDP/Liberal Alliance L 006 006 006 006
M = X07 X07 X07 X07
N 1 tell the lett f the b
ow please e me e e ers o e oxXes N = X05 X05 X05 X05

you ticked: the first row? second row? =0 |k--Fe-emomita- B S -~ N -4~ SN 4--22=-

third row? fourth row? RING CODES IN GRID P = X10 X10 X10 X10
Q =000 000 000 000
__R___=_X03__| X03 | X03__| _ X03__
S = X06 X06 XGc6 X06
INTERVIEWER NOTE:
You may change any code already ringed, if on T =003 003 003 003
reflection, a respondent wants to change his U = 007 007 007 007
or her mind. Ensure that the final entries | |-~ ~7°°777TTTTOCCTT FE
are quite clear in grid and on scale card. v = X02 X02 x02 X02
If asked , you may confirm that letter Q is W = X09 X09 X09 X09
the central position. o o .
‘ _.Y.__Z.004__j 004 1004 [ _ 004__
Left of P = X97 X97 X97 X97
Right of J = 097 097 097 097
Don't know = 098 098 098 098

OFFICE USE

Get rid Increase

|x10]x09]x08]x07|x06]x05}x04[X03{x02[X01]000] 001]002]003[004]005 1006 007 [008 [009]010]
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Unemployment and Inflationm Scale

34, ASK ALL
Another political issue concerns inflation and unemployment.
SHOW SCALE CARD 2
Please look at this card. People who are convinced that getting people
back to work should be government's top priority will be put a tick
in the last box on the left (Letter P) - POINT TO BOX P AND STATEMENT -
while those who are convinced that keeping prices down should be the
government's top priority will put a tick in the last box on the right
(Letter J) - POINT TO BOX J AND STATEMENT.
So, just as before, people who hold views that come somewhere between
those two positions will tick a box somewhere along here - POINT TO
BOXES FROM LEFT TC CENTRE - or somewhere along here - POINT TO BOXES
FROM RIGHT TO CENTRE.
a)| First, would you tick the box anywhere along
the scale that comes closest to your own e) CODIN?;)RINQ(S?QAJN(E?CH CO%S?N
views about unemployment and inflation. own Con Lab Allce
451=53 JuSu—50]457=59|u60-62
Now where do you think the Conservative and B = 001 001 ol 001
Parti d:
Labour Parties stan c = x08 X08 %08 X08
b) | First the Conservative party. In the next D = X01 | X0l X01__|__X01 _
row of boxes, put a tick in the box that |77 CTTTTTOomTTPTooTmmam s memame e
you think comes closest to the views of E 005 005 005 005
the Conservative Party. . F = X04 X04 X04 X04
¢)| Now in the next row please put a tick in the L--S_.Z.009 1009 _ 009 _)_. 003_.
box that you think comes closest to the views H = 008 008 008 008
of the Labour Party I - 010 010 010 010
d) | And finally, please tick the box in the E = 002 002 002 002
last row that you think comes closest to the |~~~ -~ 77 - 7T yThmomTyTmmemTATTTT
views of the SDP/Liberal Alliance L = 006 006 006 006
M = X07 Xo7 X07 X07
e) | Now please tell me the letters of the boxes
you ticked: the first row? second row? LN TX0_fX03_ [ X0 _f_. X03__
third row? fourth row? RING CODES IN GRID P = X10 X10 X10 X10
Q = 000 000 000 000
LR = x03 | x03 ) x03__| x03 _
§ = X06 X06 X06 X06
INTERVIEWER NOTE:
You may change any code already ringed, if on T =003 003 003 003
reflection, a respondent wants to change his U = 007 007 007 007
or her mind. Ensure that the final entries | |~~~ """ "CTCTTATTUTTTITUUCTTITTIOMTT
are quite clear in grid and on scale card, v =Xz X0z X02 X02
I1f asked , you may confirm that letter Q is W = X09 X09 X09 X09
th tral .
SCentral posirion _¥..=004 Loos |oos | 004
Left of P = X97 X97 X97 X97
Right of J = 097 097 097 097
Don't know = 098 098 098 098

OFFICE USE

Back to work
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35. ASK ALL
Another issue is to do with taxes and goverument spending.
SHOW SCALE CARD 3
Please look at this card. People who are convinced that we should put
up taxes a lot and spend much more on health and social services will
put a tick in the last box on the left {(Letter P) - POINT TO BOX P AND
STATEMENT - while those who are convinced that we should cut taxes a lot
and spend much less on health and social services will put a tick in the
last box on the right (Letter J) - POINT TO BOX J AND STATEMENT.
S50, just as before, people who hold views that come somewhere between
those two positions will tick a box somewhere along here -
POINT TO BOXES FROM LEFT TO CENTRE - or somewhere along here - POINT
TO BOXES FROM RIGHT TO CENTRE.
. ] b
a)| First, would you tick the box anywhere along e) CODING: RING ONE IN EACH
the scale that comes closest to your own ) (Ej- (c) (d)
views about taxes and government spending. Own Con Lab Allce
bE3wE5 [ub6=68uea=71]472=74
Now where do you think the Conservative and B =001 001 001 001
Lab Parti tand:
abour rarties stan c =x08 | x08 | x08 X08
b) | First the Conservative party. In the next D = %01 X01 X01_ | _ X01L__
row of boxes, put a tick in the box that [T °°°TTTTTTUUUTETTTOOT 1
you think comes closest to the views of E 005 005 005 005
the Conservative Party. b4 = X04 X04 X04 X04
c) | Now in the next row please put a tick in the -6 __=.003__] 003 1003 ;. 009_.
| box that you think comes closest to the views B = 008 008 008 008
f b Part
of the Labour Party J =010 |ow0 |oi0 010
d) | And finally, please tick the box in the K = 002 002 002 002
last row that you think comes closest to the [~~~ ~"°1°°°°°° ISV Y
views of the SDP/Liberal Alliance L =006 006 006 006
M = X07 X07 X0Q7 X07
e) | Now please tell me the letters of the boxes
you ticked: the first row? second row? _--g_--f-EQQ--.-392--.-392-----592--
third row? fourth row? RING CODES IN GRID P = X10 X10 X10 X10
Q = 000 000 000 Q00
_JB___= X031 %03 ) X03__ ] _X03__
§ = X06 X06 XGé X06
INTERVIEWER NOTE:
You may change any code already ringed, if on T = 003 003 003 003
reflection, a respondent wants to change his 0 = 007 007 007 007
or her mind. Ensure that the final entries | |~~~ ~~~~~°°°7 1 ------ 17> 1770
are quite clear in grid and on scale card. v = X0z X02 x02 x02
If asked , you may confirm that letter Q is W = X09 X09 X0% X09
the central ition.
o RERREES Y. =004 | oo0s | 004 _| 004
Left of P = X97 X97 X97 X97
Right of J = 097 097 097 097
Don't know = 098 098 098 098
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Taxation and government services scale

OFFICE USE

Taxes downy

Services up
IXIO IXO9| Xo08 | X07 |x06|x05|x04 |XO3 IXOZ IXOI | 000' 001 ]002] 003 [ 004] 005 I 006 [007 |008 1009h
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Nationalisation/privatisation scale CARD

5

QFFICE USE
SPARE 474-80

36. ASK ALL
There has been a lot going on recently about nationalisation and privatisation.
SHOW SCALE CARD 4
Please look at this card. People who are convinced that we should
nationalise many more private companies will put a tick in the last
box on the left (Letter P) - POINT TO BOX PA AND STATEMENT - while
those who are convinced that we should sell off many more nationalised
industries will put a tick in the last box on the right (Letter J) -
POINT TO BOX J AND STATEMENT.
So, just as before, pecple who hold views that come somewhere between
those two positions will tick a box somewhere along here - POINT TO
BOXES FROM LEFT TO CENTRE - or somewhere along here - POINT TO BOXES
FROM RIGHT TO CENTRE
a)| First, would you tick the box anywhere along ) CODING: RING ONE IN EACH COLUMN
the scale that comes closest to your own el CODIN%')RING(E?E IN(E?CH CO( )
views about nationalisation and privatisation. a < d
Qwn Con Lab Allce
506-08 |s09-11|512-14 5151
Now where do you think the Conservative and B = 001 001 001 001
Labour Parties stand:
Cc = X08 X08 X08 X08
b) i First the Conservative party. In the next D = X01 [ X01 X01 X01
row of boxes, put a tick in the box thac 77 °7°77T7TTTT Yoo T R
you think comes closest to the views of E =005 005 005 005
the Conservative Party. F = X04 X04 X04 X04
"¢)| Now in the next row please put a tick in the _.-6._.2 003 [ 003 _J 009 _] .909__
box that you think comes closest to the views H = 008 008 008 008
Ol Lne Lapour rarcy I = 010 01() 010 010
d) | And finally, please tick the box in the | K = 002 002 002 002
last row that you think comes closest to the |~~~ "~ TCTTyTooUTTIToTUTTATTOCCTT
views of the SDP/Liberal Alliance L = 006 006 006 006 ]
, M = X07 X07 X07 X07
e) | Now please tell me the letters of the boxes
you ticked: the first row? second row? r--g---f-ggé__.-392--.-592-- _.X05_ .
third row? fourth row? RING CQODES IN GRID P = X10 X10 X10 X1l0
¢ = 000 000 000 000
JJB___T_X03_ [ X03 [ X03_ | X03__
S = X06 X06 XG6 X06
INTERVIEWER NOTE: _ 003 003 003
You may change any code already ringed, if on T = 003
reflection, a respondent wants to change his U = 007 007 007__]__007 _
or her mind. Ensure that the final entries | |~~~ """ °°°° B N 02' % o
are quite clear in grid and on scale card. v = X02 X02 X 02
If asked , you may confirm that letter Q is W = X09 Xo09 X09 XQ9
the central position.
S X =004 | 004 ) o004 | 004
Left of P = X97 X97 X97 X97
Right of J = 097 097 097 097
Don't know = (098 Q098 098 098
OFFICE USE
Natiopalise Privatise

|310]X09IX08|X07|X06|X05|X04|103|X02|X01|000I001|002}003l004|0051006I007|008|009|010l
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37.a)
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No

Col./ Skip
CLASSIFICATION Code to
ASK ALL
Finally, a few questions about yourself and
your background.
SHOW CARD K
Which of these descriptions applies to what you were doing last
week, that is in the seven days ending last Sunday? PROBE: Any
others? CODE ALL THAT APPLY IN COLUMN I
IF ONLY ONE CODE AT 1, TRANSFER IT TO COLUMN 1I
IF MORE THAN ONE AT I, TRANSFER HIGHEST ON LIST TO II 51819
I II
In full-time education (not paid for by employer,
including on vacation) | A 01
On government training/employment scheme (e.g. Community i > b)
Programme, YTS, etc.) | B 02
In paid work (or away temporarily)
for at least 10 hours in the week c a3
)
Waiting to take up paid work already accepted D 04 ~ ©
Unemployed and registered at a benefit office E 05 W
Unemployed, not registered, but actively looking for a job F 06
Unemployed, wanting a job (of at least 10 hrs per week),
but not actively looking for a job G Q7
Permanently sick or disabled H 08 3 b)
Wholly retired from work J 09
Looking after the home K 10
Doing something else (SPECIFY) L 11
-~
IF CODE 01, 02, or 05 - 11
b) How long ago did you last have a paid job
(other than the government scheme you mentioned) 520
of at least 10 hours a week, excluding Saturday or
holiday jobs?
Within past 12 months 1]
Over 1-4 years ago 2 3 c)
Over 4-5 years ago 3]
Over 5-10 years ago 4 7]
Over 10-20 years ago 9 b q.39
Over 20 years ago 6
Never had paid job of 10+ hrs a week 7
IF CODE 03 - 04 AT a) OR CODE 1 - 3 AT b) 521
c¢) Are you now, or have you ever been,
a member of a trade union? Yes - now 1
Yes - used to be 2




38.2a)

b)

e)

d)

e)

g)

h)

=t
e
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“ASK IF RESPONDENT IS:

- IN PAID WORK NOW (Q.37a CODE 03) - ASK ABOUT PRESENT JOB

- WAITING TQ TAKE UP PAID WORK (Q.37a CODE 04) - ASK ABOUT
FUTURE JOB

- NOT WORKING NOW BUT WAS IN PAID WORK WITHIN PAST FIVE
YEARS (Q.37b CODES 1-3) - ASK ABOUT LAST JOB

Now I want to ask you about your (present/future/last) job.
CHANGE TENSES FOR {(BRACKETED) WORDS AS APPROPRIATE

What {is) your job? PROBE AS NECESSARY:

What (is) the name or title of the job?

What kind of work (do) you do most of the time? IF RELEVANT: What
materials/machinery {do) you use?

What training or qualifications (are) needed for that job?

(Do) you supervise or (are) you responsible for the
work of any other people? IF YES: How many?

Yes: WRITE IN NO.:
No: RING: 0000

Can I just check: ({are) you ... (READ OUT) ... an employee,

or - self-employed?

IF EMPLOYEE (CODE 1): SHOW CARD L

f) Which of the types of organisation om this card
(do) you work for?

PRIORITY CODE Private firm or company

Nationalised industry/public corporation
Local Authority/Local Education Authority
Health Authority/hospital
Central Government/Civil Service
Charity or trust
Other (SPECIFY)

ASK ALL

What (does) your employer (IF SELF-EMPLOYED: you) make or do at the
place where you usually (work}? 1IF FARM, GIVE NO. OF ACRES

Including yourself, how many people (are) (No employees)
employed at the place you usually (work) from? Under 10
IF SELF-EMPLOYED: (Do) you have any employees? 10-24
IF YES: How many? 25-99

100-499

500 or more

—
-
o

e
rr
E

L -y
(o]
cr
—
=
%
-
[
(o]
C

full time (30+ hours per week)
or part-time (10-29 hours per week)?

Col./ Skip
Code 1o
0.0.0
0.cC. S22=2 8%
527=28
E.S.
525370
§.E.G.
531=3 2
SC/NM.M
5737373I+
SIC
535=36
H-CG
SPARE 537=3 8
53942
S43
1 £)
2 g)
54
1
2
3
4
5
6
7
545
0
1
2
3
4
5
5u g
1
2




39.

ASK ALL

23

At present are you ... READ OUT)

.. married {or living as married),

or single?

IF MARRIED OR LIVING AS MARRIED (CODE 1) - SHOW CARD K AGAIN

b)

Which of these descriptions applies to what your (husband/wife/
partner) was doing last week, that is in the seven days ending
last sunday? PROBE: Any others? CODE ALL THAT APPLY IN

3%

Lo

Col./ Skip
Code ta
947

1 b)

COLUMN I
IF ONLY ONE GODE AT I, TRANSFER TO COLUMN II 3uBan
IF MORE THAN ONE AT I, TRANSFER HIGHEST ON LIST TO II I Ir
In full-time education (not paid for by employer, -
including on vacation) A 0l
On government training/employment scheme (e.g. Cormunity > o)
Programme, YTS, etc.) B 02
In paid work (or away temporarily) -
for at least 10 hours in the week| C 03 4
Waiting to take up paid work already accepted D 04 |
Unemployed and registered at a benefit office E 05
Unemployed, not registered, but actively looking for a job F 06
Unemployed, wanting a job (of at least 10 hours per week),
but not actively looking for a job| G 07
Permanently sick or disabled| H 08 y ¢)
Wholly retired from work| J 09
Looking after the home K 10
Doing something else (SPECIFY) L 11
IF CODE 01, Q2, OR Q5 - 11
c) How long ago did your (husband/wife/partner) have a paid
job (other than the government scheme you mentioned) of 550
at least 10 hours a week, excluding Saturday or holiday -
jobs? Within past 12 months 1]
Over 1-4 years ago 2
3 d)
Cver 4-5 years ago 3]
Over 5-10 years ago 4
Over 10-20 years ago 5 “T*Q-41
Over 20 years ago 6
Never had paid job of 10+ hrs a week 7
IF CODE 03-04 AT b) OR CODE 1-3 AT c) el
d) Is your (husband/wife/partner) now, or has (he/she)
ever been, a member of a trade union? Yes - now 1
Yes - used to be 2
No 3
Don't know 4




4Q.a)

b)

c)

d)

e)

g)

h)

i)

24
ASK IF RESPONDENT'S SPOUSE/PARTNER IS:

- 1IN PAID WORK NOW (Q.3%9b .CODE 03) - ASK ABOUT PRESENT JOB
- WAITING TO TAKE UP PAID WORK (Q.39b CODE 04) - ASK ABOUT FUTURE JOB

BUT WAS IN PAID WORK WITHIN PAST FIVE
DES 1-3) - ASK ABOI

[P pvye pe = X

- NOT WORKING NOW
0

YEARS (Q.39c

A

Now I want to ask you about your (husband's/wife's/partner's) job.

What (is) the name or title of that job?

What kind of work (does} he/she do most of the time?

IF RELEVANT:
What materials/machinery (does) he/she use?

What training or qualifications (are} needed for the job?

(Does) he/she supervise or
(is) he/ she responsible for
the work of any other people?
IF YES: How many?

0000

(Is) he/she ...(READ OUT) an employee,

or - self-emplowd?

IF EMPLOYEE (CODE 1)}: SHOW CARD L

f) Which of the types of
organisation on this
card (does) he/she work
for?

Private firm or company
Nationalised industry/public corporation
Local Authority/Local Education authority

Health Authority/hospital
PRIORITY CODE

Central Government/Civil Service

Charity or trust
OTHER {(SPECIFY)

ASK ALL

What (does) the employer (IF SELF-EMPLOYED: he/she) make or do at
the place where he/she usually (works)? IF FARM GIVE NO. OF ACRES

Including him/herself, roughly how many people

1
(are) employed at the place where he/she usually (No employees)

(works) (from)? IF SELF-EMPLOYED: Do you have Under 10
any employees? IF YES: How many? 10-24
25-99
100-499
500 or more

(Is) the job ... READ OUT ...

full-time (30 hours+)

or - part-time {(10-29 hours)?

Cal./ Skip
Code to
0.C. 55245,

557=5 8
E.S.
5596 0
5.E.G.
56 lemb 2
SC/M.NM
‘:‘-, Tty b4
r~
SIcC !
5656 6
H-G
SPARE 5576 8
569-7 2
573
1 £)
2 g)
57 4
1
2
3
4
5
6
7
575
0
1
2
3
4
5
576
1
2
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| Col./ | Skip
ASK ALL Code to
41, "Compared with British families in general, would you
say your household's income is ... (READ OUT) 577
.. far below average, 1
below average, 2
average, 3
above average, 4
or far above average? 5
(Don't know) 8
42, Do you, or does anyone in your household, own or 578
have the use of a car or a van? Yes - one 1
IF YES: PROBE: One car/van or more than one? Yes - two or more 2
No 3
43. Are you, or is anyone in your household, covered
by a private health insurance scheme that allows 273
you to get private medical treatment? Yes - through group 1
IF YES: PROBE: Through a group (e.g. Yes - individually 2
employer/trade union)} or No 3
as an individual?
Don't know 8
SHOW CARD M
— 580
44.a) |[Do you (or your husband/wife/partner) own, or
have you ewv bought shares in an f
Y er boue : t Y 3 Yes, have shares now 1
Jthese recently privatised companies?
PROBE FOR CORRECT CODE Yes, bought but none owned now 2
No, never bought any 3
(IF VOLUNTEERED: Applied for shares but
none allocated) 4
[ ouo {carp 6
b} Do you (or your husband/wife/partner) own any other 606
shares quoted on the stock exchange, including Yes 1
i ?
lunit trusts? No 9
45.a) | Do you have any children, including step-
children or others in your care (living here
or away from home) who are:- Yes No
. 807
(i) aged under 16? 1 2
(ii) aged 16 or over and still 608
in full-time education? I 2
ASK ALL
b} | Have you ever sent = or are you considering 609
sending - any children in your care to a Yes- in the past 1
private (fee paying) primary or secondary
schoel in Britain? Yes now 2
Yes - considering 3
No 4




Parent or parent-~in-law
Other (SPECIFY IN FULL) ]

s * A
46.a) | CODE WHETHER ACCOMMOCATICN IS ...
...Private household, same address as Wave 1 (Nov,86') pract
Interview 96 e)
...Private household, different address from Wave |
interview (mover) A b)
Institution (SPECIFY TYPE) 01 _] Q.49
IF PRIVATE HOUSPHOLD MOVER (CODE A)
b) Do you = your hauseheld ~ own or
rent this (house/flat/accoumodation)? OWNS House 02 L o
{INCLUDE WITH MORTGAGE) COEEWNS Flat/maisonette 03.]-_
IF RENTED: From whom? RENTS FROM:  Local Autharity - house | 04 } .47
Lacal Authority - flat/maisonette 05
Housing Association ] 1
Private company/landlord OT-J——~9Q.48
Other (SPECIFY) 97
IF (MOVER) OWNS (CODE 02 CR 03 AT b) 612
¢) Have you ever been a local authority tenant? Yes 1 d)
No 2 Q.48
IF 'YES' (CODE ! AT c) 813
d) Were you & local authority tenant in this Yes i £)
(house/flat/accommodation) before your household
purchased it? No 2 e)
IF 'NO' (CODE 2 AT d)OR 'SAME ADDRESS' (CODE 96 AT a) §1 b
e) Have you ever bougﬁg a council house or flat Yes 1 £)
that you were living in? No 2 Q.48
IF 'YES' AT d) or e)
£) When did you buy it? ENTER 19 Bis-lel q.48
Month Year
47. IF MOVER RENTS FROM LOCAL AUTHORITY (Q.46b CODE 04 OR 05)
How likely is it that your household will try to
buy this house/flat from the local council in the L3
next 5 years or so; would you say ...(READ QUT)
. very likely, 1
quite likely, 2
not likely, 3
or definitely not? 4
(Negotiations already started) 5
(Don't know) ]
48. ASK ALL IN PRIVATE HOUSEHOLDS (ie. ALL EXCEPT Q.46a CODE 01) 520
In whose name is this (house/flat/accommodation)
owned or rented?
Respondent and/or spouse only i
2
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Col./ Skip
ALL Code to
1 ) 621
49.a) INTERVIEW CODE: Sex Male 1
Female 2
b) ASK: May I check, what was your age last birthday?
ENTER 522=23
IF RESPONDENT IS MALE AGED 70+ OR FEMALE AGED 65%, SKIP TQ (.51
FOR ALL OTHERS, ASK Q.50
50.a) | And may I check: during the last four years or so, that is 624
since the middle of 1983, have you been unemployed and
looking for a job - for a period lasting 13 weeks or
P Yes 1 b)
longer?
NB. IF IS5/WAS IN FULL-TIME EDUCATION, EXCLUDE No 2 Q.51
UNEMPLOYMENT DURING VACATIONS
IF YES
b) For how many months in total during the
last four years have you been unemployed
and looking for a job?
ENTER MONTHS 625=-26
ASK ALL: SHOW CARD N
51. Which of these is the main source of
income for you (and your husband/wife/partner)
at present? ONE CODE ONLY 627-28
Earnings from employment (own or spouse/partner’s) 01
Occupational pension(s) - from previous employer(s) 02
Chnta atdramant A+ a3 darrle namadanfal na
veart IcwvliCliciic Ul 1LAd o PEILHILOLNS3) A
Unemployment benefit 04
Supplementary benefit 05
Sickness, invalidity or disabled pension or benefit(s) 06
Other state benefit(s) 07
Interest from savings or investments 08
Student grant 09
Dependent on parents/other relatives 10
Other main source (SPECIFY)
' 97
52.a) Do you ever think of yourself as belonging 629
to any particular class? IF YES: Which class Yes, middle class 1 —bq.53
is that? Yes, working class 2 | )
Yes, other (SPECIFY)
> b)

No
Don't know

IF CODE 3,4,8 AT a)

either to the

b) Most people say they belong
middle class or the working
had to make a choice, would
yourself ... (READ QUT)

class. If you
you call

...middle class
or working class?
(Refused)

Don't know

W ON - W
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) Col./ Skip
ALL: CHECK DETAILS ON 'ARF' OR ASK Code t0
53.a) | Is there a telephone in (your part of) this 631
. : Yes 1 c)
accommodation?
No 2 b)
IF NO
. , 632
b) Do you have easy access to a phone where Yes - home 1
you can receive incoming calls? c)
Yes - work* 2
No 3 Q.54
IF YES AT a) OR b)
¢) A few interviews on any survey are checked
by a supervisor to make sure that people
are satisfied, or if something needs clarifyinmg.
In case my supervisor needs to contact you it
would be helpful if we could have your
télephone number, ;
631
RECORD HOME (OR WORK) NUMBER
ON ADDRESS RECORD FROM (NOT HERE) Number given 1
*DO NOT ASK FOR WORK NUMBER BUT Number refused 9
ACCEPT IF OFFERED
ASK ALL
54.a) When the next general election comes round, there
may be another survey like this one. Would you be 638
willing to take part in it again? Yes, willing 1 b)
No, not willing 2 END
IF WILLING: CHECK DETAILS ON 'ARF' OR ASK
b) Suppose we call on you at this address after
the election and for some reason cannot get
in touch with you. Is there another address
or 'phone number you could give us of someone
who would know your whereabouts?
IF NECESSARY, PROMPT: Perhaps the address of a 635
friend or relative who is unlikely to move?
Another address/'phone no. given i
_ No other address/'phone no. given 2
IF GIVEN, RECORD ALL INFORMATION
ON BACK OF ADDRESS RECORD FORM (NOT HERE)
636—37
TIME INTERVIEW COMPLETED DURATION (Minutes)
638~39 6 4 Dit]
DATE OF INTERVIEW >‘DAY MONTH
SIGNATURE INTERVIEWER NUMBER
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) BRITISH GENERAL ELECTION STUDY 1987 : PANEL (WAVE 2)
E CALLS AND OUTCOME FORM

o

. If you obtain an interview with the named respondent, please attach this form to

the questionnaire materials, and return them to the office together.

y © If you do not obtain an interview with the named respondent, please attach this
form to the Address Record Form (ARF) and return them to the office as soon as you
can (but only offer 4 or more calls).
(101 - 104) % (105) (106 - 08) (109 - 11)
Serial |Preduchivea . €77 ]55 Card 1 Area New Area [Preds I
Number |Ynpfed) /3 g No. Number L1 Number |[Urprpd
Totot rsuad (o2 0 } (Wave 1 non-local move:
OFFICE (112 - 13) (114 - 116) (117)
USE Batch : Wave 2 Prad. 2
ONLY No. 1 New Area [Unprpd |1 RL| .~
' Number
T
\ (118 - 121) .
“A. ‘Interviewer Name Interviewgr No. I_ [ ( J
1
B. Details of Calls {In the order you make them) /
TIME DAY DATE | ENTER cODE22
{24 hour ?L?ENT; FRl =8 Rlﬁiﬁ)%?ﬁrfﬁs\f & i address deastiwood, or if contact made, write in resuit of cail(s)
clock} WED =_=3 SAT =6 OéCU!"iFDE‘UT and notes of Jppointments made.
Tl;u =4 SUN =7]" NO (‘)-NE' tf more calls ¢ 9mac§e r.".x:an cnn b2 accommodated on this sheet
COMTACTED useaC.Zall Cio tinuation Sheet. Orodediue U prod.
~N7
. Ne %
g -1 HRS  MINS  DAYofWK DAY  MTH @:Iir_a__ No. Ty
3 i v [ o e v e - PV S
| _ fote =iy Narib. 3% 3-9 g 3
HRS  MINS DAY of WK DAY  MTH 28 - 225 N-west (o3
3 - & "—S Hormb 7.5 ’g 9.
3% N RN [ I O R O R Lt e
o ~ a3 Wetidlords g9 i3 7
HRS MINS  DAYofWK DAY  MTH : ::’" ':’: ‘%'ﬂ";‘. ;:_? 537; ‘-'I _L;
& -0V = 4o -1 -
3,] A l l Li nn—] [: ] Tox - Ng §.wWect 24 $-7 i I
- ) 1. 22, |5
MRS  MINS DAY of WK DAY  MTH ¥ou - Wb S.€cort ‘:33 {? 76 7
— [—-l F—”—ﬁl m G5 - Q3¢ 5{-., bomda G "
4. 1 l l 4 = 2 lop ~ 1%3 Seotlonrd “7é 5.7 1 1y
e TeS a3 R
;| _HRS _ MINS DAY of WK DAY  MTH
s . T 1 OO 1 [
HRS MINS DAY of WK DAY MTH
e [ ] 0 [LLT°7 O J
- - l-;;‘.‘:



-

. ) < Col./ Skip

Code 10

C ; ADDRES IN L (odw Il T pTS
CONTACTING THE S (RING ONE CODE ONLY) f’__ﬂ,__,(122_23) Orplsg>
Address contacted - information obtained g 7b 10 f33
Address empty or demolished | 02 L3 D
WMo memvmbart mads i b arnuynans at addrace afrov A Ay mare ralle 79 —
AT LUl dbe U WAL WL LE QIIJULAL & L. Lo S S S i Qi LT L bl WA i L \_G&Ln.'l L___l I
Complete refusal of information at address (so don't know if named 23 —43END |
respondent is present)

b LOCATING THE NAMED RESPONDENT {RING ONE CODE ONLY) (124-25)

H
Mamed respondent is resident at given address %34 | 9930 ——2E ?
Named respondent is dead ) 31_ )
Mamed respondent emigrated/permanently out of country 32 SEND 3
——t

Named respondent moved locally: new address/tel. known, recorded 43 |5 33 —4——3E L
- on ARF and followed up - :

Named respondent moved away from area: new address/tel. known and - BB (,1)
recnrded on ARF
- Named respondent moved, new address not known 34 >END q
No information as to whereabouts of named respondent {not known at
1 address) 35 g
(OFFFICE USE ONLY) Re-allocated 36 -
Not re-allocated 37 !
Re-issued 38 -
E PRODUCTIVITY SUMMARY (RING ONE CODE ONLY) (126-27
Interview obtained with named respondent €17 51l-—>] Attach
q're
_ materidl
No interview obtained with named respondent because:
- named respondent not contacted (eg. never in) 71 2
{ - named respondent personally refused interview 72 65
- named respondent broke appointment and could not be recontacted 73 4
- named respondent ill (at home) for whole 'survey period 74 >END 9
- named.respondént away/in hospital for whole survey period 75 {0
- named respondent senile/incapacitated 76 e
: - refﬁbal, on behalf of named respondent, by someone else 77 -7
. .1 - other reason (WRITE IN) " 79 N
o . OFFICE
IF YOU OBTAIN AN -INTERVIEW, ATTACH THIS FORM TO THE QUESTIONNAIRE USE

MATERIALS,  AND RETURN THEM TO THE OFFICE. (RETURN ARF UNDER
SEPARATE COVER)

IF YOU DO NOT OBTAIN AN INTERVIEW ATTACH THIS FORM TO THE ARF \
AND RETURN THEM TO THE OFFICE. ///

—_ | ad 367 reotlecedle
;L [-@ Amn-

{nc ot

AT T 49
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